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SYNOPSIS 

Very High energy (VHE) gamma-rays in the energy range (0.1-50 TeV) are expected to 
come from a wide variety of cosmic objects within and outside our galaxy. Studying this 
radiation yields valuable and unique information about the unusual astrophysical 
environment characterizing these sources, and also the intervening intergalactic space.  
At energies above 0.1 TeV, a typical  gamma-ray source is generally too weak for direct 
detection by satellite based detectors necessitating the use of ground-based atmospheric 
Cerenkov detection technique. In atmospheric Cerenkov imaging telescopes one records 
the spatial   distribution of the   Cerenkov  photons  in the  image plane of   a light 
collector by using   a close-packed array of  photomultipliers.  By  examining  the subtle  
differences  in the  shapes    and  orientation  of the shower images, it  becomes  possible  
to  reject  more than  99.5% of the  cosmic-ray generated   background   Cerenkov events.  
Gamma-ray events give rise to shower images with their major axes preferentially 
oriented towards the source position in the image plane. Apart from being narrow and 
compact in shape, these images have a cometary shape with their light distribution 
skewed towards their source position in the image plane and   become more elongated as 
the impact parameter of the shower increases.  On the other hand, hadronic events give 
rise to images that are, on average, broader and longer and are randomly oriented within 
the field of view of the camera. For each image, which is essentially elliptical in shape, 
Hillas parameters [1] are calculated to characterize its shape and orientation. The 
parameters are obtained  using  moment analysis and are defined as :  LENGTH--The rms 
spread of light along the major axis of the image (a measure of the vertical development 
of the shower);  WIDTH -- The rms spread of light along the minor axis of the image (a 
measure of the lateral development of the shower);  DISTANCE-- The distance from the 
centroid of the image to the centre of the field of view;  α --The angle between the major  

 



axis of the image and a line joining the centroid of the image to the position of the  source 
in the  focal plane; SIZE -- Sum of all  the signals recorded  in the  clean  Cerenkov image; 
FRAC2-- The degree of light concentration as determined from the ratio of the  two 
largest PMT signals to sum of all signals ( also referred to as Conc.). 

Keeping   in view  the  global developments in the field,  the  gamma-ray  telescope  
TACTIC  (TeV Atmospheric Cerenkov Telescope with Imaging Camera) [2]   has been  set 
up at Mt. Abu  ( 24.6 0 N,  72.7 0 E, 1300m asl), India.  The   telescope has been in 
operation since 2001 to study TeV gamma-ray emission from various   celestial sources.   
The telescope uses a tessellated light collector of area ~ 9.5m2, which is capable of 
tracking a celestial source across the sky. The light collector uses 34 front-face aluminum 
coated glass mirrors of 60cm diameter each with a focal length of ~400cm.   The telescope  
deploys a 349-pixel imaging  camera,  with a  uniform  pixel size of ~0.310  and ~ 5.90 x 
5.90  field of view, to record atmospheric  Cerenkov  events  produced  by an incoming 
cosmic-ray particle  or  gamma-ray with an energy  above ~1TeV.  With a 5σ sensitivity of 
detecting the Crab Nebula in ~25 hours of observation time, regular observations were 
taken on a number of potential gamma-ray sources (viz., Mrk 421, Mrk 501, 
1ES2344+514, PSR 0355+54, ON 231, H1426   etc.)   during the last 10 years .                                               
                   The sensitivity of a Cerenkov imaging telescope is strongly dependent on the 
rejection of the cosmic-ray background events. The methods which have been used to 
achieve the segregation between the gamma-rays from the source and the background 
cosmic-rays, include methods like Supercuts/Dynamic Supercuts, Maximum likelihood 
classifier, Kernel methods, Fractals, Wavelets, Random Forest etc.  The conventionally 
used Supercuts/Dynamic Supercuts method, though using several image parameters 
simultaneously, with some of them also being energy dependent, is still a one 
dimensional technique, in the sense that the parameters it uses for classification are 
treated separately and the possible correlations among the parameters are ignored.  
While the segregation potential of the neural network classifier has been investigated in 
the past with modest results, one of the main objectives of the thesis is to study the 
gamma / hadron segregation potential of various ANN algorithms, some of which are 
supposed to be more powerful in terms of better convergence and lower error compared 
to the commonly used Backpropagation algorithm.  Furthermore, apart from detecting 
gamma-ray   sources, one of the main aims of the Cerenkov imaging telescopes is also to 
reconstruct the energy spectra of the sources.  In the thesis work, we have applied 
various artificial Neural Network (ANN) algorithms for improving the sensitivity   of the   
TACTIC telescope.  In addition,  ANN is also used for determining  the energy  of the 
primary  gamma-rays  on  the basis  of  their  image   SIZE,  Distance  and zenith   angle.    
                          A neural network is a parallel distributed information processing structure 
consisting of processing elements interconnected together with unidirectional signal 
channels called connections. Each processing element has a single output connection 
which branches into many collateral connections as desired. Depending upon the 
architecture in which the individual neurons are connected and the error minimization 
scheme adopted, there can be several possible ANN configurations. While algorithms like 
Standard backpropagation and the Resilient backpropation come under the category of 
Local search algorithms, Conjugate Gradient methods, Levenberg-Marquardt algorithm, 
One Step Secant etc. belong to the category of Global search algorithm. Hybrid algorithm 
category constitutes models like Higher Order Neuron and Neuro Fuzzy systems etc. A  
brief  summary  of the  work   related    to   gamma / hadron segregation potential of 



various  ANN algorithms   and  ANN-based  energy   estimation  procedure  for 
determining  the energy  of the primary  gamma-ray  is   given below. 
                The gamma/hadron segregation potential of various ANN algorithms   was 
studied   by applying them to the Monte Carlo simulated and actual    observational   data 
on the Crab Nebula.  The network used in this work comprises 6 nodes in the input layer 
and one neuron in the output layer the value of which is used to categorize the output. 
We used the following six image parameters in the ANN-based gamma/hadron 
segregation methodology:  Zenith angle, SIZE, LENGTH, WIDTH, DISTANCE and FRAC2.   
The results obtained suggest that Levenberg-Marquardt method outperforms all other 
methods in the ANN domain. Applying  this ANN algorithm to ~101.44 h of  Crab Nebula  
data collected  by  the TACTIC telescope,  during  2005 - 2006,  yields an excess  of  ~  
(1141 ± 106)  with a statistical  significance of ~11.07 σ,   as against   an  excess  of   ~(928 
± 100)  with  a statistical significance of ~ 9.40σ  obtained with  Dynamic Supercuts 
selection  methodology.  The main  advantage  accruing  from the  ANN methodology is 
that it is more effective at higher energies and this has allowed us to re-determine the 
Crab Nebula energy spectrum in the energy range  ~1-24 TeV.  The results of this study 
have been   published in   [3].    
              A novel energy reconstruction procedure, based on the utilization of Artificial 
Neural Network (ANN), has also been developed for the TACTIC atmospheric Cerenkov 
imaging telescope. The procedure uses a 3:30:1 ANN configuration with Resilient 
backpropagation algorithm to estimate the energy of a gamma-ray like event on the basis 
of its image SIZE, DISTANCE and zenith angle.  The new ANN-based energy reconstruction 
method, apart from yielding an energy resolution of ~ 26%, which is comparable to that of 
other single element imaging telescopes, has the added advantage that it considers zenith 
angle dependence as well. The results of this study have been published in [4]. The ANN-
based energy  estimation procedure has also been  used  successfully for determining  the 
time-averaged energy spectra of Mrk 501 and Mrk 421 which were found to be in high 
state by  TACTIC   on several   occasions   from   2006 to 2010  [5,6,7]. 
               The   contents of the  thesis are   organized in the   following manner.    In Chapter 
1 of the   thesis,   we provide an introduction   to the field of very high energy gamma-ray 
astronomy and Cerenkov imaging technique. Chapter 2 will cover the details regarding    
the hardware aspects of the TACTIC telescope.   An overview of the ANN   will be 
presented in   Chapter 3.   This   chapter  will  also  include   the  following   aspects of the 
ANN :  Working and  architecture of  Neural network,  Training of  ANN,  Multilayered  
Feed forward  Neural Networks, first and  second   order Learning  algorithms.   The 
comparative  performance  of  the ANN  algorithms  by applying   them to  standard  
benchmarking  problems  like   the IRIS data, XOR/N-bit parity and  two-spiral problems 
will be  presented  in Chapter 4 [8].   In chapter 5 we will study  the gamma/hadron 
segregation potential  of various   ANN algorithms by  applying  them to the Monte Carlo 
simulated  data  and  actual  TACTIC observation  data  on the Crab Nebula.  The details of 
energy reconstruction procedure, based on the utilization of Artificial Neural Network 
(ANN), will be presented in Chapter 6.  Finally in Chapter 7, we present our main 
conclusions.        
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γ

γ γ

γ

γ

γ γ γγγ γ

e-

e+ e+

e+

e+ e-

e-e- e-e+

e-e- e-
e-e+e+e+

e- e+ e+

E0

E0/2

E0/16

E0/8

E0/4

              R= (t ln 2)
t ( units of radiation length )

R

4R

3R

2R
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����
�����
�
�� 	�� ��	 ��� �
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�� 
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	 �
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���# �
� ��
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���
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��
���� �� �
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���
�� $��
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 ���� �
 �����
�� ��	����� 2�� 
��
��� $��
	 ����� ����	
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�
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�� � ���
 ����
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� 
 � $��
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p
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π
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π
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π
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e
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+
e
+

UU

UU

UU UU

U UU U
UU

UU

U UU U

e
-

e
-

e
+

U UU U

UU

UU

e
-

e
-

γ γ

γ γ

γ γ
γ

e
+

e
+

e
+

e
-

e
-

e
+

Incident
Primary
Particle

e
+

e
-

e
+ e

- e
-

Electromagnetic 
      or "soft"
    component

      Muonic 
      or "hard"
    component

      Nucleonic 
     component

Particle

N, P  --- High energy nucleons
n, p  --- Disintegration product necleons

   --- Atomic Nuclei of Atmospheric
                constituents

Mean 
 life Decay modes

Rest 
mass(s)

(MeV)

π+ 2.60 x 

      10-8 139.57
 π+  ---> μ+ + νμ 

 π−  ---> μ− + νμ 

π
0 8.40 x 

    10-17 134.98  π0  ---> γ   + γ  

μ
+ 2.20 x

     10-6 105.66
 μ− --> e− + νμ + νe

 μ+ --> e+ + νμ + νe

CR+AN  ----> CR + AN + a π+ + b π0
                                 +other mesons

CR  > Incident cosmic-ray

AN  > Atmoshperic Nuclei

CR   > Fragment of the original cosmic- ray 

AN  > Fragment of the atmospheric Nuclei 

?����� ���! &�����$��
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� 2�� ������� $��
	 9'�: ���� � ���� ��
���
����
��� �
� ����� ��
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2�� �

����
��
 ��
�
� �� �����
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�� �����
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�
��
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�� �
��	$����#
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� � ������ 	�� �� ��$
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����
��
	 � ����� $��
 �� 
��
	�� �� �
���� �	 ��	
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�� ��
���
��
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����	 ���� ���
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	#
�
� �
��� 	���
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	� 2�� ��
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 �� ����
�����
�
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�
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��� ��
� �	 ��
����
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��
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��� 
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�
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�� ����
�����
�
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�
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�� �
��� ��
�# ������� �
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	 �� �
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�� �
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b (2n)  = 0
b(2n-1) = 1

 a
1

(2n-1) 
=   1- a1

(2n)  =  r
n
  sin(  α

n
 ) + 0.5

 a
2

(2n-1) 
=   1- a2

(2n)  =  r
n
  cos(  α

n
 ) + 0.5

 b
(2n-1) 

=   1

 b
(2n)   

=   0
  r

n

 
=   0.4 (105-n) /104 

 α
n

 
=    π ( n -1) / 16 

  where   n= 1,2, .........  97

Relevant   equations   for  generating  the
     spiral   data   are    the   following :
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for   Pex ~  99.9% ~  22

(b)
Resilient  Backpropagation One step Secant 
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Levenberg-Marquardt 
(c)
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(d) Conjugate   Gradient  
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ANN output

Test data :
(Gamma : 24603 events)
(Hadrons : 20228 events)

Validation data :
(Gamma   : 16424 events)
(Hadrons : 13374 events)
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N 0  ~  8865 x 0.02  events
         ~ 177  events

N p0  ~  4088  events

?����� %�%! E����
��
 �� 	
�
�	
���� 	��
�0��
�� 9#�: �	 � ��
�
��
 �� �77 ��
 �����
9 /�.�: ��� 
�� 1���
��������*����
 ������
���

�� #� � -�6> �	 ��
��
�� �
 /�.� �)��.%� 2�� ����� ��
� ��	 ��	� ���
 �	�� ���
������
�
� 
�� $�������
�� �� �
��� �77 ������
��	 �
� 0
��
� 
���� �$
���� /�.�
�����	� 2�� ��	��
	 �� 
��	 	
��� ��� 	������=�� �
 2���� %�-  ����# �
 ����
��
 
�
#� �����	 ������� �� ��'���

 ������
��	#  � ��	� ���� 
�� �����	$�
��
� /�.� ��
��
 �
��
  ���� #� 	
��	 ��
	
�

� 2�� �� �� ����� �� /�.� ��0
�	 
�� 
���
 ��
 �
�
������ ����� ��	��
�
�	 
�� ���	� ��
�

��%



2���� %�-! ��,���� ����� �� 
�� 	
�
�	
���� 	��
�0��
�� #� ������� �� ������	 �77
������
��	 ���
�  �
� �����	$�
��
� /�.� ��
��  �
� �
  ���� #� 	
��	 ��
	
�

�
2�� �� �� ����� �� /�.� ��0
�	 
�� 
���
 ��
 �
� ������ ����� ��0
�	 
�� ���	� ��
�

�����
��� ���� ��

+�������������� )$�)� )$-. %$��
+�������������� 	���	��	 )$�)� )$%. %$��

6���
���� +������� )$��� )$-. %$�%

��
� ���E����� )$�)� )$-. �$6)
0�� 
��� 
����� )$��� )$-. %$�%

7�������� ���F����� )$�)� )$-� -$6)
������ 0���� )$�)� )$.) �$6)
#���� 5�==� )$�)� )$-. �$�.

9���	�� 
���� ��� ��� -$)(

2�� ����� �� #� ��������  �
� &�
���� 8�$����
	 �	 ��	� 	�� 
 �
 
�� 
���� ���
���$���	�
� 3
 �	 *��
� �����

 ���� 
�� 
���� 
��
 ��
 �� 6 ��'���

 �77 ������
��	
	
����� ����# 1���
��������*����
 ������
�� �����	 
�� ��	
 ��	��
	� 2�� ����� ��
#� ��� �
��� ������
��	 �	 ���
� 
� ���� ���� � ��%> 9 >����� ����� 
�
 ���: 
� �
%��> 9����$��$�����

��:� 5����	� �� 
�� 	�$����� $�������
�� �� 
�� 1���
�����
���*����
 ������
��#  �  ��� �
�� �	� 
��	 ������
�� ��� �
���=�
� 
�� ��
��� ����
7����� ��
��

�������
� ���� 
� ?�� %�%# 	�
�� 
�� ���
�� �
 #� �	 �
	��
�0��

  ��
 /�.�
�	 ������ ���� �)�� 
� �)�%#  �  ��� �	� � ����� �� /�.� �)�% ��� �
���=�
� 
��
��
��� ���� 7����� ��
�� ����

����# �	�
� /�.� �)�% ��	� �
����	�	 
�� ��	��� ���
��������
�� 2�� ���	�
 ��� ����	�
� 
�� ������ /�.� ����� �	 
� �
	��� 
��
  � ��
��

��,���� 
����� �� �����	 ���� 
�� 	������ ?�� 	�����	  ���� ���  ����� 
��
 
��
���� 7����� �
� ��
 �	� /�.� �)�� 	� 
��
 ��

���
�
��
 ���� ���� ��������
�
��
 �� �������� 8�
�� ��� ���
 $������
�� �	 
� ��	���� ����
����� 	
��
��� 	�����	
	��� �	 ���=��	 �	�
� /�.� �)�% �	 �
 ������	 ������ ��  �  �

 
� ���	��� 
����
�
���� 	$��
�� ����
� �
�����	 �� ��)2�E� ?���� �
� 
��	 �$$����� �� ����	�
� 
��

���
 ��
	 ��� ��
��
�
�  �����C
� 	�����	 �
� ���	� ��
	 ��� ��
��
�
� 
�� �
����
	$��
���# �	 �  ��� �
� 
 $��������  ���� �	 ���$
�� �� ����	
 ��� 
�� ����$	  ��
 ��� �
 �����
��� �����
� 
���	��$�	�

��-



��% ��� ���
��
 �! 
�� �// ��
���� ��� 
� 
��

���� /��� � ��
� ��  ��
�� 6�
� 
�� )��)*�


� �	����

3
 ����� 
� 	
��� 
�� �C�����
 	������
��
 $�
�

��� �� 
�� �77 ��
��������#
 � ���� �$$���� 
��	 	����
��
 ��
��� 
� 
�� ���� 7����� ��
� ������
��  �
�

�� 2��23� 
���	��$�� ?�� 
��	 $��$�	�  � ���
���=�� 
�� ���� 7����� ��
� ���
��)���� � ������
�� ����
� 7��� �)# �))% � R�
� �)# �))-� 2�� =�
�
� �
��� ����
�

�� ��	����
��
	  �	 ��%Æ �
� 
�� ��
�  �	 ������
��  �
� �

�� ��% $�,��	 9� ��%Æ

� ��%Æ: �� 
�� ���� �����
� ������  �
� 
�� �

����	
 ��� $�,��	 9� ���Æ � ���Æ:
$��
���$�
�
� �
 
�� 
������� 2�� 	
�
���� 
 ������� ����� I����
�
�I $��������  �
�
$��
��� �
� ���
���� 
���	����	 �� -�%> �
� ��)># ��	$��
�����  �	 ��$����� 
�
��
��
 
�� ����
 �����
��� �����	� &�
���	 �� 
��	 �
���	�	 $�������� �
� 
�� ��
�
������
�
� ��
�������� ��� 
��	 $����� ��
 �� ���
� �
 F%��.G� 2�� $��$�	� �� 
��	
����� ����
�
� $�������� �	 
� 
��� ���� �� 
�� /��
��
��
	 �
 
�� �����  ���� ���	�
��� 
� ����
��
�� 
��	� �
� 
���
 	�� ��������
� �����
��
	� 2��	� ����
 �����
���
�����	  ��� 
��
 ������
���=�� �� �������
�
� 
���� 	
�
���� ����� $�����
��	 ����
1+7�2># J3&2># &382�7�+# "# 83D+ �
� ?����� 5����� �
��	
���
�
� 
��
�C�����
 	������
��
 $�
�

��� �	�
� �77 ��
��������#  �  ��� 0�	
 �$$�� 
��
	
�
���� &�
���� 8�$����
	 $�������� F%�%G 
� 
�� ��
� ��� �,
���
�
� 
�� �����
	��
�� ���� 
�� ��������
� ��	������� ���

	�

2�� ��
 �����	 �	�� ��� 
�� �
���	�	 ��� 
�� ����� �
� ! )$��Æ � 7�#��� �
9)$�-) O )$)�-% � �

:Æ# )$)-Æ � :89�� � 9)$��) O )$)��) � �

:Æ# )$%�Æ �
98
�*#�� � �$�.Æ�������&# 
8<� � �%)�$� 9  ���� -�% ����
�� ���

	���) $�
:# " � �6Æ �
� 56*�� � )$�%� 3
 �	 ��$��
�

 
� ��$��	�=� ���� 
��
 
�� &��

���� 8�$����
	 ����� 	����
��
 ���
���� �	�� �
 
�� $��	�

 �
���	�	 ��� 
�� 	���
 ����  � ��� �	�� �
 ��� $������	  ��� F%��-G ��� ������$�
� �
 �77���	�� �
����
����
	
���
��
 $�������� ��� 
�� 2��23� 
���	��$�� 8�
�� 
�� $��	�

  ��� �	�	

�� 	��� ��
����	� �	  ��� �	 
�� 	��� �
���� ����
	
���
��
 $��������#  �  ���
��
	���� 
�� $������	  ��� F%��-G �	 	��� 	��
 �� ��
������ ��� 
�� $��	�

 	
����
����

����# 
���� ��� �� � 	��$� ��� �$
���=�
� 
�� $������	�� �	�� &�
���� 8��
$����
	 ���
��� 9��� �� �	�
� ��
	  ���� ��$�
� �
 ��
� �
���� �
� =�
�
� �
���:#
��
 
�� ��	��
	 �� 
��	 	
���  ��� �� $��	�

�� ��	� �����

�  ��� �	
����	��� $�������� 
� �,
���
 
�� ����� 	��
�� ���� 
�� ��	�������
��������
� �	�
� � 	�
��� �����
� 
���	��$� �	 
� $��
 
�� ���*��
�� ��	
����
��

�� " $�����
��  ���� �	 �,$��
�� 
� �� /�
 ��� 
�� �	�
��$�� ��������
� �� ��	���
���

	 F%�%G� ?�� �����	# ����
� ���� � $��

 	�����# 
�� ��	
����
��
 �	 �,$��
��

� 	�� � $��� �
 	������ " �����	� &�0
�
� " � �6Æ �	 
�� ����� �����
 �
�
�.Æ � " � 6�Æ �	 
�� ��������
� �����
# 
�� 
����� �� ����� ���

	 �	 
��

�������
�� �� 	��
���
�
� 
�� �,$��
�� 
����� �� ��������
� ���

	 9�������
�� �


�� ��	�	 �� ��������
� �����
: ���� 
�� ����� �����
 ���

	� 2�� 
����� �� ��

��.



��� ���

	 ��
��
�� ��
�� �$$���
� 
�� ����� ��
	 ��� ���
� 
� �� �9(�6��)):  �
�
� 	
�
�	
���� 	��
�0��
�� �� �(��)>� 2�� 	��
�0��
�� �� 
�� �,��		 ���

	 ��	 ���

�������
�� �� �	�
� 
�� ��,���� ���������� ��
�� ��
��� �� 1� S �� F%��(G� 2�� "�
��	
����
��
 �	 ����
 �
 ?�� %�-� �
� 
�� �����	$�
��
� ��'���

��� �
���� 	$��
���
�� 
�� ���� 7����� 	�� 
 �
 ?�� %�-�� 2�� ��
���	 �� 
�� �
���� �	
���
��
 ���
��
����
�
� 
�� �
���� �� � ��
����
� ����� 	����� �	 $��	�

�� �
 ���$
�� - �� 
��	

��	�	� 2�� $�������� ����� �� �	�	 �
 �77 
� �	
���
� 
�� �
���� �� � ����� ����
���

 �
 
�� ��	�	 �� �
	 ����� 83D+# &�	
�
�� �
� D�
�
� �
���� 2�� ��'���

���
$��
�
 /�, $�� �
���� ��
 ��	 ���
 ���$�
�� �	�
� 
�� �������!

Energy  ( TeV)

1 10

D
if

fe
re

n
ti

al
  F

lu
x 

( 
 c

m
 -

2 
s-

1  
T

eV
 -

1 )

10-15

10-14

10-13

10-12

10-11

10-10 d /dE= f 0 (  E/ TeV) -

f 0  ~ (3.12 + 0.48) x 10 -11  cm-2 s-1 TeV-1

 2.69  +  0.14 

(b)

(deg)

0 9 18 27 36 45 54 63 72 81 90

Y
 A

xi
s 

2

N
u

m
b

er
 o

f 
 e

ve
n

ts
 

3100

3200

3300

3400

3500

3600

3700

3800

3900

4000

4100

4200

4300

4400

Cosmic ray events  ~  6932 +  48 
Gamma-ray  domain  ~  7860 +  89 

ray  events   ~  928 +  100 
 Significance    ~  9.40  

(a)

Background  region

ray 
events 

 / dof  (  270<    <810)  ~  6.09 / 5

 27 0<   < 810)

?����� %�-! 9�: ���� 7����� "�$��
 ��� ��)���� � �� ��
� �	�
� &�
���� 8�$����
	
����� 	����
��
 ���
����� 9�: 2�� �����	$�
��
� ��'���

��� �
���� 	$��
��� �� 
��
���� 7����� �	 ���	���� �� 
�� 2��23� 
���	��$��

�X

��
9��: L

V#�

V��


�
#��

*�!#/�!#�#

9%�.:

 ���� V#� �
� �X9��:,�� ��� 
�� 
����� �� ���

	 �
� 
�� ��'���

��� /�, �


��6



�
���� ��# ���	���� �
 
�� �
� �
���� ��
 V�� �
� ���� 
�� =�
�
� �
��� ��
�� ��
)Æ��%Æ# ��	$��
������ �# �	 
�� ��	����
��
 
��� �
 
�� A
� =�
�
� �
��� ��
  �
� ����
��	$�
��
� �
�������$�
��

 �'��
��� ���� 9*�!#: �
� ����� ����$
�
�� 9/�!#:� 2�� %
=�
�
� �
��� ��
	 9AL��%: �	�� ��� )Æ��)Æ# �)Æ��)Æ# �)Æ��)Æ# �)Æ��)Æ �
� �)Æ�%)Æ  �
�
�'��
��� ������
��
 ���� �
� ����� ����$
�
�� �����	 ��������� �
 %Æ# �%Æ# �%Æ# �%Æ

�
� �%Æ� 2�� 
����� �� ����� ���

	 9V#�: �
 � $��
������ �
���� ��
 �	 �������
��
�� 	��
���
�
� 
�� �,$��
�� 
����� �� ��������
� ���

	# ���� 
�� ����� �����

���

	� 2�� ����� ��'���

��� 	$��
���# 	�� 
 �
 ?�� %�-�# ��	 ���
 ��
��
��
��
�� �	�
� �$$��$���
� �����	 �� �'��
��� ������
��
 ���� �
� ����� ����$
�
�� ���
0���
�� 9���
�  �
� 
���� �
���� �
� =�
�
� �
��� ��$�
��
��:� � $� �� �� 0

9�X,�� L A��

��:  �
� A� � 9�$���)$�6:��)����	�������� �� �
� W � �$-(�)$��
�	 ��	� 	�� 
 �
 ?�� %�-�� 2�� 0
 ��	 � ?�,��A � �$-�,-  �
� � �����	$�
��
� $����
�����
� �� �)�.�� &�
���	 �� 
�� �
���� ����
	
���
��
 $�������� ��
 �� 	��
 �
 F%���G
 ���� �	�	 �!�)!� �77 ��
0����
��
  �
� 83D+# &382�7�+ �
� D�
�
� �
��� �	

�� �
$�
	 
� 
�� 
����� 
�
�

J���� �$$���
� 
�� ������� 
���
�� 1���
��������*����
 ��	�� �77 
�
 ���#
 �
� -!�%!� ��
0����
��
# ��� �,
���
�
� 
�� ����� 	��
�� ���� 
�� ��
�# 
�� 
�����
�� ����� ���

	 ��� ���
� ��
 
� �� �9������)-:  �
� � 	
�
�	
���� 	��
�0��
�� ��
����).>� � ����� �� /�.� �)�%) ��	 ���
 �	�� ��� 	����
�
� ����� ���

	 �
� �
��

��	� ���

	 ��� ���� �� 
� �� ��� ���		�0��
��
  �
� �77#  ���� 	�
�	�� 
�� $���
0�
���
� ��
	 983D+ � %)$� �
� )$�Æ � &382�7�+ � �$�%Æ:� 2�� "���	
����
��
 ��

�� �77 	����
�� ���

	 �	 ����
 �
 ?�� %�.�#  ���� �	 
�� �����	$�
��
� ��'���

���
�
���� 	$��
��� �	 	�� 
 �
 ?�� %�.�� � $� �� �� 0
 9�X,�� L A��

��:  �
�
A� � 9�$�-� )$��:� �)����	�������� �� �
� � � �$%�� )$�� �	 ��	� 	�� 
 �
 ?��
%�.�� 2�� 0
 ��	 � ?�,��A � �$%6,.  �
� � �����	$�
��
� $��������
� �� �)�.��
���	�
���� ���� ��
���
� �� 
�� ���� 7����� 	$��
���  �
� 
��
 ��
��
�� ��

�� J��$$�� �
� >+��� ����$	 F%��)#%���G ���		���	 
��
 
�� $�������� ����� ��
�� �	 ��� 	����
�
� ����� ���� ���

	 �	  ��� �	 ��
��
�
� 
�� �
���� 	$��
��� �� �
	�����# �	 *��
� ���������

"
 ���$���
� 
�� ��	��
	 �� &�
���� 8�$����
	 ����� 	����
��
 $�������� 9?��
%�-:  �
� 
�� 1���
��������*����
 ��	�� �77 
�
 ��� 9?�� %�.: �
 �	 �����

 
��


�� $�������
�� �� 
�� ��
�� �	 	��� ��
 	�$�����# ��
�  �
� ������ 
� ��$����
�

�� 	
�
�	
���� 	��
�0��
�� �� 
�� ����� 	��
�� �	  ��� �	 �
 	����
�
� ���� 
�����
�� �����	� ��
����� 
�� ��$������

 9��� ���
 �� ���� ����� ���� ���

	 ���
�
 �
� 	��
�� �
��
����

 ���� (��> 
� ���).>: ����	 
� �� �
�� ����	
# 
�� ���

����

��� ������
� ���� 
�� �77 ��
�������� �	 
��
 �
 �	 ���� �Æ���

 �
 ������
�
�����	  ���� ��	 ���� �� �	 
� �,
�
� 
�� ���� 7����� �
���� 	$��
��� �$ 
�
�
 �
���� �� ���2�E� �
 ����� �
�����	 ����� �( 2�E# 
�� 1���
��������*����

��	�� �77 
�
 ��� 	����
	 �96%��6: ���

	 �	 ����
	
 �9���(: ���

	 	����
��
�� 
�� &�
���� 8�$����
	 $���������

J��
 � ����� �� /�.� �)��) �	 �	��# 
�� 
����� �� ����� ���

	 ��� ���
� ��


� �� �9-6)�-.:  �
� � 	
�
�	
���� 	��
�0��
�� �� ��)��(> �
� 
��	 �	 �
 $�����


��(



 (deg)

0 9 18 27 36 45 54 63 72 81 90

N
u

m
b

er
 o

f 
 e

ve
n

ts
 

3400

3500

3600

3700

3800

3900

4000

4100

4200

4300

4400

4500

4600

4700

4800

Energy  ( TeV)

1 10

D
if

fe
re

n
ti

al
  F

lu
x 

( 
 c

m
 -

2
s-

1  
T

eV
 -

1 )
10-15

10-14

10-13

10-12

10-11

10-10
d /dE= f 0 (  E/ TeV) -

f 0= (1.16 + 0.14) x 10 -11  cm-2 s-1 TeV-1

= 2.52  +  0.12 

(b)
Cosmic ray events  ~  7504 +  50 

Gamma-ray  domain  ~ 8645 +  93 

-ray events   ~ 1141 +  106 

 Significance    ~  11.07  

(a)

Background   region

ray
 events

 / dof  (  270<    <810)  ~  5.53 / 5

(  270 <  < 810)

?����� %�.! 9�: ���� 7����� "�$��
 ��� ��)���� � �� ��
� �	�
� 1���
�����
���*����
 ��	�� �77 
�
 ��� ����� 	����
��
 ���
����� 9�: 2�� �����	$�
��
�
��'���

��� �
���� 	$��
��� �� 
�� ���� 7�����  ��
 �77 
�
 ��� �	 �	�� ���
	����
�
� ����� ���� ���

	�

�������

  �
� 
�� ��	��		��
 $��	�

�� �
 8��
��
 F%�-G ������ ��
����� 
�� �	�
�� 
���
 ��
 9��� /�.� �)��: �����	 ����	
 	��� 	
�
�	
���� 	��
�0��
�� 9��
���
� 	����

�������
��
: �	 ���$���� 
� /�.� �)�% ��
 ��	�# 
�� 
����� �� �����	 ��
��
�� ���
	��
�0��

�� ��		 �
� �
 �	 A�	
 ��� 
��	 ���	�
 
��
  � $�������� 
� �	� � 	��� ��

���	� ��
 /�.� �)�%�

2�� $�������
�� �� 
�� 1���
��������*����
 ��	�� �77 
�
 ���  �	 ���
���
������
�� �� �$$���
� �
 
� � �)��.� ����	 �� �
�	����� ��
� ������
�� �
 ��� ���
 �
� 
�� 2��23� 
���	��$� ����
� &��� ).# �))% 
� �$�� �)# �))-� 2�� 
�
�� ��
�
�	�� ���� ��	� �
�����	 ��	����
��
	 ���� &��� �.# �))% 
� ?��� ).# �))-  ��
 
��
	�����  �	 ���
� 
� �� �
 � ���� 	
�
� �� 
�� 2��23� 
���	��$� �	 ���$���� 
�

�� ��	
 �� 
�� ��	����
��
 $����� F%��.G� J��
 ������� 
���
�� �77 �	 �	�� ���
�,
���
�
� 
�� ����� 	��
�� ���� 
�� ��
�# 
�� 
����� �� ����� ���

	 ��� ���
�
��
 
� �� �9��(�����:  �
� � 	
�
�	
���� 	��
�0��
�� �� ����-)>� "
 ���$���
�

��)




��	� ��	��
	  �
� 
��
 ��
��
�� �� �	�
� &�
���� 8�$����
	 F%��.G  ���� �����	
�9���-���): ����� ���

	  �
� � 	
�
�	
���� 	��
�0��
�� �� �����(># �
 �	 ���		���
�

� 0
� 
��
 
�� �77 ��
��� �	 �
���� ���� �Æ���

 
��
 
�� &�
���� 8�$����
	
��
���� ?��
�������# �	 �,$��
��# 
� 	��
�
��� �� � ����� 	��
�� �	 	��
  ��
 
��
�77 ��
��� �	 �$$���� 
� � �(�-% ����	 �� �'�	����� ��
�� 2�� ��	��
	 ��
��
��
 �
� 
�� �77 ��
��� 9 � -)���  �
� � 	
�
�	
���� 	��
�0��
�� �� ����->: ���$���
 ���  �
� 
�� ��	��
	 ��$��
�� �� �	 ������� �	�
� &�
���� 8�$����
	 F%��.G9� �6��)
 �
� � 	
�
�	
���� 	��
�0��
�� �� �)�.�>:�

8����		��� ��
��
��
 �� �����	 ���� ������� 
��	 ������� ����
	
��
�	 
�� ���
$�����
� �� 
�� $��$���� 
���
�� �77 
� �,
���
 � ����� 	��
�� ���� � 	����� �
���

��
 
�� ���� 7������ 3
 ��	� �
����
�	 
��
 
�� ��
�����=�
��
 ��$�����
� �� 
��
�77 ��
 �� �
��
��� �� �
 �	 
���
��  �
� 
�� �,$�����

�� ��
� ������
�� ����
��'���

 �����
��
	 ����
� 	��� ��
 �������� 	�� �����

�		�

��- �������	�
 �! ,�
���� 1������
	 �
� �//

�
� �	�	 ��
���	

� ��
����� 	
��� ��� ���$���
� 
�� $�������
�� �� &�
���� 8�$����
	 �
� �77
�
���	�	 ��
���	 ��	 ��	� ���
 ��
���
�� �� �	 	� 
��
 
�� ������� ����� ��
�

��

��$�����
� �� 
�� &�
���� 8�$����
	 �
� �77 �
���	�	 ��
���	 ��
 �� ���$�����
"
� �� 
��  ��	 
� 	
��� 
��	 �	 
� �	� 
�� ��

� ����� 	�����
�� ��
� ��� �����	
�
� $��
 
�� ��$�
��
�� �� �'��
��� ������
��
 ����	 �	 � ��
�
��
 �� $������ �
����
��� 
�� 
 � ����� 	����
��
 ��
���������	� 2�� ��	��
	 �� 
��	 	
��� ��� 	�� 
 �

?�� %�6  ���� �'��
��� ������
��
 ����	 ��� 
�� 
 � ����� 	����
��
 ��
���������	
��� $��

�� �	 � ��
�
��
 �� �
���� ��� 
 � ��$��	�

�
��� =�
�
� �
��� �����	 ��
�%Æ �
� �%Æ� �$��
 ���� 	�� �
� 
�� �'��
��� ����	 9 ��� *�9�:A�9�:: ��� 
�� 
 �
����� 	����
��
 ��
���������	# 
�� �����	$�
��
� �'��
��� ����  ��
 
� ��
	 ���
�$$���� 
� 
�� ��
� 9 ��� *�9�:: �	 ��	� 	�� 
 ��� ���$���	�
� 2�� ��	��
	 ��	$�����
�
 
�� 0���� ������� �
����
� 
��
 
�� �Æ���
�� �� &�
���� 8�$����
	 �	 ���	��

� ���	 �� �� �
�����	 9 $��
�������� �
 �� �� =�
�
� �
���	:� "
 
�� �
��� ��
�# �

�	 
�� 	�$����� $�������
�� �� 1���
��������*����
 ��	�� �77 
�
 ��� 9 ��� ����
������
��
 ���� �
 ������ �
�����	:  ���� ��	 �
����� �	 
� ��
��
 ����
����� ������

����� �� ���

	 �
 �
�����	 ����� �( 2�E �
 
�� ��
��� ��
� �	 ���$���� 
� 
��
&�
���� 8�$����
	 $���������

2�� ����� ��
���	��
 ��	 ���
 ���
��� ������
�� �� ��
��
�
� 	��

�� $��
	 ��
������	 ����� $�����
��	 �
� 
�� ��	��
	 �� 
��	 	
��� ��� 	�� 
 �
 ?�� %�(� 2��	
0���� ��	$���	 	��

�� $��
	 �� 1+7�2># J3&2># &382�7�+ �
� ?���� �	 �
��
�
��
 83D+ ��� �6�%6 ���

	  ���� ���� ���
 ������
���=�� �	 ����� ���� ��

�� �77 ������
�� �
� ���� " � �6Æ� ?�� ���$���	�
# 
�� &�
���� 8�$����
	
���
�����	 ��� ��	� 	�� 
 �
 
�� 0���� �	 ���� ��
�	� 3
 �	 *��
� �����

 ���� 
��
0���� 
��
 
�� �77 ��
��� �
 
�
 A�	
 	����
�
� 
�� 	��� $�$���
��
 �� ���

	

���



Energy  ( TeV)
1 10

E
ff

ec
ti

ve
  C

o
lle

ct
io

n
  a

re
a 

(m
 2 )

102

103

104

105

106

Trigger alone
Trigger+DSC
Trigger+ANN

(a) 

Energy ( TeV)
1 10

E
ff

ec
ti

ve
  C

o
lle

ct
io

n
 a

re
a 

 (
 m

 2 )
102

103

104

105

106

Trigger  alone
Trigger+ DSC
Trigger+ANN

Zenith  angle : 15
0

Zenith  angle : 35
0(b)

?����� %�6! +'��
��� ������
��
 ���� �	 � ��
�
��
 �� 
�� $������ ����� �
���� ���
	�����
�� ����� �
 	�� ��	 =�
�
� �
���	 �� 9�: �%Æ �
� 9�:�%Æ� J���� 
�$ ��	

����� 9������� �	 2������ ���
�: ����	 
�� �'��
��� ����  ��
 
� ��
	 ��� �$$����

� 
�� ��
�# 
�� �����
�
� � �����	 9�������� �	 2������O &8� �
� 2������O�77:
��$��	�

  ��
 &�
���� 8�$����
	 �
� �77 �
���	�	 ��
���	# ��	$��
����� ���
�$$���� 
� 
�� ��
��

�	 
�� &�
���� 8�$����
	 ��
 
�� �77 �	 ��	� 	�
	�
��� 
� 	����
�
� ���

	  ����
��� ��
	��� 
�� 	
���
 &�
���� 8�$����
	 ���
�����	� �
 ��
��
�
���  �� 
� �		�		

�� ��	����� $�$���
��
 �� ���

	 	����
�� �� �77 �	 
� $������ � ������� 7"2
	����
��
 ��
 ��
 
�� �77 �
� 
�� &�
���� 8�$����
	 ��
���	� "
 $�������
�

��	 	����
��
 
�� 
����� �� ����� ���

	 ��� ���
� ��
 
� �� �9�%��.�:  �
� �
	
�
�	
���� 	��
�0��
�� �� �-��.>  ���� ����
 	����	
	 
��
 
�� �77 ��
��� �	
���� �	���� 
��
 
�� &�
���� 8�$����
	 ��
���	  ���� ��
����
�
� 
�� �
����
	$��
��� �� � ����� 	������ "
 $�������
� � ������� �7& 	����
��
 ��
 ��
 
��
�77 �
� 
�� &�
���� 8�$����
	 ��
���	 
�� 
����� �� ����� ���

	 ������� ���
�9-%%�.�: �����	$�
��
� 
� � 	
�
�	
���� 	��
�0��
�� �� �(�%)>�

3
 ����� 
� �
���	
�
� 
�� $�������
�� �� �77 ��� �����	 �
 ������ �
�����	 9���#

�� ���

	  ���� ���

����� ��

����
� 
� 
�� ��	
 � �
���� ��
	 �� ?�� %�(: ?�� %��)#
��	$���	 
�� 	��

�� $��
 �� �-)- ���

	  ���� ���� ���
 ������
���=�� �	 ����� ����

���



?����� %�(! 8��

�� $��
	 �� 9�: 1+7�2> 9�: J3&2> 9�: &382�7�+ �
� 9�:
?���� �	 � ��
�
��
 �� 83D+  ���� ���� ���
 ������
���=�� �	 ����� ���� �� 
��
�77 �
� ���� " � �6Æ� 2�� &�
���� 8�$����
	 ���
�����	 ��� ��	� 	�� 
 �
 
��
0���� �	 ���� ��
�	�

�� 
�� �77 �
�  ���� ���� 
���� " � �6Æ� 3
 �
���  ���	 
�� ��
� $��	�

�� �
 
��	
0���� ��$��	�

	 � 	��	��$�� �� 
�� ��
� �	�� �
 ?�� %�(  �
� �
 ����
��
�� ��
��
��


��
 
�� ����� ���� ���

	 	����� ���� �
�����	 ����� �( 2�E� 2�� ��$�����
� �� 
��
�77 �
 	����
�
� ���

	  ���� ��� ��
	��� 
�� 	
���
 &�
���� 8�$����
	 ���
�����	
�	 ����
 �����

 ���� 
�� 0����� ?�� �,��$��# $��	�
�� �� ����
����� ����� 
����� ��
���

 ��
	��� 
�� 1+7�2> ��
 ���
���� 9?�� %��)�: ������� ����
	
��
�	 
��
 
��
�Æ���
�� �� &�
���� 8�$����
	 �
 ��
��
�
� �����	 �	 ���	�� 
� ���	 �� �� �
�����	�
3
 �	 ��$��
�

 
� $��

 ��
 ���� 
��
 
���� ��� ��������
� ��	������� ���

	 ��	�
$��	�

 �
 ?�� %�( �
� ?�� %��)  ���� ��� ���		�0�� �	 ����� ���� ���

	 �� 
�� ���


	����
��
 ��
��������� 8�
�� 	��
���
��
 �� 
�� ��������
� ���

	 9�	
���
�� ����
�.Æ � " � 6�Æ �����
:# ���� 
�� ����� �����
 9��0
�� �	 " � �6Æ:#  ��� ��
��� ��


��	� ���

	 9�
 	
�
�	
���� 	�
	�: �
� �
 ���	 
�
 ��

�� �� 
�� �
���� �	
���
�
��� ��������
� ���

  �	 ��
��
���

8�
�� ��'���
��	 �
 
�� ��	����� �
���� 	$��
��� �� 	������ ��
��� �����
�� 
��
����# �	$������� �
 ������ �
�����	# ��
 �� �	�� 
� 	
��� ��	��$
��
 �'��
	 �
 
��

���



Size ( pe)
101 102 103 104

L
en

g
th

 (
 d

eg
)

0.0

0.2

0.4

0.6

0.8

1.0

1.2 (a)

Size (pe)
101 102 103 104

W
id

th
 (

d
eg

)

0.0

0.1

0.2

0.3

0.4

0.5

0.6

Size( pe)
101 102 103 104

D
is

ta
n

ce
 (

 d
eg

)

0.2

0.4

0.6

0.8

1.0

1.2

1.4

Size ( pe)
101 102 103 104

F
ra

c2

0.0

0.2

0.4

0.6

0.8

1.0 (d)

(b)

(c)

0.26+0.0265 ln(S)

0.11+0.0120 ln(S)

0.520

0.35

0.0600.110

1.27 cos 0.88( 0 )

1.27 cos 0.88(450 )

?����� %��)! 8��

�� $��
	 �� 9�: 1+7�2> 9�: J3&2> 9�: &382�7�+ �
� 9�:
?���� �	 � ��
�
��
 �� 83D+  ���� ���� ���
 ������
���=�� �	 ����� ���� �� 
��
�77� �$��
 ���� ����
� " � �6Æ 
��	� ���

	 ��	� ���� �
���� ����� �( 2�E� 2��
&�
���� 8�$����
	 ���
�����	 ��� ��	� 	�� 
 �
 
�� 0���� �	 ���� ��
�	�

	����� �� �
 
�� �

�������
�� ������ ��� 
� �

����
��
 �� �����	  �
� 
�� �,�

�������
�� ��������
� $��
�
	 F%���# %���G# �
��������# �Æ���

 ��
�

��
 �� ����
�
���� ����� ���

	 �	 �� ��	 $���������� 8�$����� $�������
�� �� 
�� �77 �
 ������
�
�����	 ��
 
��	 $��� �
 ��$��
�

 ���� �
 �
���	
�
��
� 
�� ��	��$
��
 �'��
	 �


�� 	����� �� �
 
�� �

�������
�� �������

3
 �	  ��
� ��

��
�
� ���� 
��
 �
�� 	�
�	���
��� 
���
�
� �� 
�� �77 �	 ��������#

�� �����	$�
��
� �77 ��
���
��  ����
�0�� ��
 �� ��	��� �	�� �� �
 �$$��$���
�
	�����
�
� �� 
�� ���
 ��
� �
���	�	 $������ ��� 	����
�
� ����� ���� ���

	� ;	� ��
� ������
�� �77 	��
 ��� $������ �	 
��	 
���		��� �
�� ����
� 
�� 
���
�
� �� 
��
�77 �
� �	 
�
 
����� 
���� ��
��� ��	�# ���$���� 
� 
�� ��
��

��
�� �C�����

	�$���
��
 ��
���	# 
�� �77���	�� $�������� ��	� �'��	 ����

���	 ���� �$$�����
����
� ���� �  ���� =�
�
� �
��� ��
�� �
� ��$����

�
��
 ��	��

���



��0 1������

�
��	$����� �����
��� �����
� 
���	��$�	# �	$������� ��
�	��$�� 	�	
��	# ����

� ��$� �$  �
� � ������ �� ��	������� ��������
� ���

	 �
� 
�� ��$�����
� 
�
	�$$��		 
��	� ����
	
 
�� ��
��
� �����	 �	 �
� �� 
�� ���
 ������
��	  ���� ����
	

�� 	�
	�
���
� �� 
��	� 
���	��$�	� 2�� ���
 $��$�	� �� 
��	 $�$�� �	 
� 	
��� 
��
� C �����
 	������
��
 $�
�

��� �� ������	 �77 ������
��	 ��� 
�� 2��23� 
����
	��$�# �� �$$���
� 
��� 
� 
�� ��

� ����� 	�����
�� �
� 
�� ��	����
��
 ��
�
�
 
�� ���� 7������ 2�� ��	��
	 �� ��� 	
��� �
����
� 
��
 
�� $�������
�� ��
1���
��������*����
 ��	�� �77 ������
�� �	 	��� ��
 	�$����� 
� 
�� &�
����
8�$����
	 $�������� �	$������� ����
� ����� �
�����	 �� � ( 2�E� 8�
�� ��� ����
 ���� $������	 �
 �	 
�
 �
 ��	� 
�	� 
� ���

��� 
�� ��	
 	��
���� �77 ������
��
�� A�	
 ����
� � ���� �
 
�� $������# ��� ��	��
	 	����	
 
��
  ���� �
��	
���
�
�

�� ���$���
��� $�������
�� �� �
��� �77 ������
��# 
�� 1���
��������*����

������
�� ��	����	 � 	�����	 ��
	�����
��
� 2�� ���
 ����

��� �� �	�
� 
�� �77
��
�������� ��� �C �����
 	������
��
  ��� �	 
��
 �
 �	 ���� �Æ���

 �
 ��
��
�
�
������ �
���� ����� ���

	 �
� 
��	 ��	 ���� �� �	 
� �,
�
� 
�� 2��23� ��	�����
�
���� 	$��
��� �� 
�� ���� 7����� �$ 
� �
 �
���� �� ��� 2�E� ���	�
���� ����
��
���
� �� 
�� ���� 7����� 	$��
��� �	 ���	���� �� 
�� 2��23� 
���	��$�  �
�

��
 ��
��
�� �� 
�� �
��� ����$	 ���		���	 
��
 
�� �77���	�� �C�����
 	�����
��
��
 ��
��� �
� ��	� 
�� $�������� ��� ��
��
�
� 
�� �
���� 	$��
��� �� � �����
	����� ��� *��
� ���������

���2 ��!���
��	

F%��G 2��� J����	 �
 ���# �	
��$��	� R# ��� 9�(6(: �.(

F%��G �� &��� �
 ���# �	
��$��
� 4��	�# 6 9�((.: ��

F%��G ���� >����	# 4���� �(
� 3��� # 1� R����# � 9�(6%: ��%�

F%��G ?��� �����
��
 �
 ���# 7���� 3
	
�� �
� ��
�� �# �)� 9�((�: %���

F%�%G �� ����

� �
 ���# �	
��$��
� 4��	�# ( 9�((6: �%�

F%�-G 4�2� ���
���	 �
 ���# R�4��	� � ! 7���� 4��
� 4��	�# �( 9�((�: ���.�

F%�.G 8� &�
���� �
 ���# �	
��$��
� 4��	�# � 9�((�: �%.�

F%�6G �� >��
�	 �
 ���# �	
��$��
� 4��	 �� 9�(((: ��%�

F%�(G ��<� ��=��
 �
 ���# �	
��$��
� 4��	 �. 9�))�: �(.�

��%



F%��)G �� �����
�����
# 4�

��
 �����
�
��
 1�

��	 �- 9�((%: ���

F%���G 4�2� ���
���	 �
� &�R�?���
# �	
��$��
� 4��	�# � 9�((%:��.�

F%���G ��<� 5��� �
 ���# 7���� 3
	
���� ��
�� �%�- 9�))�: %���

F%���G <� >��
�� �
 ���# 7����� 7�
 ���	 # �# 9�(6(: �%(�

F%���G >� ��	�# 4���� 3+++ 3

� ��
�� ����	
�� 8$���� 8��
�� 4����		�
�# 9�(():
��-��

F%��%G ��&� ������� �
� 1 1�$$��

# 7����� ���$�
�
��
# � 9�((�: �-��

F%��-G ���� E�=� �
 ���# 4��� ���� &�# �%9�((�:�%-�

F%��.G ��R� 1�
�# R�4��	� � ! 7���� 4��
� 4��	�# �� 9�((6: ��.(�

F%��6G 5��� 8������ �
 ���# 7���� 3
	
���� ��
�� � �-% 9�))�: �(��

F%��(G E�<� &��� �
 ���# ���	� 8��� 2���
��� �� 9�)�): )�%����

F%��)G E�<� &��� �
 ���# +,$�����

�� �	
��
��� �) 9�))): �6.�

F%���G 8� 5�		�
� �
� 8�������# �	
��$��
� 4��	�# �% 9�))�: -%�

F%���G ���� ��
��� �
 ���# 7���� 3
	
���� ��
�� � %)� 9�))�: .6(�

F%���G &� &����� �
 ���# 7���� 4��	� 5 9 4���� 8�$$��:# (. 9�))�: �%%�

F%���G &����
�� �
 ���# 7���� 3
	
�� �
� ��
�� �� %�%9 �))�: ����

F%��%G 8� J�	
����' �
 ���# �	
��$��
� 4��	 � 9�((%: ��(�

F%��-G E�<� &��� �
 ���# 7���� 3
	
�� �
� ��
�� �# -)- 9�))(: .(%�

F%��.G <�<� T���� �
 ���# �	
��$��
� 4��	�# �. 9�)).: ��.�

F%��6G ��R� 5���� ����� 
� �	� �� 	
�
�	
���� ��
���	 �
 4��	���� 8���
��	# R��

J���� �
� 	�
	 �(6.�

F%��(G J�>� 4��		 �
 ���# 7�������� ����$��	 �
 �# ��������� ;
����	�
� 4��		 3
���
�)).�

F%��)G 4� 5��
�� �
 ���# 2��
	� �
 +
��� ���$�
�
� �
� 2���� . 9�))%: 3887 ��)%�
%����

F%���G R��� D�����# 3

�����
��
 
� ��
�0���� 7����� 8�	
��	# R���� 4����	��
�
>��	�# ������# �))-�

��-



F%���G 4�4� <�
A���� �
 ���# +���
��
�� 1�

��	 �( 9�((�: �.�

F%���G &��� 4	�������	 �
 ���# 3+++ 2��
	� 7����� 7�
 ���	 % 9�((�: %���

F%���G +�R� 2���# �
 ���# 3+++ 2��
	� 7����� 7�
 ���	 �. 9�))-: �-���

F%��%G 8� ���������
� �
 ���# 8$���� �����
���
��
	 %� 9�)�): -(��

F%��-G E�<� &��� �
 ���# 4����
�# R���� �� 4��	��	 .�# 9�)�): �).�

F%��.G �

$!CC   ���
� ���	��
�

F%��6G 8�7� 8���
�
��# 3

�����
��
 
� 7����� 7�
 ���	 �	�
� ��21�5# ����� �
>��� ���$�
��	 �)��

F%��(G 2�4�1� �
� T�@� �� # �	
��$��	� R# �.� 9�(6�: ��.�

F%��)G ���� >����	 �
 ���# �	
��$��	� R# %)� 9�((6: .���

F%���G ?��� �����
��
 �
 ���# �	
��$��	� R# -�� 9�))�: 6(.

F%���G ?��� �����
��
 �
 ���# 7�
���� ��) 9�))-: �)�6�

F%���G R� �����
 �
 ���# 8���
��� ��) 9�))6: �.%��

��.



���	��
 .

���
�� 
������
������ ����� �$$

"�� *

�����
��


3����
� �
��	$����� �����
��� 
���	��$�	 93��2	: ��$��	�

 
�� $���� �
	
���
��

	 ��� ����� �	
��
��� �
 
�� 2�E �
���� ��
�� F-��G �
� F-��G� J�
� 
�� 
���
��� �� 	�����	 �	
����	��� �	 2�E ����� ���

��	 �
 3��2 ��	����
��
	# ��$��	�	
�	 	
��
�
� 
� 	���
 ���� 
�� ��
��
��
 �� 	�����	 
� 
�� $����	� ��
����
�
��
 ��

���� ����� 	$��
��� 3
 �	 
�������� ��$��
�

 
� ��$���� 
�� �
���� ��	���
��
 ��
3��2	� 2�� �
���� �� �����	 �	 ��
����
�� ���� 
�� �

�
	�
� �� 3��2 �����	#

���
� �

� �����

 
�� ������ ��	
����
��
 �� �����
��� ����
  �
��
 
�� ����
 $����
2�� 	
��� �� 
�� 	$��
��� �
���� ��	
����
��
	 ��
 ����� �������� �
�����
��
 ����


�� �
������
� ����� $�����
��
 �����
�	�	 �
� �
�	��� �	
��$��	���� �
����
�
��

 ������
���=�
� 
��	� 	�����	� 3
 ����
��
# ��'���
��	 �
 
�� ��	����� �
����
	$��
��� �� 	������ ��
��� �����
�� 
����� ��
 ��	� �� �	�� 
� 	
��� ��	��$
��
 ���
���
	 �
 
�� 	����� �� �
 
�� �

�������
�� ������ ��� 
� 
�� �

����
��
 �� �����	
 �
� 
�� �,
�������
�� ��������
� $��
�
	 F-��#-��G�

&�
����
�
� 
�� �
���� �� $������ �����	 �	 �
 ��$��
�

 ����

���  ���� �
�
�� 	 
�� �
��	$����� �����
��� 
���
�*��  �
� ��������
��� ��$�����
�� J���� 
��
����
 �

�
	�
� �
 �
 ����� 9��	� �
� 
 �	 ����� 83D+:# ��$��	�

	 � ��� $�����
��
��� ��
����
�
� 
�� �
���� �� 
�� $������ �����# �
� ��	� ��	 
� ��
	���� �
	 ���
$�
��
�� �
 
�� �����$�	�
��
 �
� =�
�
� �
��� ��� ��$����
� 
�� �
���� ��	���
��
�
8�
�� 
�� $����	� �
�����
��
 �� ���� ��	
�
�� �	 
�
 ���������  �
� � 	�
��� �����
�

���	��$�# 
�� �
���� ��	���
��
 �� 
��	� 
���	��$�	 �	 ��
������ ����
�� 
� ��%��%K
F-�%�-�.G� "
 
�� �
��� ��
�# � 	
����	��$�� 	�	
�� ���� 	 �
��������	 ����
	
����

��
 �� 
�� 	�� �� �����
�� �
�����
� � �����
 ���	�����

 �� ���� ��	
�
��  ����
����	 
� � 	��
�0��

 �
����	� �
 	�
	�
���
� �
� �
���� ��	���
��
 �� 
��	� 	�	
��	
F-�6#-�(G�

��6



)���� 8� ���� �����	�	� ��� �	���
 �� �	���� ���	

� 6���
��
	�� 5�	����
��� 
� ��� 
���� 
����!
?�� � 	�
��� 
���	��$�# 
�� 	
�
�	
���� /��
��
��
	 �
 
�� 
����� �� $��
������

��
	 $������� �� � 
�$���� 	�� �� �	 � ����
�
� ���
�� ��� ����
	
���
��
 �� 
��
���

 �
����� ����
��
�� /��
��
��
	 ���	� ���� 
�� ��$��0��
��
 $����		 �


�� $��
����
�$���� �
� ���� 
���
�	�� ��������
� ��

���
�
�
� 
�� ������

� ����� ����	��
��
3
 ����� 
� ������ 
�� �
/��
�� �� 
�� 
���
�	�� ��������
�# 
�� ����� �
�

�
	�
� �	 �	����� 	����� �
�� ���� ����� $�,��	 ����� � ��
���� �

�
	�
�#
��

�
� � �� 
�� 
��� �� 
�� ������ 2�� 	�� ���� ����� $�,�� ��$��
���	
$������	 
�� 	�������� 	�=� $�����
�� �	�� 
� ������ 
�� 	�� �� �
����� 8���
� 
��� ��
 �

������	 ��
� ����
��
�� 
��	� �	  ��� �	 	�	
���
�� 
�
��
����
��	�
2��	 ��� �� ��

�
	�
� �����	 � ������ ����
��
 �� 
�� ����� �	 ��
 ���$���� 
�

�� �

�
	� �����	� �
 ����
��
�� 
��
��
��
 �����	 ��� �����	  ���� �,
�
�
����
� 
�� ���� �� 
�� �������

� ��������� �4�	��
3
 
�� �����
 
��� 
�� 
������ 
���	���� 
�� ����� �

�
	�
� ��
��
�� �
 
��
������  ��� �� 	
��
��� ���	��# 	�
�� 	�� ��	  �
� �$ ��� /��
��
��
	 �
 
��
����� 	�=�  ��� ���� � ������ $��������
� �� 
�������
�� 3
 
�� 	���
���	����
�
���� �����
# 
�� ���
 �

�
	�
� �� 
�������� �����	  ��� �$$����� � ��
	
�

#
�
��$�
��

 �� 
�� 	�� �� �
����# ����
� 
�� �
���� ��
����
�
��
 � ��Æ���


�	��

� :��	����
��� 
� ��� ���%�� ��,��������
E����
��
	 �
 
�� 	�� �� ������$��

 $������ � 	��
�0��

 ��

����
��
 
� 
��
�
���� ��	���
��
N $��
�������� ������

 ��� /��
��
��
	 �
 
�� �����
 �� 
��
	�� �� ��,����# ����
�� $�������� 
� 
�� /��
��
��
 �
 
�� ��$
� �� 
�� 0�	

�

����
��
� 8�� ��	  �
� 
���� ��,���� ���$�� �
 
�� �
��	$���� ���� �
������ �

�
	�
� �� ����
  �
��
 
���� ����
 $���# ��
� �����	� �� 
�� 	������
��	
�
�� ��
 ��
 
�� 
���	��$� �
� 
�� ����
 	�����# �
� �����	� �� 
�� �� ��
�����
��� 
���	���� �
 ������� �����
�

� 6
������
	 ������
��� 
���
�*��	 ��� �
���� ��
����
�
��
 ���� ������� �
 ��

� ����� 	����
��
��
	 
� $������ 
�� ����
��
 ��
 ��
 ����� $�����
��	 �
� 	�� �� �
����
�
� 
� ��	����� 
�� $�������
�� �� 
�� 
���	��$� ���� ���� 3�$�����
��
	 �


�� 	�����
��
	 �� 
�� ��� 	�� ��# �� �� 
�� 
���	��$�	# �� ����
��

 �����	
�
� �������
��
 �����	 
�
 �
������ �
 
�� 	�����
��
	 ��� ���� � ��
����

��
�'��
 �
 
�� �
���� ��	���
��
� ����
 ���� ��	
 �� 
���
 
� �
	��� 
��
 
��
	�����
��
	 $��$���� ��$������ ��� ������

 �	$��
	 �� 
�� ��
��

��(



� )���� ����� ����
��
	�
������
��	 ��� �
���� ����
	
���
��
 ���*��

�� �	� ���
������
	��
�� �����$

����	 
� ��
���
 �����	 �� ����� $�����
��	 �

� �
���� �	
���
�	� ����
 
��

������
	���
� ��
���
��
 �� ��

� ����� ���

	 �
 $��
������ �
 
�� ������
�
�����	# 
���� 
����� �	 ���*��

�� 	������ 
�# �� ���
 ��		 
��
 
�� 
�����
�� 	�� ��	 ��
��
�� �
 
�� �,$�����

� 8
�
�	
���� �����	 �
 
��	� �����$ 
����
�����	 ��
 �� 	��
�0��

� 2��� ��
 �� �������
�� ��
��� �� �
 �Æ���

 ������
�� ��������	 �� �� 0

�
� � 	���
� �
���
���� ��
�
��
�

2�� ���
 ��� �� 
�� $��	�

  ��� �	 
� �	� �
 �77 ��	�� $�������� ��� �	�

���
�
� 
�� �
���� �� ����� ���� ���

	# �������� �� � 	�
��� �����
� 
���	��$�
92��23�:# �
 
�� ��	�	 �� �
	 ����� 83D+# &382�7�+ �
� =�
�
� �
���� 2�� ����
	�����
� �� ��$����
� �77 ��� �
���� ����
	
���
��
 ��	 ��	� ���
 �$$���� ��� 	���
�
��� �$$����
��
	  ���� ��� �� ���� 
�
 ����
�� 
� �����
��� �����
�� J���� 
��
J�=��� ���������
��
 ��	 �	�� �
 ��� �31&� �����
� 	�����
 ��������
�� F-��)G# 
��
�77���	�� �$$����� ��	 ��	� ���
 �	�� ��� ����
	
���
��
 �� 
�� �
���� ��$�	�
��
�
 
�� ��������
�� 	�	
�� �� 
�� ��8 ��
��
�� F-���G �
� 
�� �����
�� ��������
��
�� �21�8# 2������ F-���G�

�$$����
��
 �� �77 
� �
��	$����� �����
��� �����
� ��
�# ��� ��	
�
���	��
�
��
 ��
 ����� �
� ��	������� ��
���
�� �����
��� ���

	# ��	 ���
 	
����� ��
	������  �����	 F-����-��-G� 4����	�
� ��	��
	 ���� ��	� ���
 ��$��
�� ��� 
��  ����
���

 	��$��
� 
���	��$� �+1+82+ F-��.G  ���� 
�� �77 ��
���  �	 �	�� ��� 
�

�
�� ��	�����
�
�
� ����� �
� ��	������� ��
���
�� �����
��� ���

	 ��
 ��	� ���
��
����
�
� 
�� $������ �
���� �
� 
�� ����
��
 �� 
�� 	�� �� ����� � ��
����� ��	�
	
��� ���$���
� ��'���

 ���
������
� ���		�0��
��
 ��
���	 9���		�0��
��
 
���	#
���
�� �
� 
����	
�
�������� ��
���	# ��
��� ��	�����
�

 �
���	�	# 	�$$��
 ����

�� �����
�	# 
����� 
�
 ��� �
��: ��	 ��	� ���
 $�������� �
 F-��6G �	�
� ��

�
����� 	�����
�� ��
� ��
���
�� ��� 
�� ���3� 
���	��$�� <��$�
� �
 ��� 
��
�
�������
� ��	��
	 ��$��
�� �
 ����� ��
�� ��
���
���# 
�� ���
 
���	
 �� 
��	  ���
�	 
� �	� �77 ��� ��
����
�
� 
�� �
���� �� 
�� �����	 ��
��
�� �� �
 �
��	$�����
�����
��� �����
� 
���	��$� �
� �
	 ���$���	�
  �
� ��
��

��
�� ��
���	� 3

����
��
# 
�� �
��� �	$��
	  ���� ���� ���
 ����
	
��
�� ��� !9�: ������� � �� ��

������=�� ��	 �����# 
��
 ��$��
�� ������� F-��(�-��)G 9��: ����� 
�� �

��$���
��

��$�����
� �� 
�� $��$�	�� �77 ��
���  �
� �
 �
��$�
��

 ��
� 	��$��� ?�
����#

�� $�������
�� �� 
�� �77���	�� �
���� ����
	
���
��
 �	 ������
�� �� ����	�
�
�

�� �
���� 	$��
��� �� 
�� ���� 7����� �
 
�� �
���� ��
�� ���- 2�E �	 ���	����
�� 
�� 2��23� 
���	��$��

��)



"�� #�

� ��� � 	��� �
��
	 !�� �
���� ����
�

	
���
��
 �! �����	

2�� ��

� ����� 	�����
��
 ��
� �	�� ��� ������$�
� � $�������� ��� �
���� ���
��
	
���
��
 �� �����	 ��� ��	�� �
 
�� �"�83<� 9���	��
 %�-���: ����	�� �� 	���
���
��
 ���� F-���G� 2�� 	�����
�� ��
����	� ��� ����� 	�� ��	 �	�� �
 
�� $��	�


 ��� �	 
�� 	��� �	 ��	 ���
 ��

��
�� �
 ���$
�� �#  ���� ����
 ��#))) 	�� ��	
�
 
�� �
���� ��
�� )����) 2�E  �
� �
 ��$��
 $�����
�� �� �$
� �%)� ���� ���

��
���
��� 2��	� 	�� ��	 ���� ���
 ��
���
�� �
 % ��'���

 =�
�
� �
���	 9&L %Æ#
�%Æ# �%Æ# �%Æ �
� �%Æ:� J�����
�
� ��$�
��

 �
��	$����� ��	��$
��
# 
�� 	$��
���
��	$�
	� �� 
�� 4�2	 �
� 
�� ��/��
��
 ���Æ���

 �� ������ ����
	 �
� ����
 ��
�	
��	 ��	� ���
 
���
 �

� �����

  ���� $�������
� 
�� 	�����
��
	� 2�� 
����� ��
$��
�����
��
	 ����	
���� �� ���� $�,�� ��	 
��
 ���
 	��A��
�� 
� 
��	� �
A��
��
#

������ ��
��
��
 ����� �
� ����� ����
�
�� 2�� ����
 �����
��� �����	  ��� �����
��
���=�� �� �������
�
� 
���� 	
�
���� ����� $�����
��	 ���� 1+7�2># J3&2>#
&382�7�+# �14>�# 83D+ �
� ?���� F-����-���G� 2�� 	��� 	�����
��
 ��
� ��	�
��	 ��	� ���
 �	��# �	 $�� 
��  ��� �
� 
 	
�
���� $��������# ��� �������
�
� 
��
�'��
��� ���� �� �����	 �	 � ��
�
��
 �� �
���� �
� =�
�
� �
��� �
�# ��	� 
�� �����
��
�

��
 ���
��	  ��
 &�
���� 8�$����
	 ��� �$$���� 
� 
�� 	�����
�� ��
�� 5�
�

��	� �
$�
	 ��� ��*����� ��� ��
����
�
� 
�� �
���� 	$��
��� �� � 	����� �
�� �
	
�
�	
������ 	��
�0��

 ����� 	��
�� �	 ��	����� �
 
�� ��
��

<��$�
� �
 ��� 
�� ���
 
��
 
�� �����
��� ����
 ���

�� ���� 
�� ����
������

�
�� ��	���� �	 
� � 0�	
 ����� �$$��,���
��
 $��$��
��
�� 
� 
�� �
���� �� 
��
$������ �����# 
�� �$$����� ����� �� �
 �
��	$����� �����
��� �����
� 
���	��$�	
�	 
� ��
����
� 
�� �
���� �
 
�� ��	�	 �� 
�� ����� 83D+� 8�
�� 
�� �

�
	�
� ��

�� �����
��� ����
 �	 � ��
�
��
 �� ���� ��	
�
��#  ���� �	 
�
 $�		���� 
� ��
��

 �
� � 	�
��� �����
� 
���	��$�# 
�� �
����� ��	
�
�� �� 
�� ����� ��

���� ����

�� ������ ��

�� 9�
� 
 �	 
�� &382�7�+ $�����
��: �	 ��
������ �	�� �	 �

�$$��,���
� ���	��� �� 
�� ��$��
 ��	
�
��� 2�� �
���� ����
	
���
��
 $��������
 �
� � 	�
��� �����
� 
���	��$� 
��	 �
�����	 �	�
� 83D+ �
� &382�7�+ $������

��	 �� 
�� �����
��� ���

 ��� ��
����
�
� �
���� �� 
�� $������ ������ ��
�����

�� ��
��� ��	 ���
 ���
� 
�  ��� ���	�
����  ��� ���� � ��	
���
�� =�
�
� �
���
��
�� �� � �)Æ# 
���� �	 � 
��� 
� �
����� =�
�
� �
��� ��$�
��
�� �
 
�� �
����
����
	
���
��
 $�������� ��� ���� �
� ��
� ������
��
 ���� � ����  ���� =�
�
� �
���
��
���

3
 ����� 
� ����� 
�� $�������
�� �� ������	 �
���� ����
	
���
��
 $��������	
��� 
�� 2��23� 
���	��$�#  � ���� ������� 
�� 	�����
�� ��
� ��	� �

� 
 � $��
	
	� 
��
 �
� $��
 ����� �� �	�� ��� $��$���
� 
�� ��
� ��� ��
��
�
� $�����
���=��
0
	 9�� 
���
�
� 
�� �77: �
� 
�� �����
�
� ��� 
�	
�
�� ?�� 	���
��
�
� ���

 
�
���

 /��
��
��
	#  ���� ��� �
����

�� $��	�

 �
 �� ��
�#  � ���� 0�	
 �������
��
)83D+� �
� )&382�7�+� �� ������
� 
���
��� 	�� ��	 �� � $��
������ �
����
�
 ������	 ���� ��	
�
�� ��
	  �
� ���� ��
 ����
� � 	�=� �� �)�� ?��
�������# �����

���




��
�� 	����
��
 ���
���� 9��=�# ����$
�
� ���

	  �
� ���� ��	
�
�� ��)�# 83D+�%)$�
�
� &382�7�+ ��
 ��
 )�� Æ 
� ���Æ: ��	 ��	� ���
 �	��  ���� $��$����		�
� 
��

���
�
� ��
� 
� �
	��� 
��
 
�� ����� �	 ����	
  �
� ��
���� $�		���� 
��
��
��

�'��
	� 3�$�	�
� � �� �� ���
� �
 
�� ���� ��	
�
�� ���$	 �
 ��A��
�
� 
�� ���

	
 ���� 	�� �� 
� 	�� �� /��
��
��
	 �
 
�� ����
 �

�
	�
� ��� �,$��
�� 
� �� ����
�����# �	 ��	
 �� 
�� ����
 �
 
��	 �����
 �	 $������� �� ����� $�
�
��
�
� $��
����	
 ��	� 
����� ��
 ���� *��
�  ������ 2�� 0
�� 
���
�
� ��
� 0�� 
��	 ��
	�	
	 ��
� 	�
��� 
����  �
� � �%) �� 	� +��� �� ��	 � �����
	  �
� �
� �����
 ����
��� �
����# )83D+�# )&382�7�+� �
� =�
�
� �
���� 3
 �	  ��
� ��

��
�
� ����

<DISTANCE >  (deg)
0.4 0.6 0.8 1.0 1.2 1.4 1.6

L
o

g
  [

<S
IZ

E
 >

(p
e)

]

1.6

1.8

2.0

2.2

2.4

2.6

2.8

3.0

3.2

3.4

3.6

1.0  TeV

1.3  TeV

20.0  TeV

1.8  TeV

3.3  TeV

2.5  TeV

15.0  TeV

4.5  TeV

6.0  TeV

11.0  TeV

8.0  TeV

<DISTANCE>   (deg)
0.2 0.4 0.6 0.8 1.0 1.2 1.4 1.6

L
o

g
 [

 <
S

IZ
E

> 
(p

e)
 ]

1.6

1.8

2.0

2.2

2.4

2.6

2.8

3.0

3.2

1.3  TeV

1.8  TeV

4.5  TeV

2.5  TeV

3.3  TeV

8.0  TeV

6.0  TeV

15.0  TeV

11.0  TeV

20.0  TeVZen. ang. =150 Zen. ang.=350
(a) (b)

?����� -��! E����
��
 �� )83D+� �	 � ��
�
��
 �� )&382�7�+� ��� �����	 ���� �
$��

 	����� �� ��'���

 �
�����	 �
 =�
�
� �
���	 �� 9�: �%Æ �
� 9�: �%Æ�


��
 ��
����� 
�� �� ��
� �	�� ��� 
���
�
� �	 	��� �	 �	�� �
 F-��(G# 
���� �	 �
	����
 ��'���
�� �
 
�� $�������� ����� �� ��� $��$���
� 
�� 
���
�
� ��
� 0��� ;	�
�
� �)#))) ���

	# � 
���
�
� ��
� 0�� �� �%) ���

	  �	 ��
���
�� �� �

��$���
�
�
)83D+� �
 )&382�7�+� �����	 �� )��)Æ# )�%)Æ ������� ���) Æ ��� ���� �
���� �
�
=�
�
� �
���� � ��$��	�

�
��� �,��$�� �� 
�� �����
��
 �� )83D+� �	 � ��
�
��

�� )&382�7�+� ��� ��'���

 $������ ����� �
�����	 �	 	�� 
 �
 ?�� -��� 3
 �	
*��
� �����

 ���� 
��	 0���� 
��
 83D+ 9 $��$��
��
�� 
� 
�� �����
��� ����
 �
 �

�����: �	 
�� ��	
 ��$��
�

 ���
��  ���� 
���	 
� ��
	������ ��� �	
���
�
� 
��

���



�
���� �� 
�� $������ ������ 8�
��# ��� � 0,�� ����� �
����# )83D+� ��	� ��$�
�	
�
 ���� ��	
�
�� 9$��$��
��
�� 
� &382�7�+ $�����
�� �� 
�� ����� ��� � $��


����� 	�����: 
�� 	���
� ���
��  ���� 
���	 
� �� ��
	������ �	 
�� &382�7�+
$�����
��� "
 ���$���
� ?�� -��� �
� ?�� -���#  ���� 	�� 
�� ��������� ��
)83D+� �
 =�
�
� �
���	 �� �%Æ �
� �%Æ# ��	$��
�����# �
� 0
�	 
��
 
�� =�
�
� �
�
��� ��$�
��
�� ��

�
 �� ��
���� �
 	�
��
��
	  ���� �  ���� =�
�
� �
��� ��������
�	 ��*������

2�� $�������
�� �� � $��
������ �
���� ����
	
���
��
 $�������� ��	 ���
 �����
��
�� �� �������
�
� 
�� ����
��� ����� �
 
�� ����
	
���
�� �
���� 9V�:# ��� �
������
��� ����� ���

	 �	�
� 
�� 
�	
 ��
� 0��� 2�� ����
��� ����� �
 
�� ����
	
���
�� �
�
���� �	 ��0
�� �	 9��/��� ��
.�:C��
.�#  ���� ��
.� �	 
�� 
��� �
���� �
� ��/�� �	 
��
�	
���
�� �
���� ������� �� 
�� �
���� ����
	
���
��
 $��������� 2�� ���
 ����� ��
9V�: �	 � ��
�
��
 �� +�
.� �
� �
���� ��	���
��
 9>9V�:: ��0
�� �	 
�� ���
 ���

	*����  ��
� �� 
�� ��	
����
��
 �� V� ��� 
�� ���
 *��

�
��	  ���� ��
 �� �	�� ���
���$���
� 
�� $�������
�� �� ������	 �
���� ����
	
���
��
 $��������	� 3
 �	  ��
�
��

��
�
� 
��
 
�� �
���� ��	���
��
# �	 	���
���	 �	
���
�� �� �������
�
� ��	
 ��
� �� 
�� ��	
����
��
 �� �
9+�
.�C+�/��: F-�%#-��(G �� �
9+�/��C+�
.�: F-���G� 2��
�
�� ���	�
 ��� �	�
� 9+�/���+�
.�:C+�
.� �
 
��	  ��� �	 ����
	
 �
9+�/��C+�
.�: �	

� ����� � ���� 	
�
���� �
�  ����� ����$
�� ��0
�
��
 �� �
���� ��	���
��
 F-��%G�
7����
����		# �
 ��
 �� ��	��� 	�� 
 
��
 9+�/���+�
.�:C+�
.� � �
9+�/��C+�
.�:�

"�� ��
��

��
� �
���� ����
	
���
��
 ��
���	

)�!�� +���������5�� /� ���� �=4,�0"% �	� 4=?% �� �����
�����

2�� 0�	
 �
���� �	
���
��
 $��������  ���� ��	 ���
 	
����� ���� �	 ��	�� �
 
��
�$$����� ����� �� �� J��$$�� ����$ F-�%#-�.G#  ���� �
9+�/��: �	 �,$��		�� �	 �
$���
����� �
 �
983D+: �
� &382�7�+� 2�� �$$����� �		���	 
��
# ��� � $��


����� 	�����# &382�7�+ $�����
�� �� 
�� ����� $������	 �
 �$$��,���
� ���	���
�� 
�� ���� ��	
�
��� 2�� ������
� �� 
��	 �		��$
��
 ��	 ��	� ���
 ������� ��� 
��
2��23� 
���	��$� 	�����
��
 ��
� �
� 
�� ��	��
	 �� 
�� 	��� ��� $��	�

�� �
 ?��
-���

2�� ��
� �	�� �
 
��	 0���� ��	 ���
 ��
���
�� �� ������
� 
���
��� 	�� ��	 �� �
$��
������ �
���� �
 ������	 ���� ��	
�
�� ��
	  �
� ���� ��
 ����
� � 	�=� �� �)� �
�
0
��
� )&382�7�+� ��� ���� ���� ��	
�
�� ��
� ��
����� � 	
��
� �������
��

��
 ��
 ���� ��	
�
�� �
� )&382�7�+� �	 ������� ��	���� �
 ?�� -��# �
 �	  ��
�
��

��
�
� ���� 
��
 &382�7�+ $�����
�� �� � �����
��� ����� $������� �� �

�
�������� 	�� �� �	 ��	� ��$�
��

 �
 
�� �����
 �� 
�� 	�� �� ��,���� F-��-G�
8�
�� ��� � 	�
��� 
���	��$� �
 �	 ��$�		���� 
� ��
����
� 	�$���
��� 
�� ���� ��	
�
��
�
� �����
 �� 	�� �� ��,���� �
 �
 ���

 
� ���

 ��	�	# ��
��
�
� �
 �$$��,���
�
���	��� �� 
�� ���� ��	
�
�� �
 
�� ��	�	 �� &382�7�+ $�����
�� 	���	 
� �� 
��

���



0 50 100 150 200 250
0.2

0.4

0.6

0.8

1.0

1.2

1.4

1.6

1.8

Core distance (m)
0 50 100 150 200 250

<D
IS

T
A

N
C

E
> 

  (
 d

eg
)

0.4

0.6

0.8

1.0

1.2

1.4

1.6

1.8

2.0

2.2

4.5  TeV

20.0  TeV

1.0  TeV

20.0  TeV

4.5  TeV

11.0  TeV

Zen. ang. =150

Core distance (m)

<D
IS

T
A

N
C

E
> 

 (
 d

eg
)

Zen. ang. =350

11.0  TeV

(a) (b)

?����� -��! E����
��
 �� )&382�7�+� �	 � ��
�
��
 �� ���� ��	
�
�� ��� �����	 ��
������	 �
�����	 ���� � $��

 	����� �
 =�
�
� �
���	 �� 9�: �%Æ �
� 9�:�%Æ�

�
�� ������ 	���
��
� 3�
���
� =�
�
� �
��� ��$�
��
�� �
� ����� �
� 
�� J��$$��
$��������# +�/��# ��	�� �
 ����� 83D+ 98: �
� &382�7�+ 9&: �	 �������
�� ��
�	�
� 
�� ����� �
� ����
��



�9��/��: L �� O ��
�9
: O ��9
�9
::
� O �	99�: O �
99�:9 9-��:

����	�
� 9�L��))
Æ# 
�� �����	 �� ��# ��# ��# �	99�: �
� �
99�:# ��
��
�� ��
��

0

�
� �*��
��
 9�: 
� 
�� 
���
�
� ��
� 0�� �
 =�
�
� �
��� �� �%Æ# ��� ��
����
��

� �� 
�� ����� �
� ! �� � ���66�)# �� � )�.���# �� � )�))�%# �	99 � 9�: � �)��))%#
�
99 � 9�: � )���(%# �	99 � 9�: � ���-.-- �
� �
99 � 9�: � ��.�()� J���� 
��
0�	
 � 
���	 �
 
�� ����� �*��
��
 �	� 
�� ���
 
��
 
�
�� �

�
	�
� �� �
 ����� �	
������� $��$��
��
�� 
� 
�� �
���� �� 
�� $������# 
�� �����
�
� � 
���	 ������

��	 ����
��
	��$ �� �
�����
� 
�� ��$�
��
�� �
 
�� ���� ��	
�
�� ��	�� � $��
 ��
����
��� ����� �
 
�� �
���� ����
	
���
��
 ��
��
�� ��� 
�	
 ��
� 	��$�� �
 =�
�
�
�
��� �%Æ �	 	�� 
 �
 ?�� -����

2�� �����	$�
��
� ����
��� ����� �
 
�� ����
	
���
�� �
���� 9V�: ��� =�
�
�
�
��� �� �%Æ �
� �%Æ �	 ��	� 	�� 
 �
 9�: �
� 9�: �� =�
�
� �
��� ��$�
��
�� �	
��
���� �
� 0
 ���Æ���

	 ��
��
�� �
 =�
�
� �
��� �� �%Æ ��� �	�� �	 	��� �
 
��

���



 Etrue( TeV)
1 10

( 
E

es
tm

-E
tr

u
e)

/E
tr

u
e

-0.8

-0.6

-0.4

-0.2

0.0

0.2

0.4

0.6

0.8

1 10
-1.0

-0.5

0.0

0.5

1.0

 Etrue( TeV)

( 
E

es
tm

-E
tr

u
e)

/E
tr

u
e

( 
E

es
tm

-E
tr

u
e)

/E
tr

u
e

1 10
-1.0

-0.5

0.0

0.5

1.0

 Etrue( TeV)

Zen. ang= 250

Zen. ang= 350

Zen. ang= 150

(b)

(c)

(a)

?����� -��! 9�: ����
��� ���
 ����� �
 
�� ����
	
���
�� �
���� 9V� L 9+�/���
+�
.�:C+�
.� : �	 � ��
�
��
 �� �
���� ��� =�
�
� �
��� �� �%

Æ �	�
� 
�� �
���� �	�

���
��
 $�������� ����
 �� �*��
��
 9-��:� ����
��� ���
 ����� �
 
�� �	
���
��
�
���� �	 � ��
�
��
 �� �
���� ��� =�
�
� �
���	 �� 9�: �%Æ �
� 9�: �%Æ �� =�
�
� �
���
��$�
��
�� �	 ��
���� �
 
�� �
���� ����
	
���
��
 $���������

�
���� ����
	
���
��
 $�������� �
 
�� �
��� 
 � =�
�
� �
���	 ��	�� ��
����� 
��
�
���� ����
	
���
��
 $�������� �����	 >9V�: ��6K ��� 
�� ��
� 	�� 
 �
 ?�� -���#
$��	�
�� �� � 	�	
���
�� ���	 	��
 �
 ?�� -��� �
� ?�� -��� 9� �) K �
� � ��. K �

=�
�
� �
���	 �� �%Æ �
� �%Æ# ��	$��
�����: 	����	
	 
��
 
���� �	 � 
��� 
� �
�����
=�
�
� �
��� ��$�
��
�� �
 
�� �
���� ����
	
���
��
 $�������� ��� ���� �
� ��
�
������
��
 ���� � ����  ���� =�
�
� �
��� ��
���

)�!�� +���������5�� /� ���� �=4,�0"%� 4=?% �	� 5�	���
�	��� �� ���������

3
�����
� 
�� =�
�
� �
��� 9=: ��$�
��
��# �
 
�� �
���� ��
	
���
��
 $��������#
��
 �� �
 $��
��$�� ��$����

�� �� ����
� �
� �� ���� =�
�
� �
��� ��$�
��



���	 
� �*��
��
 9-��:� 2�� ��
��� ����� �� ���� �	�	 �����
�� ���� F-��.G �
�
��$���	 
�� ����� �
� ����
��
 ��� �	
���
�
� 
�� �
�����

��%




�9��/��: L �$) O ��
�9
: O ��
�

�9
: O ��9
�9
::

� O �	,���9=: O �
9 9-��:

2�� �����	 �� 
�� ��
	
�

	 ��
�� 0

�
� �*��
��
 9�: 
� 
�� 
���
�
� ��
� 0�� �

��� 
�� % =�
�
� �
���	 9��� % Æ# �%Æ# �% Æ# �%Æ �
� �%Æ: 
���
��� ��� ���
� ��
 
� ��
����� �
� ! �� � ��))%�# �� � �(�.6��# �� � �)��)�(# �	 � ���%�) �
� �
 � )�.6���
4��
 �� ����
��� ����� �
 
�� �	
���
�� �
���� �	 � ��
�
��
 �� �
���� ��� 
�� 
�	

��
� 	��$�� �
 ��� % =�
�
� �
���	 �	 	�� 
 �
 ?�� -����

 Etrue( TeV)
1 10

( 
E

es
tm

-E
tr

u
e)

/E
tr

u
e

-0.8

-0.6

-0.4

-0.2

0.0

0.2

0.4

0.6

0.8

-1.0 -0.5 0.0 0.5 1.0

F
re

rq
u

en
cy

  (
 %

)

0

2

4

6

8

10

12

14

16

Mean =  0.052
Sigma= 0.278

( Eestm-Etrue)/Etrue

(a) (b)

?����� -��! 9�: ����
��� ���
 ����� �
 
�� ����
	
���
�� �
���� 9V� L 9+�/���
+�
.�:C+�
.� : �	 � ��
�
��
 �� �
���� ��� 
�� �
���� �	
���
��
 $�������� ����
 ��
�*��
��
 9-��:� 9�: ?��*��
�� ��	
����
��
 �� V� ���
�  �
� � ��	
 0
 ���		��

��	
����
��
 
� 
�� ��
��

?��*��
�� ��	
����
��
 �� V� �� ��
	�����
� ����	
 �*��� 
����� �� 	�� ��	
�
 ��'���

 �
�����	 �	 	�� 
 �
 ?�� -���� 2�� ���
 ���
 	*����  ��
� �� 
��
��	
����
��
 �	 � �� K �
� 
�� 	��� ��� 
�� 0

�� ���		��
 ��	
����
��
 �	 � �6
K� 8�	
���
�� ���	 �
 ��� �
�����	 9�.K �
 
�� �
���� ��
�� ��62�E 
� �%�)2�E:
�	 ��	� 	��
 �
 ?�����  ���� 	����	
	 
��
 ��
��� =�
�
� �
��� ��$�
��
�� �
 
��
�
���� ����
	
���
��
 $�������� �	 $������� ���� ���$����
�� 
��
  ��
 ��	 ���

��
	������ �
 �*��
��
 9-��:� �
 ��$������

 �
 
�� �
���� ��	���
��
 ��	 ���


��-



��$��
�� �
 F-��.G �� �
�����
� �
 ����
��
�� $�����
�� ������ 1+�<��+ 9 ��0
��
�	 
�� ��
�� �� ����
 ��

�

 �
 
�� ���� $�,��	 
� 
�
�� ����
 ��

�

 �� 83D+: �

�*��
��
 9-��:# 
� ���$�
	�
� ��� ������� �'��
	 �
 
�� ����
����� 	���� 9� �Æ �����
�
�� : >+��� �2� ������� 8�
�� 
�� 2��23� 
���	��$� �	�	 � ������ ����� ������
9� -Æ �����
��:  � �� 
�
 �,$��
 
�� �
���� ��	���
��
 
� ��$���� �� 1+�<��+
$�����
�� �	 ��	� �	��� >� ����# �
 �

��$
 
� ������ 
�� 	�	
���
�� ���	  �	
��	� 
���� �� �	�
� � 
�
��
��� �����  �
� � ���� =�
�
� �
��� ��$�
��

 
���	
9 ��=�# &C��	9=: �
� & �
98:C��	9=:: �
 �*��
��
 9-��:# ��
 
�� ��$������

  �	
���
� 
� �� �
�� �����
��� 3
 �	  ��
� ��

��
�
� ���� 
��
  ���� 
�� ��
��� ��
���	
 	*����	 ��
�
 ����	 �$
���� �	
���
�	 �� 
�� �
�
� 
 $�����
��	# �
 �	 ����
	�
	�
��� 
� 
�� $��	�
�� �� �
�	��� ��
� $��

	 �
 
�� ��
� �	�� 
� 0
 � ������ "
�
�� 
 � ��
����	 ��
 	���
���	 	�����	�� 	�� 
�� ��	��
	 �� � ���	
 	*����	 �
���	�	�

)�!�! <��#��� ����� ������ ���	� �	����������	 �	 ! ����	�
���	�

2�� 
���� �
���� ����
	
���
��
 ��
���  ���� ��	 ���
 	
����� ���� �	 ��	�� �
 
��
������$ 
���� ��
���� 2��	 ��
��� ��	 ���
 �	�� *��
� �,
�
	����� �� 
�� >+���
���������
��
 F-��-G� ��
����� 
�� ��
���  �	 �����
���� ������$�� ��� 
�� >+���
	
����	��$�� �����#  � �		�

����� ����� 
�� 	��� $��
��$�� ����� 3
 
��	 ��
���#
 � ��
���
� 
�� 0
� ���� ������$ 
���� �� �	�
� 
�� 
���
�
� ��
� 0��� 2��	 �	 ��
�
�� �

��$���
�
� 
�� �,$��
�� )83D+� �
 0
�� �

�����	 �� &382�7�+# �
���� �
�
=�
�
� �
���� 2�� 
�
�� 
����� �� �

��$���
�� 83D+ �����	# �
 � $��
������ =�
�
�
�
���# ���$��	� ��))) �����	  �
� &382�7�+ $�����
�� ��
��
� ���� )�� Æ 
�
���Æ �
� �
���� �����	 ��
��
� ���� � )�.� 2�E 
� � �) 2�E� 3
 ����� 
� $������
�

��$���
��
 �
 =�
�
� �
���# ( ��'���

 ��
� 0��	 ��� $��$���� �
 %Æ �

����� �
 
��
=�
�
� �
��� ��
�� ���� % Æ 
� �%Æ� J���� 
�� ����� �

��$���
�� ��
� ��	 ���

��
��
�� �� 0

�
� $���
����� �����	 �� ����� � 
� 
�� ����
 ��
� $��

	# 0
�� �
����
�	
���
��
 �� �
 ���

# �
 
�� ��	�	 �� �
	 83D+# &382�7�+ �
� =�
�
� �
���# �	�	
�
�� ��
��� �

��$���
��
� 4��
 �� 
�� ����
��� ���
 ����� �
 
�� ����
	
���
�� �
����
9V�: �	 � ��
�
��
 �� �
���� ��� 
�	
 ��
� 	��$�� �
 ��� 
�� % =�
�
� �
���	 �	 	�� 

�
 ?�� -�%�� 2�� ���*��
�� ��	
����
��
 �� V� �	 	�� 
 �
 ?�� -�%��

3
 �	 *��
� �����

 ���� ?�� -�%� 
��
# �����
� �
���� �����	 �
 ��) 2�E# ��� 2�E
�
� �)�) 2�E  ���� �V�� �	 ���
� 
� �� �%�) K# 
�� ����
	
���
�� �
���� ��	 �

��������� ���	 �
 �
��� �
���� �����	 ���� ��6 2�E 
� �%�) 2�E� 2�� ��	  ��
� ��

�� ���*��
�� ��	
����
��
 �	 ���
� 
� �� � �.K �
� 
�� ��	  ��
� �� 
�� 0

��
���		��
 ��	
����
��
 �	 � ��K� 3
 �	 ��$��
�

 
� ��

��
 ���� 
��
 � $�	�
��� ���	
	��
 �
 
�� ����
��� ���
 ����� 9?��-���# ?�� -��� �
� ?�� -�%�: �
 �
���� �����	 ��
��) 2�E �
� ��� 2�E �	 �����	� �� 
��  ��� �
� 
 	����
��
 �'��
 F-��-G �
� �	 ���

� 	���
���	���� ������ ���

 
������	 �����	� �� 
���� �$ ��� /��
��
��
	 �
 
��
����
 ����� 	���
���	� 8�
�� ���

	  �
� �� 
 ��� /��
��
��
	 �
 
�� ����
 �����
��� �
���� 
� 
������ 
�� 	�	
�� �
 
��	 �
���� ��
��# 
�� �
���� �	
���
�	 
�
� 
�

��.



 Etrue( TeV)
1 10

( 
E

es
tm

-E
tr

u
e)

/E
tr

u
e

-0.8

-0.6

-0.4

-0.2

0.0

0.2

0.4

0.6

0.8

-1.0 -0.5 0.0 0.5 1.0

F
re

rq
u

en
cy

  (
 %

)
0

2

4

6

8

10

12

14

16

18

20

Mean =  -0.043
Sigma=  0.242

( Eestm-Etrue)/Etrue

?����� -�%! 9�: ����
��� ���
 ����� �
 
�� ����
	
���
�� �
���� 9V� L 9+�/���
+�
.�:C+�
.� : �	 � ��
�
��
 �� �
���� ��� 
�� ������$ 
���� ��	�� �
���� �	
���
��

$��������� 9�: ?��*��
�� ��	
����
��
 �� V� ���
�  �
� � ��	
 0
 ���		��
 ��	
���
��
��
 
� 
�� ��	
������

�� ���	�� 
� ���	 ������ �����	�

"�� 7
���� ����
	
���
��
 �	�
� �//

)�'�� ,���	�	� �
 ��� 	�����#

�	 ������� ��	��		�� 
�� 
�
 ��� ��*����	 �
 ���	
 
 � �����	# �
 �
$�
 ����� �
�
�
 ��
$�
 ������ 3
 ����
��
# 
�� 
�
 ��� ��
 �
����� �
� 
����� �� �����
 �����	
 �
� �
� 
����� �� �����
 
���	 �
 ���� ������ 2�� 	��
�� ���� 
�� �
$�
 ���
��
$��$���
�	 
������ 
�� 
�
 ��� ����� �� ����� 
��� 
�� ��
$�
 ����� �	 �������� 2��
��
$�
 ���
�� ��$��	�

	 
�� $�����
�� ��
$�
 �� 
�� �77 �
� ��	 � 
��� ��� ����
�������� 
��
 �	 ���
� $�����
���

2�� �		�
�� �� 
�� 
���
�
� $����		 �	 
� �
���
����� ������ 
�� ����� ��
 ��
 
��
$�����
�� ����� �
� 
�� 
����
 ������ J���� 
�� ������ �� �	�
� � $��
������ �����
��
�
��
 �	 $������ ��$�
��

# 
���� �	 
�  ��� ��0
�� ���� ��� ����	�
� 
�� ��	


��6



	��
���� ����� ��
�
��
� J� ���� �	�� 
�� ���
����
�	*����� ����� 9
������=��:
6�
 F-��6G �
 
��	  ���  ���� �	 ��0
�� �	 !

6�
 L
�

�8

�����

�

��
���

&�
���

�
9�� �0��

9��

��

9-��:

 ���� &�� �
� "�� ��� 
�� ��	���� �
� 
�� ��	����� �����	 �
� 4 �	 
�����
�� 
���
�
� $�

��
	� 2�� ����� ���� ��$��
	 
�� �������� �� 
�� 
����� 
�
 ���
��$$�
� ��
�� � 
����� �� 
���
�
� �����	 ���� ���
 ��$����

���

����
 
�� �
����

 $� �� �� ��
�0���� 7����� 7�
 ��� 9�77: 
� �'��
�����
��
��� 
�� ���
������
� ��
� 0

�
�#  � ���� ������$�� �
 �77���	�� �
���� �	
��
��
��
 $�������� ��� ��
����
�
� 
�� �
���� �� 
�� $������ ����� �
 
�� ��	�	 ��
�
	 ����� 83D+# &382�7�+ �
� =�
�
� �
���� 2�� $�������� ����� �� �� �	 �	�	
� �!�)!� 9��� � 
���	 �
 
�� �
$�
 �����# �) 
���	 �
 �����
 ����� �
� � 
��� �


�� ��
$�
 �����: ��
0����
��
 �� 
�� �77  �
� ��	����

 ���� $��$���
��
 
���
�
�
������
�� F-��(G 
� �	
���
� 
�� �
���� �� � ����� ���

 �
 
�� ��	�	 �� �
	 �����
83D+# &382�7�+ �
� =�
�
� �
���� 2�� � 
���	 �
 
�� �
$�
 ����� �����	$�
� 
�
=�
�
� �
���# 83D+ �
� &382�7�+#  ���� 
�� � 
��� �
 
�� ��
$�
 ����� ��$���
	�

	 
�� �,$��
�� �
���� 9�
 2�E: �� 
�� ���

� �	 ������� ��

��
�� �������# 
��

���
�
� ��
� ���$��	�	 � �%) ���

	  ���� )83D+� �
� )&382�7�+ � ��� 0�	

��
��
�� �
 ���� =�
�
� �
��� �� ������
� 
���
��� 	�� ��	 �� � $��
������ �
����
�
 ������	 ���� ��	
�
�� ��
	� �$��
 ���� ������
� 
�� 
���
�
� ��
� ��	�# ����� �
�
� 
��	 ��
��� ��	� ����	 �77 
���
�
� 	��$��� ��� �������
� 
�� ��	���� ����� ��
��
�����
�� �
 � ���	�
���� ����

 �� 
���� 2�� ��
���
��
 ��
�
��
 ���	�
 ��� 
��
$��	�

 	
��� �	 
�� 	������ ��
�
��
� 3
 ����� 
� �$
���=� 
�� 
����� �� 
���	
��*����� �
 
�� �����
 �����#  � ��	� ������ 
�� 
����� �� 
�� 
���	 �
 
�� �����

����� ���� % 
� -) �
 	
�$	 �� %� � $��
 �� 
�� 
������	�� ��	 ����� �	 � ��
�
��
 ��

����� �� 
���	 �
 
�� �����
 ����� �	 	�� 
 �
 ?�� -�-��

8�
�� �
����	�
� 
�� 
����� �� 
���	 ����
� �) ��	��
	 �
 �
�� � �����
��
�����
��
 �
 
�� 
������	�� ��	 ����� 9�
 
�� ��	
 �� ��
��� ���$�
�
��
 
���:# �

	���	 �
� �����
 �����  �
� �) 
���	 �	 *��
� �$
����� 2�� 
������	�� ��	 �����
�
 
�� �
� �� 
�� 
���
�
�# ��� �) 
���	 �
 
�� �����
 �����# ������	 � ����� ��
� �)�� �
� �����
��
 �� 
�� 	��� �	 � ��
�
��
 �� 
����� �� �
���
��
	 �	 	�� 

�
 ?�� -�-�� 3
 �	  ��
� ��

��
�
� ���� 
��
 � 
������	�� ��	 ����� �� ���. �
�) ��  �	 �������� �
 ��� $������	  ��� F-��(G �
� 
�� ��$������

 	��
 �
 
��
$��	�

  ��� �	 �	 � ��	��
 �� �	�
� ���� ��
� ����
� �77 
���
�
�� 3
 ����� 
�
�
	��� 
��
 
�� 
�
 ��� ��	 
�
 ������ H�����
���
��I F-��)G# 
�� �77 
���
�
� �	
	
�$$��  ��
 
�� 
������	�� ��	 ����� 	
�$	 ������	�
� �
� ���
��� 9	��� ����
����
� 6))) �
���
��
	:�

��(



Number of  nodes in Hidden  layer

10 20 30 40 50 60

N
o

rm
al

is
ed

  r
m

s 
 e

rr
o

r

10-3

10-2

10-1

Number  of  iterations

2000 4000 6000 8000 10000

N
o

rm
al

is
ed

  r
m

s 
 e

rr
o

r

10-3

10-2

10-1

100

(a) (b)

?����� -�-! 9�: 7������	�� ���
 ���
 	*���� ����� �	 � ��
�
��
 �� 
����� �� 
���	
�
 
�� �����
 ������ 9�: 7������	�� ���
 ���
 	*���� ����� �	 � ��
�
��
 �� 
�����
�� �
���
��
	 ��� �) 
���	 �
 
�� �����
 ������

)�'�� ,����	� �	� ���������	 �
 ��� �00

2�� �77 �	 
�	
��  �
� 
 � ��
� 	��$��	� 2�� 0�	
 ��
� 	��$�� ���$��	�	 �)#))) ��
��� �����	 9 ����  �	 ������� �	�� ��� �������
�
� ���
 83D+ �
� ���
 &382�7�+
 ���� $��$���
� 
�� 
���
�
� ��
� 	�
:� 2�� 	���
� ��
� 	��$�� ���$��	�	 ��#)))
����� �����	  ����  ��� 
�
 �	�� �
 ���  ���� $��$���
� 
�� 
���
�
� ��
� 	�
� 5�
�

��	� ��
� 	��$��	 ������� 	������ �
���� ����
	
���
��
 ����� $��
	# 
��	 �
����
�
�

��
 �77 ��	 U����
��U �
� 
�
 U����������U 
�� �
���� ����
	
���
��
 $��������

������ �����
���
�
� F-��)G� 4��
 �� �
���� ����
	
���
��
 ����� ��
��
�� ��� 	���
�

�	
 ��
� 	��$�� �	 	�� 
 �
 ?�� -�.�� 2�� ���*��
�� ��	
����
��
 �� V� �	 	�� 

�
 ?�� -�.��

3
 �	 �����

 ���� ?�� -�.� 
��
# 
�� ����
	
���
�� �
����# ��$����
� 
�� �77
��
���# ��	 � 
��������� ���	 �
 
�� �
���� ��
�� ��6 2�E 
� �)�) 2�E  �
� � V�

� ) %�) K� 2�� ��	  ��
� �� 
�� ���*��
�� ��	
����
��
 �	 ���
� 
� �� ��-K �
�

�� 	��� ��� ��	
 0
 ���		��
 ��	
����
��
 �	 ���K�

2�� �

��$���
��
 ��$�����
� �� 
�� �77���	�� �
���� ����
	
���
��
 $��������#
�
 �

�������
� ����� �
�����	 �
� =�
�
� �
���	# ��	 ��	� ���
 ������� �� �$$���
�

�%)



 Etrue( TeV)
1 10

( 
E

es
tm

-E
tr

u
e)

/E
tr

u
e

-0.8

-0.6

-0.4

-0.2

0.0

0.2

0.4

0.6

0.8

-1.0 -0.5 0.0 0.5 1.0

F
re

rq
u

en
cy

  (
 %

)
0

2

4

6

8

10

12

14

16

18

Mean =  -0.038
Sigma=  0.220

( Eestm-Etrue)/Etrue

(a) (b)

?����� -�.! 9�: ����
��� ���
 ����� �
 
�� ����
	
���
�� �
���� 9V� L 9+�/���
+�
.�:C+�
.� : �	 � ��
�
��
 �� �
���� ��� 
�� �77� ��	�� �
���� �	
���
��
 $�����
����� 9�: ?��*��
�� ��	
����
��
 �� V� ���
�  �
� � ��	
 0
 ���		��
 ��	
����
��


� 
�� ��	
������

�
 
� �
 �
��$�
��

 ������
��
 ��
� ��	� �� �))) 	�� ��	� 2�� �
���� �� 
��
$������ �����	  �	 ���	�
 
� �� ��� 2�E# ��� 2�E# %�� 2�E �
� (�% 2�E �
 =�
�
�
�
���	 �� �)Æ �
� �)Æ# �
� ��� 2�E# %�� 2�E# (�% 2�E �
� �.�) 2�E �
 =�
�
�
�
���	 �� �)Æ �
� �)Æ� 8�
�� 
� 	�����
�� ��
� �
 
��	� =�
�
� �
���	 �
� �
�����	
 �	 �	�� ����
� 
���
�
� �� 
�� �77# 
�� ��	��
	 ��
��
�� 
� �
 
�� ������
��

��
� ������	�� �
����
� 
�� �

��$���
��
 ��$�����
� �� 
�� �77� � $��
 �� �
����
����
	
���
��
 ����� ��
��
�� ��� 
�� ������
��
 ��
� 	��$�� �	 	�� 
 �
 ?�� -�6��
2�� ���*��
�� ��	
����
��
 �� V� ���
�  �
� � ��	
 0
 ���		��
 ��	
����
��
 
� 
��
��	
����� �	 	�� 
 �
 ?�� -�6��

2�� ��	  ��
� �� 
�� ��	
 0
 ���		��
 ��	
����
��
 ��� 
�� 
�	
 �
� ������
��

��
� 9� ��K �
� � �-K# ��	$��
�����:#  �
� � 
��������� ���	 �
 
�� �
���� 	���
��	
	 
��
 
�� $�������
�� �� 
�� �77���	�� ��
��� ��� �
���� ����
	
���
��
 �	
*��
� ��������� 2���
� ������ �� 
�� 
 � >9V�: �����	 9 ��� >9V�: � �-K: �	 �
	��� ����� �� 
�� �
���� ��	���
��
 �������� �� 
�� �77���	�� ��� �
���� ����
�
	
���
��
 $��������# �
� ��
 ��	��� ��
����� 
��
 
�� $��$�	�� ��
���# �$��
 ����

�%�



 Etrue( TeV)
1 10

( 
E

es
tm

-E
tr

u
e)

/E
tr

u
e

-0.8

-0.6

-0.4

-0.2

0.0

0.2

0.4

0.6

0.8

-1.0 -0.5 0.0 0.5 1.0

F
re

rq
u

en
cy

  (
 %

)
0

2

4

6

8

10

12

14

16

18

Mean =  0.054

Sigma=  0.255

( Eestm-Etrue)/Etrue

(a) (b)

?����� -�6! 9�: ����
��� ���
 ����� �
 
�� ����
	
���
�� �
���� 9V� L 9+�/���
+�
.�:C+�
.� : �	 � ��
�
��
 �� �
���� ��� 
�� �77� ��	�� �
���� �	
���
��
 $�����
����  ��
 �$$���� 
� � ������
��
 ��
� 	��$��� 9�: ?��*��
�� ��	
����
��
 �� V�

���
�  �
� � ��	
 0
 ���		��
 ��	
����
��
 
� 
�� ��	
������

������
� � ���$������ $�������
�� 
� 
��
 �� �
��� 	�
��� �����
� 
���	��$�	 9 ����
>9�
 +: �� � �%K ��$��
�� �� 
�� J��$$�� ����$ F-�.G:# ��	 
�� ����� ����

���

��
 �
 ��
	����	 =�
�
� �
��� ��$�
��
�� �� 83D+ �
� &382�7�+ $�����
��	 �	
 ���� 2�� $�������� 
��	 ���� 	 ��
� ������
��
 ���� � ����  ���� =�
�
� �
���
��
�� �	 ����
	
 � �������� �� �$
� �)Æ �
 ��	� 
�� =�
�
� �
��� ��$�
��
�� �	 
�
�� ��
����� "
 �
���=�
� ?�����	 -��# -��# -�% �
� -�.# �
 �	 ��	� ������	 
��
 
��
�77���	�� �
���� ����
	
���
��
 $�������� �����	 ��

�� ��	��
	 9��
� �
 
���	 ��
���	 �
� �
���� ��	���
��
: �	 ���$���� 
� 
�� ��
��

��
�� �
���� ����
	
���
��

��
���	� +��
 
����� 
�� ������$ 
���� ��	�� �
���� ����
	
���
��
 $��������
�$$���	 
� �� �*����� ���$�
�
��� �
 	�'��	 ���� �
��� ��� ����	� 3�$����

�
��

�� 
��	 ��
��� ��*����	 ������	��� 
�����
��
 �� �

��$���
�� ��
� �
 � 
����� ��
&382�7�+# �
���� �
� =�
�
� �
��� �����	 �
� �
���� ����
	
���
��
 $��������
�	 ��	� ���� 
��� ��
	���
� �	 ���$���� 
� 
�� �77 ��
���� 3�$����

�
��
 ��

�� �77���	�� �
���� ����
	
���
��
 $��������# �
 
�� �
��� ��
�# �	 ����
�����
���� ���� 	
����

 ��� ���� "
�� 	�
�	���
��� 
���
�
� �� 
�� �77 �	 ��������#

�%�




�� �����	$�
��
� �77 ��
���
��  ����
�0�� ��
 �� ��	��� �	�� �� �
 �$$��$���
�
� 	�����
�
� �� 
�� ���
 ��
� �
���	�	 $������ ��� ��
����
�
� 
�� �
���� ��
����� ���� ���

	� ;	� �� � ������
�� �77 	��
 ��� $������ �	 
��	 
���		��� �
��
����
� 
�� 
���
�
� �� 
�� �77� >�
��# ���$���� 
� 
�� ��
��

��
�� ��
���	#

�� �77���	�� �
���� ����
	
���
��
 $�������� �'��	 	������ ����

���	 ���� ����
	�
���� ���� �
���� ��	���
��
# �$$��������
� ���� �  ���� =�
�
� �
��� ��
�� �
�
��$����

�
��
 ��	��

"�� 7
���� 	���
��� �! 
�� ���� /��� � �	 ����

	���� �� 
�� )��)*� 
� �	����

3
 ����� 
� 
�	
 
�� ������
� �� 
�� �77���	�� �
���� �	
���
��
 $��������#  �
���� �$$���� 
��	 $�������� ��� ��
����
�
� 
�� �
���� 	$��
��� �� 
�� ���� 7���
���� ?�� 
��	 $��$�	�  � ���
���=�� 
�� ���� 7����� ��
� ������
�� �� 
�� 2��23�
�����
� 
���	��$� ��� ��)���� � ����
� 7��� �)# �))% � R�
� �)# �))-� 2�� =�
�
�
�
��� �� 
�� ��	����
��
	  �	 ��%Æ� 2�� ��
� ��	 ���
 ������
��  �
� �

�� ��%
$�,��	 9� ��%Æ � ��%Æ: �� 
�� ���� �����
� ������  �
� 
�� �

����	
 ��� $�,��	 9�
���Æ � ���Æ: $��
���$�
�
� �
 
�� 
������� 2�� ��
� �������� �� 
�� 
���	��$�  �	
������
�� ��� �

���$�,�� ���
 �����
��
 �
� 
��
 	��A��
�� 
� 
�� 	
�
���� 
 �������
����� I����
�
�I $��������  �
� $��
��� �
� ���
���� 
���	����	 �� -�%> �
� ��)>#
��	$��
������ 2�� ����
 �����
��� �����	  ��� ������
���=�� �� �������
�
� 
����
	
�
���� ����� $�����
��	 ���� 1+7�2># J3&2># &382�7�+# �14>�# 83D+
�
� ?���� F-����-���G� 5����� ��
����
�
� 
�� �
���� 	$��
���# 
�� �������


��
 ��
 
�� $�����
��
	 ���� ��

� ����� 	�����
��
	 �
� 
�� ��
��� $�������
��
�� 
�� 
���	��$� ��	 ���
 �������� 2��	 �	 ��
� �� ���$���
� 
�� ��	����� 
������
��
� �� 
�� 
���	��$�  �
� 
�� $�����
�� ����� �
� �� ���$���
� 
�� �,$��
�� �
�
��	����� ����� $�����
�� ��	
����
��
	 ��� $��
�
	 F-���G� ���	�
���� ���� ��
���
�
� �	 	��
 ��
 ��
 
�� �,$�����

���� ��	����� *��

�
��	 �
� 
��	� $�����
�� ��
	�����
��
	�

2�� 	
�
���� &�
���� 8�$����
	 $�������� F-�%#-��(G �	 �	�� 
� 	�$���
� ��
��� ���� �����	 ���� 
�� ��������
� ��	�������	� 2�� &�
���� 8�$����
	 �����
	����
��
 ���
���� �	�� �
 
�� $��	�

 �
���	�	 ��� 	����
�� ��		 
���
 
��
 
�� �
�	 �	��
�� �	 �
 ��� �������  ��� F-���#-���G �	 
�� ���
 ��� ���� �	 
� �
����	� 
�� 
�����
�� ����� ���� ���

	  �
� �
�� � �����
�� ��		 �� 	
�
�	
���� 	��
�0��
��� 2�� 
� 
��
 �����	 �	�� ��� 
�� $��	�

 �
���	�	 ��� 
�� ����� �
� ! )$��Æ � 7�#��� �
9)$�-) O )$)�-% � �

:Æ# )$)-Æ � :89�� � 9)$��) O )$)��) � �

:Æ# )$%�Æ �
98
�*#�� � �$�.Æ�������=# 
8<� � �%)�$� 9  ���� -�% ����
�� ���

	���) $�
:# *7��* � �6Æ �
� 56*�� � )$�%� 2�� 
����� �� ����� ���

	 ��
��
��
��
�� �$$���
� 
�� ����� ��
	 ��� ��
����
�� 
� �� �9(�6��)):  �
� � 	
�
�	
����
	��
�0��
�� �� �(��)>� &�0
�
� *7��* � �6Æ �	 
�� ����� �����
 �
� �.Æ �
*7��* � 6�Æ �	 
�� ��������
� �����
# 
�� 
����� �� ����� ���

	 ���� ���


�%�



�������
�� �� 	��
���
�
� 
�� �,$��
�� 
����� �� ��������
� ���

	 9�������
�� �


�� ��	�	 �� ��������
� �����
: ���� 
�� ����� �����
 ���

	�

2�� ��'���

��� $��
�
 /�, $�� �
���� ��
 ��	 ���
 ���$�
�� �	�
� 
�� �������

�X

��
9��: L

V#�

V��


�
#��

*�!#/�!#�#

9-��:

 ���� V#� �
� �X9��:,�� ��� 
�� 
����� �� ���

	 �
� 
�� ��'���

��� /�,
�
 �
���� ��# ���	���� �
 
�� �
� �
���� ��
 V�� �
� ���� 
�� =�
�
� �
��� ��
��
�� )Æ��%Æ# ��	$��
������ �# �	 
�� ��	����
��
 
��� �
 
�� A
� =�
�
� �
��� ��
  �
�
�����	$�
��
� �
�������$�
��

 �'��
��� ���� 9*�!#: �
� ����� ����$
�
�� 9/�!#:�
2�� % =�
�
� �
��� ��
	 9AL��%: �	�� ��� )Æ��)Æ# �)Æ��)Æ# �)Æ��)Æ# �)Æ��)Æ �
� �)Æ�
%)Æ  �
� �'��
��� ������
��
 ���� �
� ����� ����$
�
�� �����	 ��������� �
 %Æ# �%Æ#
�%Æ# �%Æ �
� �%Æ� 2�� 
����� �� ����� ���

	 9V#�: �
 � $��
������ �
���� ��
 �	
�������
�� �� 	��
���
�
� 
�� �,$��
�� 
����� �� ��������
� ���

	# ���� 
�� ��
��� �����
 ���

	� 2�� ����� ��'���

��� 	$��
��� ��
��
�� ��
�� �	�
� �$$��$���
�
�����	 �� �'��
��� ������
��
 ���� �
� ����� ����$
�
�� �Æ���
�� 9���
�  �
� 
����
�
���� �
� =�
�
� �
��� ��$�
��
��: �	 	�� 
 �
 ?�� -�(��

� $� �� �� 0
 9�X,�� L A��
��: 
� 
�� ���	���� ��'���

��� /�, ��
�  �
�

A� � 9�$��� )$�6:� �)����	�������� �� �
� W � �$-(� )$�� �	 ��	� 	�� 
 �
 ?��
-�(�� 2�� 0
 ��	 � ?�,��A � �$-�,-  �
� � �����	$�
��
� $��������
� �� �)�.�� 2��
�����	 �
 
�� /�, ��
	
�

 �
� 
�� 	$��
��� �
��, ��� 	
�
���� �����	� ���	�
����
���� ��
���
� �� 
��	 	$��
���  �
� 
��
 ��
��
�� �� 
�� J��$$�� �
� >+���
����$	 F-����-���G ���		���	 
��
 
�� $�������� ����� �� �� �	 ��� ��
��
�
� 
��
�
���� 	$��
��� �� � ����� 	����� �	 *��
� ��������� 2�� ��
0��
�� ����$	�	 �
 
��

 � $�����
��	 A��

�� 9��� A� �
� W: �
 -6��K# ()K# (%��K �
� ((K ��
0��
��
�����	 ��� 	�� 
 �
 ?�� -�(�� 2�� �����	$�
��
� V?� �����	 �� 
��	� � ��

���	# ���
- ������	 �� ������� ��� �.�)�# ��)�-# ����6 �
� ��-�6�

3
 �	 ��$��
�

 
� $��

 ��
 ���� 
��
 ��� ��������
� ��	������� ���

	#  ����
��� 
�
 ����
� ���� 
�� 	����� �����
��
 �
� ��� ���		�0�� �	 ����� ���� ���

	 ��

�� &�
���� 8�$����
	 $��������# �  ��
� �
���� �����  ��� �� ��
��
��� >� ����#
	��
���
��
 �� 
�� ��������
� ���

	 9�	
���
�� ���� �.Æ � �14>�� 6�Æ �����
:#
���� 
�� ����� �����
 9��0
�� �	 " � �6Æ:#  ��� ��
��� ��
 
��	� ���

	 9�
 �
	
�
�	
���� 	�
	�:� +	
���
�
� 
�� �
���� 	$��
��� �� �����	 �
 
�� $��	�
�� ��
��������
� ���

	 �� ����� �
� 
��	 �$$����� �	  ��� �
� 
 F-��)G �
� ��	 ���

�	�� *��
� �,
�
	����� �� �
��� ����$	�

"�" 1������

� 
���� �77���	�� �
���� �	
���
��
 $��������# ��� ��
����
�
� 
�� �
���� 	$���

��� �� � ��
����
� ����� 	����� ��	 ���
 $��	�

�� �
 
��	 ���$
��� 2�� $��������

�%�



f 0  (  x 10 -11 cm -2 s -1 TeV -1 )

1 2 3 4 5 6

Γ
1.8

2.0

2.2

2.4

2.6

2.8

3.0

3.2

3.4

3.6

Energy  ( TeV)

1 10

D
if

fe
re

n
ti

al
  F

lu
x 

( 
 c

m
 -

2
s-

1  
T

eV
 -

1 )

10-14

10-13

10-12

10-11

10-10 dΦ /dE= f 0 (  E/ TeV) - Γ

f 0= (3.12 + 0.48) x 10 -11  cm-2 s-1 TeV-1

Γ = 2.69  +  0.14 

(a) (b)

68.3%

95.4%

99%

90%

?����� -�(! 9�: 2�� ��'���

��� �
���� 	$��
��� �� 
�� ���� 7����� �	 ���	����
�� 
�� 2��23� 
���	��$� �
� ��$����
� 
�� �77���	�� �
���� ����
	
���
��

$���������9�: 2�� ��
0��
�� ����$	�	 �
 
�� 
 � $�����
��	 A��

�� 9��� A� �
� W:
�
 -6��K# ()K# (%��K �
� ((K ��
0��
�� �����	�

����� �� �� �	 �	�	 �
 ��
�0���� 7����� 7�
 ��� 
� �	
���
� 
�� �
���� �� � �����
���� ���

 �
 
�� ��	�	 �� �
	 ����� 83D+# &382�7�+ �
� =�
�
� �
���� �$��
 ����
������
� � ���	�
���� ���� >9V�: �� � �-K# 
��	 $�������� ��	 
�� ����� ����
�

��� 
��
 �
 ���� 	 ��
� ������
��
 ���� � ����  ���� =�
�
� �
��� ��
�� �	 ����
	
 �
�������� �� �$
� �)Æ �
�� �
 ��	� 
�� =�
�
� �
��� ��$�
��
�� �	 
� �� ��
����� J�
���� ��	� 	����		����� ��$����

�� 
�� �77���	�� �
���� ����
	
���
��
 ������
��
�
 ��� �
���	�	 ����
# �� �����
�� �	�
� 
�� �77 ��
���
��  ����
�0��# 	� 
��
 
��
�
���� �� � ����� ���� ���

 ����� �� $�����
��  �
���
 �	�
� 
�� �77 	��
 ���
$������� ���	�
���� ���� ��
���
� �� 
�� ���� 7����� 	$��
��� �	 ���	����
�� 
�� 2��23� 
���	��$�  �
� 
��
 ��
��
�� �� 
�� J��$$�� �
� >+��� ����$	
���		���	 
��
 
�� $�������� ����� �� �� �	 ��� ��
��
�
� 
�� �
���� 	$��
��� �� �
����� 	����� �	 *��
� ���������

�%%



"�% ��!���
��	

F-��G 2��� J����	# 8$��� 8��� ����# .% 9�((-: ��

F-��G ��?� �� ��� �
 ���# +,$� �	
��
�# - 9�((-: .�

F-��G ?��� �����
��
 �
 ���# 7�
���� ��) 9�))-: �)�6�

F-��G R� �����
 �
 ���# 8���
��� ��) 9�))6: �.%��

F-�%G �� ����

� �
 ���# �	
��$��
� 4��	� ( 9�((6: �%�

F-�-G ?� �����
��
 �
 ���# �	
��
� �	
��$��	� ��( 9�(((: �(�

F-�.G 4�?� �������
 �
 ���# �$�R� -�� 9�))-: .�)�

F-�6G ?��� �����
��
 �
 ���# �	
��$��
� 4��	� - 9�((.: ����

F-�(G ?��� �����
��
 �
 ���# �	
��$��
� 4��	� - 9�((.: �-(�

F-��)G �� 5���	��� �
 ���# 7���� 3
	
�� �
� ��
�� �� �6� 9�((-: %���

F-���G R� &����� �
� 1�1�
��# 7���� 3
	
�� �
� ��
�� �� �6� 9�))�: ..-�

F-���G 4�E��� �� 8���� �
� R��� �� 8��,�	# 7���� 3
	
�� �
� ��
�� �� %%( 9�))-:
����

F-���G ���� E�=*��=# ?�>��=�
 �
� +�D�	# 4��� ���� &� �% 9�((�: �%-�

F-���G 4�2� ���
���	# 3��	� �	
��
� R� �� 9�((�: ��6�

F-��%G 4�2� ���
���	 �
� &�R�?���
# �	
��$��
� 4��	� � 9�((%:��.�

F-��-G 4� 5��
��# ��&� �
����	 �
� ��1�?���	
�# 4���� J���� ������� �� 8���
��#
+
��
����
� �
� 2���
�����# . 9�))%: �(��

F-��.G &� &����� �
 ���# 7���� 4��	� 5 9 4���� 8�$$��: (. 9�))�: �%%�

F-��6G ��<� 5��� �
 ���# 7���� 3
	
�� �
� ��
�� �� %�- 9�))�: %���

F-��(G <�<� T���� �
 ���# �	
��$��
� 4��	� �. 9�)).: ��.�

F-��)G 8�E� ������� �
 ���# R�4��	� �� 7���� 4��
� 4��	� �% 9�))6: )-%�)��

F-���G &� >��� �
 ���# ��$��
 ?D<� -)�( ?��	��
�	=�

���# <���	����� 9�((6:�

F-���G ���� >����	# 4���� �(
�� 3���# 1� R����� � 9�(6%: ��%�

F-���G &�R� ?���
# 8$��� 8���
�� ����� 	� .% 9�((-: ��.�

�%-



F-���G �� 1����
���������# 5�&����
�� �
� ��2���=���

# �	
��$��
� 4��	� �%
9�))-: �(%�

F-��%G ?� �����
��
 �
 ���# �	
��
� �	
��$��	� �%. 9�))-: 6((�

F-��-G J� >����

 �
 ���# �	
��$��
� 4��	� �� 9�))): �).�

F-��.G 2� 8�� ��=��# 4��& 2��	�	# ;
����	�
�
 ��
�
��� �� 5������
�# 9�))�:�

F-��6G R��� D�����# 3

�����
��
 
� ��
�0���� 7����� 8�	
��	# R���� 4����	��
�
>��	�# ������# �))-�

F-��(G �� ����������# ���$�
�� 8
�
����	 3

������	� �- 9�((�: �-%�

F-��)G ��"� &���# 4�+�>��
 �
� &���8
���# 4�

��
 ���		�0��
��
# R��
 J���� �
�
8�
	# 7� T���# �))��

F-���G �� <��� �
 ���# 7���� 3
	
�� �
� ��
�� �� %.6 9�)).: %�6�

F-���G ���� >����	 �
 ���# �$�R# %)� 9�((6: .���

F-���G ?��� �����
��
 �
 ���# �$�R# -�� 9�))�: 6(.�

�%.



���	��
 /

����������� ��
 !���
� %�
&

%�� +���! 	������ �! 
�� 6��� ���	�

��

2�� 0��� �� E>+ ����� �	
��
��� ��	 $������� ��
� �,��
�
� ��	��
	 ���� 
�� ��	

������ ������� ��� 
� 
�� ������$��

 �� 
�� ����
� ��	�� �����
��� �����
� 
����

�*��	 $��
����� �� 
�� J��$$�� ���������
��
� 2��	 
���
�*��  �	 �$$���� ��� 
��
0�	
 
��� �
 �(66��(6( �� 
�� J��$$�� ���������
��
 
� ��
��
 	
���� ����� ���	�
	��
 ���� 
�� ���� 7����� �	�
� � �)� ��/��
��  �
� � �.� $�,�� $��
����
�$����

��� ������ F.��G� �
�
��� ��$��
�

 ������$��

 �
 
�� 0��� �	 
�� �$$����
��
 ��
	
����	��$�� �����
�# $��$�	�� �� 
�� >+��� ����$ F.��G#  ���� $����	 
��
 
��
�
�����
��
 ��������� ���� ���
�$�� 
���	��$�	# ����
��  �
��
 
�� 	��� �����
���
����
 $���# ��
 �����
������ ��$���� 
�� 	�
	�
���
� �� 
�� 
���
�*��� 2�� �
	
���
��

	 �	� ���
�$�� 
���	��$�	 
� ����� 
�� ����	�� �� ���� ��'���

 ��� �
� �
���	
��� ��$����� ����
	
���
��
 �� ����� �����
��
 �
� ��A��
��
 �� ��	������� �����
����
�� 2�� 	
����	��$�� ��
��� ��	� ���� 	 ��A��
��
 �� 
������	 ���	�� �� ��	����
��� 	���
���� ���
	� 3
 �	 
��	 ��$���
��� 
��
 
���	��$� 	�	
��	 	��� �	 >�+�8�8#
��� �,��$��# $������ �
 �
����� ��	���
��
 ��� 	�
��� �����	 �� � ������
 
� - ����
��
# � ����� �
���� ��	���
��
 �� ����
� �%K �
� �
 �
$������

�� 	�
	�
���
�  �
�
��	������� ��A��
��
 ���
�� �� ���� 
��
 ((�(K� 3
 �	 
�� ��
����� ������$��

 ��

��	� 
 � ��
���	 
��
 ������
��
�=�� 
�� 0��� �� ����
����	�� ���� ������
����
9E>+: ����� �	
��
���� 3
 ����
��
 
� 
�� ����
� ��	�� ��
���	# 
�� 	����		 ��

�� 	�
����
� ���
� �,$�����

	 ���� ���" �
� 
�� ���� ����

 �,$�����

	 ����

�� ?�����1�2 ���� �������� 
�� ���� 
�
��� �� 
�� ����� 	�� �
� $������� � �����
��� 2�E ��	����
��
	� �$��
 ���� 
�� ��	������ �� 
�� ���� 7����� �	 � 	
�
�
���� ��
���# 
�� ��	������ �� E>+ ���		��
 ���� 
�� ��
��� �����
�� 
����� ���� 
��
��������
 ���# ��������
 %)�# 4<8 ��%%��)�# 4<8 ����O��# 4<8 �%�)�)6( �
�� �	
$��
�������� �,��
�
�# ��� 
� 
�� ��	����� ��$�� ���������
� �� 
��	� 	�����	 �
 2�E
�
�����	�

2�� ����

 �,��
�
� ��	��
	 �
����� 
�� �
�	 ���� 
�� �����
�� $��
� 	������ 2��
�����
 ��
 ��
 ��)� �
 ��
��
��� �
� ��� �
 ��
�
��� ����
��� 
� �����
�� ��

�� ��	

�%6



���
 �,
�
	����� ��	����� �
 �
 ������� /�, 	�
	�
���
� �� � �K �� 
�� ���� 7�����
��� $��

 	����� 	������	 �
 �
�����	 ����� �))��E� 2�� �

�� $��
 �� ��� ����,� 
� 
��

��
	 	������ �
� 
 	�����	 �� E>+ �����	� 2�� �
����	�� 
����� �� 	�����	  ���
���� 
�� 0�	
 ���� 	
��� �� 
�� ��������� �� $�$���
��
	 �� 	�����	 �
 
��	 �
����
��
�� � ��A�� 
�	� �� ���
�� �����
�
� ����� ��$ ��	����
��
	 
� ��� ����� 
�
�
���	
�
� 
�� $����		�	 �
  ��� �
 
��	� �,�
�� �	
��$��	���� �
����
��

	� 2��
$������� �� ��	������� ��������
��
 �
 87�	 �	 ��
	�	
�

  �
� 
��	� 
� 0
��
�	�
?���� ��$ ��	����
��
	 �� 
�� 
� 	�����	 ��� $��

��  �
� ��'���

 
���	��$�	 �	
 ��� �	 �
 �,
�
	��
 �� 
��	 	����� �

� �
�,$����� �����
	 �� 
�� �����
�� $��
�
F.��G� �
�
��� �

���	
�
� �	$��
 �� 
��	� 	�����	 �	 
��
 
����� �
��
���� ��� 	
���

�
 ������� ���

�0��  �
� ��A��
	 	��
 �
 �
���  �����
�
�	# 
��	 ����
� � $����	�
�
����� ��	���
��
 �	 �
�
��� ������
��� ���$���  �
� 
��	# � �� �� /�, 
���	���� �	

����� 
� $������ � ����
�� 	��$�� �� 87�	# �
 $��
������ 
��	�  ���� ��� 
�
 ���	��
�� ���
� A�	
 ����� 
�� ��
��
��
 
���	����� 2�� 	$��
���  ��� ��	� ���� 
� �� 
���


� �
 �
���� 
���	���� ��  ��� ���� %)��E 
� ������$  �
� 
�� 	�
����
� ������� 2��
��
��� ���
�� �����
�
� 	
����	 �� ��� 
��	� ��A��
	 $����	� 
� $������ �
��������
�
�����
��
 ����
 
�� $��
���� ��������
��
 �����
�	�	 �
������ �
 
��	� 	�����
�
����
��

	� 2�� �����
� �
��	$����� �����
��� 
���
�*�� ��	 
��	 �$�
��
�$ � 
� ��
 ������
��
�  �
�� �� 
�� ����
�����
�
�� 	$��
���  ���� �	 
� 
����

�
� 
� $������ �
	���
	 �

� ���� ���� �
���� �	
��$��	���� �
����
��

	 �
�

�� �����
 �� ��	�������	� ����
����	�� �����
� �
��	$����� �����
��� 
���	��$�	
���� ������ 
�� ��	
 �Æ���

 �
	
����

	 ��� 
�� ��	����
��
 �� �����	 �
 
�� 2�E
�
���� ��
�� F.���.�-G� 2��	� �����	 
���� ���� 
� ��	��� ��������
��	  ���� ��

�� ��	$�
	���� ��� 
�� ����
��
 �
� ��������
��
 �� 
�� ������� ��	�������	# �
�
��� �,$��
�� 
� ���� ���� �  ��� �����
� �� ��	��� ��A��
	  �
��
 �
� ��
	��� ���
����,�� 8
����
� 
��	 �����
��
 �
 ��
��� ��
 ����� �������� �
� �
�*�� �
�����
��

����
 
�� �
�	��� �	
��$��	���� �
����
��

 ������
���=�
� 
��	� 	�����	# �	 ��	�
�
 
�� �

����
�
� �

�������
�� 	$��� F.�.�.�(G�

3
 
�� ����
�
� �� 
�� 
��	�	# � ��
���� ������� �� ����
� ��	�� ����� �	�

��
���# �
 ��
���� �
� �
��	$����� �����
��� 
���
�*�� �
 $��
������ ��	 ���

$��	�

��� 2�� $�����		 �
� ����	
�
�	 �������� �
 
�� 0���# ��Æ���
��	 �� 
��
�
���	�	 ��
���	# ������
��	 �
 
�� 0��� �
� 
�� �����

 ��	����
��
�� 	
�
�	 ��

�� 0��� ��	 ��	� ���
 ��	��		�� �
 ��
���� 8�
�� 
�� 
��	�	 �������	 ����
� 
��
�$
���=�
��
 �� 
�� 
� �77 ������
��	 �
� 
���� 	��	�*��

 �	� ��� ��$����
�

�� 	�
	�
���
� �� 
�� 2��23� 
���	��$�# �
 
��	 ������	 ���
���� 
� $������ � ���

����� �

�����
��
 ����
 
�� 
���	��$�� 2�� ��
���	 �� 
�� 2��23� 
���	��$�# �
	
�����
���� 	
���
���# �$
���� �����
��# ����
��
��	 �	�� �
� 	������ �� 
�� $���
�����
�� ������
��
 �� 
�� 
���	��$� ��	 ��	� ���
 $��	�

��� 2�� 
���	��$� ��	
���
 �
 �$���
��
 �
 �
����# 3
��� �
� ��	 	� ��� ��
��
�� ����� ���		��
	 ����

�� ���� 7�����# ��� ��� �
� ��� %)� �
�  � ���� ���
 ���� 
� ���� �$$�� ����
�
	 �
 �+8���� O %��# 3���)# >���- O ��6 �
�� J���� �,�����

 ��
���
� �� 
��
���� 7����� 	$��
���  �
� 
��
 ��
��
�� �� �
��� ����$	 ���		���	 �	 
��
 
��

�%(




���	��$� 	��	�	
��	 ��� ��
�
��
�
� $��$����# 
���� �	 �� ���� � 
��� 
� ��$����

�� $��	�

 	�
	�
���
� �����  ���� 	
�
�	 �
 
�� ��
��
��
 �� � ���� ;
�
 �
 % > �

�%�� ��	�# �$��
 ���� ������
�
� 
�� 	
�����
� �� 
�� 2��23� 	��	�	
��	 �����
��
 �
� �����	 ���� 
��	 	�����# ��
���
� �� 
�� ���� 7����� 	$��
��� ��	� ������
�	

�� ���� �
���	�	 ����
# �
�����
� 
�� �
$�
	 �	�� ���� 
�� ��

� ����� 	�����
��
	#
���� 
�� �'��
��� ���� �
� ����� ����$
�
�� ���
��	 �
� 
�� �
���� ����
	
���
��

$��������� ?��
�������# ���$�
� �
 ��� 
��
 
��  ��� 	��
�
��� �� $�		���� ��
�'
�
 
�� �
���� 	$��
��� �� ��� ���# �
������ ���� ��� ��	����
��
	  ���� �	 ������
��
	�	
�

  �
� 
�� ��	����
��
	 �� �
��� ����$	 F.��)�.���G#  � ������� 
��
 
���� �	
��
	�������� 	��$� ��� 
�� 2��23� 
���	��$� 
� ��
�
�� 	������ 2�E ����� ���		��

��
���
� ���� �
��� ��
��� �����
�� 
����� �
 � ��
� 
��� ��	�	�

8�
�� 
�� ��� �� 
�� $��	�

 
��	�	 �	 �		�

����� 
� 	�� 
�� $� �� �
� ���
��

���	 �� �$$���
� �
 �

������

 �����
� ����
�
� ������
�� ���� �77# �
 �	 ��	�
��$���
��� 
� ���� �
 �
��$
� �$$�����
��
 ����
�� 
� 
�� 0��� �� �77# �
	  ����
�
��
��������# ������	 ������
��	 ��

��
�� �
 
�� �77 ��������# 
�� 	�$����	��#

�� �
	�$����	�� �
� 
�� �������

 ��
���	 ���
�  �
� 
�� ������
��	 ��

��
��

�����
  �
� 	$����� ��$��	�	 �
 
�� 
� �� 
���
�*��	 �	�� �� ��	�������	 �
�
��	� 
�� ����
	 �
� ������
	 �� 
�� �77 �	���� >���
� ��	��		�� 	�# �
 ������	
������� 
� ���� �
 �

�����$���	�
 �� 
��	� ������ ��
���	 
� ���� � ���� �� 
��
	
��
�
�	C����
�
��
	 �� ����� 	�
��� ������
��� J���� ���$���
��� $�������
��
�� 	��� �77 ������
��	 ���� 	
�
���� ����$��$���
��
# ��==� �����# ��
�
�� �����
��
��	# ����
��	 �
��# ��	 ���
 	
����� ��� ������	 �$$����
��
	# � �������	 �

������
$���	�
 �� 	��� �� 
�� $� ����� ������
��	 9���� 
�� �
�	 	
����� �
 
��	 
��	�	:  �	
��		�
� ���� 
�� ��
���
���� 2��  ��� 
��	 ��	� $������	 � �������	 ���$���
���
	
��� �� ������	 $� ����� ������
��	# �� 0�	
 �$$���
� 
��� 
� 	
�
���� ��
������
$������	 �
� 
��
 �$$���
� �	 � �����		��
 
��� ��� �$$��,���
�
� ��
�
��
	 ����
��	9,: �
� � �� 	$����� ��
�
��
	� ��	��
	 �� 
�� 	
��� ��
���
�� 	����	
�� 
��

 ���� 1���
��������*����
 �77 ������
�� �����	 
�� �� �	
 ��8 ����� ��� 
��
7���
 4���
� �
� 
�� 2 � 8$���� $������	# >����� "���� 7����
	 �77 ������
��
����	 
�� ��	
 ��	��
	 ��� 
�� 3�38 ��
� $������� 2�� ��	
 ��	��
	 ��� 
�� B"�
$������ ��� ��
��
��  �
� 
�� 7���� ?�==� �77 ������
��� ��	�# �
 �

��$

��	 ���
 ���� ��� 
�� 0�	
 
��� 
� �$$�� �77 ��� 	����
� 
�� �����		��
 $������	#
	��� �	 ������
��
 �� 	$����� ��
�
��
	 ���� 
�� ����� ��
�
��
# 
�� ���$����

���
+���� ��
�
��
 �
� 
�� �$$�� 
��� ������
��� ?����	
����
��
 ��
�
��
�

��
����� 
�� ���$���
��� $�������
�� �� ��'���

 �77 ������
��	 �	 �
 ��
����
$������ ��$�
��

# 
�� 	
��� �
���
���
 �
 
�� 
��	�	# ����	 �
 �
	���
 �

� 
��
$� �� �� ������	 $� ����� �77 ������
��	� 8�
�� ��� ����  ���� $������	# �
 �	 
�

�
 ��	� 
�	� 
� ���

��� 
�� ��	
 	��
���� �77 ������
�� �� A�	
 ����
� � ���� �


�� $������# 
�� ��	��
	 $��	�

�� �
 
�� 
��	�	 	����	
 
��
  ���� �
��	
���
�
� 
��
���$���
��� $�������
�� �� �
��� �77 ������
��# 
�� 1���
��������*����
 �77
������
�� ��	����	 � 	�����	 ��
	�����
��
 �
� ��

�
 �� ��A��
�� ��
����
 �����	�
�� �
	 
���
�
� 
��� ��������	�

�-)



��
�� ����
� �	
����	��� 
�� 	�$������
� �� 
�� 1���
��������*����
 �77 �����
��
�� ���$���� 
� 
�� �
��� ��
���	 ���������  �
��
 
�� �77 �����
# 
�� 	
���
��	 
��	 ���
 �,
�
��� 
� 
�� ���� $������# 
�� �C�����
 	������
��
 $�
�

��� ��
������	 �77 ������
��	 ��� 
�� 2��23� 
���	��$�# �� �$$���
� 
�� �77 ��	��
��
���	 
� 
�� ��

� ����� 	�����
�� �
� 
�� ��	����
��
 ��
� �
 
�� ���� 7���
���� 2�� ��	��
	 �� 
�� 	
��� �
����
� 
��
 
�� $�������
�� �� 1���
��������*����

��	�� �77 ������
�� �	 	��� ��
 	�$����� 
� 
�� &�
���� 8�$����
	 $��������
�	$������� ����
� ����� �
�����	 �� � ( 2�E� 2�� ���
 ����

��� �� �	�
� 
�� �77
��
�������� ��� �C �����
 	������
��
  ��� �	 
��
 �
 �	 ���� �Æ���

 �
 ��
��
�
�
������ �
���� ����� ���

	 �
� 
��	 ��	 ���� �� �	 
� �,
�
� 
�� 2��23� ��	�����
�
���� 	$��
��� �� 
�� ���� 7����� �$ 
� �
 �
���� �� � ��2�E� ���	�
���� ����
��
���
� �� 
�� ���� 7����� 	$��
��� �	 ���	���� �� 
�� 2��23� 
���	��$�  �
�

��
 ��
��
�� �� 
�� �
��� ����$	 ���		���	 
��
 
�� �77���	�� �C�����
 	�����
��
��
 ��
��� �	 *��
� ��������� �
�
��� ����

��� �� 
��	 �$$����� �	 
��
 �
��
� 	�
�	���
��� $�������
��  �
� ��	$��
 
� 
�� 	������
��
 $�
�

��� �� 
�� �77 �	
��������# � �77  ����
�0�� ��
 �� ��
���
��  ���� ��
 �� ��	��� �	�� �� �
 �$�
$��$���
� 	�����
�
� �� 
�� ���
 ��
� �
���	�	 $������ ��� ��
����
�
� 
�� �����
���� ���

	� ;	� �� � ������
�� �77 ��	�� 	��
 ��� �	 
��	 
���		��� �
�� ����
�

�� 
���
�
� �� 
�� �77 �
� ������	 ����
��

 �
�� 
�� 
���
�
� $�������� �	
���$��
���

��	�# ����
� �	
����	��� 
�� ����

���	 �� 
�� �77 ��	�� ��
��� ��� 	����
�
�
������ 
����� �� �����	# � 
���� �77���	�� �
���� �	
���
��
 $��������# ��� ���

����
�
� 
�� �
���� 	$��
��� �� � ��
����
� ����� 	����� ��	 ��	� ���
 ������$���
8�
�� 
�� �

�
	�
� �� 
�� �����
��� ����
 9��� ����� 83D+: �	 � ��
�
��
 �� ���� ��	�

�
��#  ���� �	 
�
 $�		���� 
� ��
��
  �
� � 	�
��� �����
� 
���	��$�# 
�� �
�����
��	
�
�� �� 
�� ����� ��

���� ���� 
�� ������ ��

�� 9�
� 
 �	 
�� &382�7�+
$�����
��: �	 ��
������ �	�� �	 �
 �$$��,���
� ���	��� �� 
�� ��$��
 ��	
�
��� 2��
�
���� ����
	
���
��
 $��������  �
� � 	�
��� �����
� 
���	��$� 
��	 �
�����	 �	�
�
83D+ �
� &382�7�+ $�����
��	 �� 
�� �����
��� ���

 ��� ��
����
�
� �
����
�� 
�� $������ ������ ��
����� 
�� ��
��� ��	 ���
 ���
� 
�  ��� ���	�
����  ���
���� � ��	
���
�� =�
�
� �
��� ��
�� �� � �)Æ# 
���� �	 � 
��� 
� �
����� =�
�
� �
���
��$�
��
�� �
 
�� �
���� ����
	
���
��
 $�������� ��� ���� �
� ��
� ������
��
 ����
� ����  ���� =�
�
� �
��� ��
��� 2�� $�������� ����� �� �	�	 �
 ��
�0���� 7�����
7�
 ��� 
� �	
���
� 
�� �
���� �� � ����� ���� ���

 �
 
�� ��	�	 �� �
	 ����� 83D+#
&382�7�+ �
� =�
�
� �
���� 2��	 
� �
���� �	
���
��
 $�������� ��$�����#
��	 ������� � ���	�
���� ���� >9V�: �� � �-K� �77���	�� �
���� ����
	
���
��

������
�� ��	 	����		����� ���
 ��$����

�� �
 ��� ��
� �
���	�	 ����
# �� �����
��
�	�
� 
�� �77 ��
���
��  ����
�0��# 	� 
��
 
�� �
���� �� � ����� ���� ���

 �����
�� $�����
��  �
���
 �	�
� 
�� �77 	��
 ��� $������� ���	�
���� ���� ��
���
�
�� 
�� ���� 7����� 	$��
��� �	 ���	���� �� 
�� 2��23� 
���	��$�  �
� 
��
 ���

��
�� �� 
�� J��$$�� �
� >+��� ����$	 ���		���	 
��
 
�� $�������� ����� ��
��� ��
��
�
� 
�� �
���� 	$��
��� �� � ����� 	����� �	 *��
� ���������

�-�



%�� #� 
������
� ��������
� ��8��
��
 �
� 
�� !��


��� �! �//

2���� ��� �
����

�� ��'���

 �$$������	 ���$
�� �� 	$������	�� �
� ����
� ��	��
�	
��
��� 
���	��$�	 ��� ��	������� ��������
� ��A��
��
� ?�� 
�� ����
� ��	��

���	��$�	 ���� 2��23�# ����
��
�� �
���	�	 
���	 
� �� ��
���
�� �
 ����� 
� 	�$�
���
� 
�� 	��
�� ���

	 ���� 
�� ��������
� ���

	� �	 ��	��		�� �
 
�� 
��	�	#

�� �,�	
�
� ����
����	�� �����
��� 	�	
��	 �� 
��	 �	�
� 
�� 	
�
���� >����	
��
��� �� $�����
���	�
� 
�� 	�� �� �����	� 2�� ��
��� �
	��� �	 �,
������ ���
��	
# ��
 ��� 2��23�# �
 ����� 
� �
��
�� �
	 	�
	�
���
� ����
��
�� �
���	�	 
����

�*��	 
��� 
� �� �$$����� �$$����
��
 �� 
�� ��
�0���� 7����� 7�
 ���	 
� ��$����

�� �����C�����
 	������
��
 ��
��������# �	 �
� 	��� �

��$
 �
 
��	 �����
��
�
5� ��$����

�
� � ���
������
� ��
���# 
�� �
�����
��
 ��

��
�� �
 ��
� $��
����
��	# 
��
 ���$ 
� ��	
�
���	� ��
 ��
 	��
�� �
� ��������
� ���

	# ��
 ��
�����
�� 
� ��
��
 � 	�
��� ��	$�
	� $�����
��� 2��	 ��	$�
	� $�����
�� ������
�
� 9/: �
 
�� �����

  ��� �
����	 ���

	 
� �� ���		�0�� �������
� 
� 
���� �����
�� ��	������� ����
�		� J��
 �
���	�
� � ���
������
� ��
��������  � ���� ����
�
	
��
�� 
��
 	��
�0��

 ��$������

	 �
 $�������
�� ��
 �� ��
��
�� ���$���� 
�

�� 	
�
���� ��������
� ��A��
��
 ��
���� ���
������
� ��
���	 ��
 �� 	��
 �	 �

�,
�
	��
 �� 
�� 	
�
���� ��
	���	�� ��	�����
�
��
 ��
���� 2�� ��	
 �'��
���
�		#
����������
� �
� $����		�
� $� �� �� �����
 ��	�
�$ ���$�
��	 �
����	 �����
�
����
�
� ������
��	 	��� �	 ��
�0���� 7����� 7�
 ���	# &���	��
 2���	# 1���������
+	
���
��	# ?�	��� &�	�����
�

	 �
� 
� �� ��	��� ��$����

��� �	 
�
�� �� "��
�
 ��#F.���G# �
� �� 
�� ���
 ����

���	 �� 7����� 7�
 ���	 ���� 1���������# ?�	���
��	�����
�

	 �
� �
��� 	��� ��
���	# �	 
���� �����
� 
� ��
��� 
�
��
��� ��������

��
	 ��
 ��
 $�����
��	  ���� ��	 ��	� ���
 ��$�� ����
	
��
�� �
 
��	 
��	�	�
3
 �	 ��	� ��
������ �
 
�� 
��	�	 
��
 7����� 7�
 ���	 ��� 
�� $�������� ���
��
�����
� ��
��� ��� 
 � ���	�
	! 
��� ��
��� 
�
���	�����
�
�
� $�����
��	 �
�

���� ����	��
 
���� �	 
��
	$���

� 7����� 7�
 ���	 ��� 
�������� ��$����

�� �


��  ��� $��	�

�� �
� 
��� ���� ���
 $����
 
� $������ ��	��
	  �
� ��
	�	
�


$�������
��	� �

��$
	 �
 
�� 0��� ��� 
� �
��� �� 
� �	� �����
��� 7����� 7�
�
 ���	# 
����� ���
� �$$���� �
 �
��� 0���	# 
�� ���� �	 	
��� �
 �
��
�� �
 
�� 0���
�� E>+ ����� �	
��
����

3
 
�� ��	
 �� ����	 
���� ��	 ���
 �
 �
����	�� �

���	
 
� ���	 
�� �	
���

������ �$$����
��
	 �� 77	 ���
 
�����# �
 	$�
� �� 
�� ����
 �����
� �� $������	
�����		��# ��	
 �$$����
��
	 	
��� ���� �	� �� ��
���� �� 
����� �����	 �
��� 2��	
	�
��
��
 �	 ���
� 
� ���
�� ��� 
� 
�� ���� �
����	� �
 ��
� 
�� *����
� �
� 
��
������ �� ��
�  ���� �	 ������
� ��������� 
� 
�� �	
��
������ �����
�
�  �����
 ���� ��
	����
��� $�����
��
	 ���� 
� 
�� �,$��
�
��
	 
��
 �
 ����
 �� % ����	#

����� �)) 25 �� ��
�  ��� �� ��*�����  ���� ��� ����� 
���
 �
� ��	
 �� 
��	 ��
�
 ��� ������ ��������� 
� 
�� �	
��
������ �����
�
�� 2��	� ���� �
� ��
������

���	 ��
� 	�
	  ��� �$�
 $�		�����
��	  ���� 	� ��� ��� A�	
 �

��
�����# ��
 �
 �	

�-�



������� ����� 
��
 
���� 	���

�0� �,$���
�
��
  ��� ��*���� 
�� ��$����

�
��
 ��
��
���
�� 
���	 ��$���� 
� $������ � ����� ����
��
 �� 
�� ���
�
� ��
� �����
��
#
��
� ��
�
� �
� ��
� �
���	�	  ����

>�	
��������# 
�� 0�	
 �

��$
	 
� �	� 7����� 7�
 ���	 �
 �	
��
������ ��
�  ���
���

 
� 	�$���
� 	
��	 ���� ����,��	 �� 
� ���		��� ����,� ���$�������	 �� 	$��
���
���
���	 F.���G� J���� 
�� $������ �� 	
��C����,� ���		�0��
��
 	���	 
� ���� ���

	�
�	���
����� �
	 ����# 
�� $������	 ���� ��A��
 ��
��
��
# ��� 
� 
���� �

��
	��
���$��,�
�# ��� 	
��� � ��

�� �� ��	����� �
�  ��� �� ����		�� �� 
�� �	
��
������
�����
�
� �
 
�� 
��� ��
���� 7����� 7�
 ���	 ���� ��	� ���
 �$$���� 
� $��
�
���
	
����	 F.���GN 
� 
�� 	
��� �
� $�����
��
 �� 	���� ��
���
� �
� $��
���
� F.��%G#

� 
�� 	
��� �� 
�� �

��$��
�
��� ���
�
�� 0��� F.��-G# �
� 
� 	
����� �	
��$��	��	
F.��.G � "
��� 0���	 �� �$$����
��
 ��	� �
�����! 
��� 	����	 �
���	�	 F.��6G# �
� 
��
���

�0��
��
 �
� ������
���=�
��
 �� $������� ��A��
	 	��� �	 @8"I	# ��
������
��	
3� ����,��	# �
� ����� 5��	
	 F.��(G# 
�� 
��	� ������� �
 $�,�� ��
	�
� ��
�# 
��
�����$�	�
��
 �� ���
����*��
�� ��
� 	�����
�� ��� 
�� 4��
�� ��		��
# 
�� 	�����
��� ����,� ���	
��	 �
��

8
��� �
 �
	 �
��
��# �	 
�� �	� �� 77 ��� 
�� �
���	�	 �� 
�� ��
� ������
�� �� 
��

� ��
���
��
 �� �
	
����

	 ��� �	
��$��
���� $��	��	 	��� �	# ��� �
	
�
��# 
��
8���� �
����
�� $��
�
 ���

	# 
�� ��	������� 
���	��$�	 �;�+� F.��)G �
� ���"
F.���GN 
�� ����� �����
���� 
���	��$� F.���G# 
�� E3��" �����
�
��
��  ���	 �

���
������
�� F.���G �
� ���
 ��� 
�� 	����� �� 
�� >���	 ��	�
 F.���G�

%�� )��)*� )� �	���� �������
��
 �
� 
�� ����

�����

2�� 2��23� ����� 
���	��$� ��	 ���
 �
 �$���
��
 �
 �
� ���# 3
��� ��� ���� �
������ 
� 
� 	
��� 2�E ����� ���		��
 ���� ����	
��� 	�����	� &���
� 
��	 
���#
�$��
 ���� ��
	�	
�

�� ��
��
�
� � 	
���� 	��
�� ���� 
�� ���� 7����� ����� �
��� 2�E �
����# �
 � 	�
	�
���
� ����� �� �%�)> �
 ��% �# 
�� 
���	��$� ��	 ��	�
��
��
�� /���
� ��
���
� ���� ��� ��� �
� ��� %)� �
 	������ ����	��
	� J� ����
���� ����

�� ������� ��
 ��$������

	 �
 
�� ������	 	���	�	
��	 �� 
�� 
���	��$�
 ���� ��	 ��	��
�� �
 � 	��	
�

��� ��$������

 �
 �
	 ��
��
��
 	�
	�
���
� 9��=�#
�%> �
 �
 ��	����
��
 $����� �� ���� �	 ���$���� 
� ��%� �������:�

��A�� �$�����
�  ���# �
������ ��$������

 �� 	��
�� �
� ���� ���
��� �����	
�
� �
	
����
��
 �� 
� ���$��
� 4�������� ��
��

��
��	 9�4�:  �
� 
�� ��� 
�
��$���� 
�� 	�
	�
���
� �� 
�� 
���	��$�� 7� �4�	  �
� 	*���� �

�� �
� ��������
�,�
 �$��
���  ��� �
	
����� �
 
�� 2��23� �����
� ������ �
 ����� 
� �
����	�
�
	 $��
�
 ������
��
 �Æ���
��� 2�� ��/��
��
 ���Æ���

 �� 
�� 
� �4�	  �	
���	���� 
� �� �6% K �
 
��  �����
�
� ��
�� � �))
��%%)
�� �$��
 ����
������
� 
�� ���� 	$��� �
 ��
 ��
 
�� 4�2	 ���$��
���# �	� �� 
�� 
� �4�	
��	 ��	� ���$�� �	 
� ��$���� 
�� �����C�����
 	������
��
 ��$�����
� �� 
��

�-�




���	��$�� 3
 ����
��
# 
�� 
������ ���
����  �	 ��	� ����0�� �� �
�����
� ����

����	
 
������� �����
��� 
��$��
 �����
�
��
	� � ������
�� ��& ������  �	 ��	�
�
	
����� ��� ��
���
�
� ��
����� $��

 ��
 �������
��
	 �
� ��
� ������
�� ��	 ���

	����		����� �	�� ��� ��
����
�
� 
�� $�	�
��
 �� 
�� 	����� �
 
�� ����� $��
�  �
�
�
 �������� �� ��

�� 
��
 � � � ��� ��
� 2�� �
���	�	 $�������� ��	 ��	� ���

�$������ �� �	�
� 
�� �	����
�� $�����
�� 	� 
��
 �
 ����
��
�� �) K �� 
��
�����
�� ��������
� ��
 �� ���
��� ������� �� ���

����
� 
�� U����U �
� U
���U
���
��� �� �����
��� �����	� 3
 �	  ��
� ��

��
�
� ���� 
��
 
�� ����� �����	 ����

���� ���� ���	�� 
� 
�� �		���� 	����� $�	�
��
 �
 
�� �����
� ������ �
� 
��	
��
 �� 	����
�� $������

����� �� ��$�	�
� �	����
���) ��
� �
���	�	 �� 
�� �
�.� ��
� ������
��  �
� 
�� 
���	��$� ��
 ��
 ���&����)�� �
� �(�&����)��# ��
��
���$��
�
� 
�� ���� ��� �
� 	��
 ��� �$�����
�  ���# �����	 �
 �
����	� �
 
��
$���$
 ���
����
�� ��
� ���� � ���� >= 9�
 =�
�
� �
��� �� )Æ: 
� � ��.) >=� 2��	

��
	��
�	 
� �����
��
 �
 
�� 
���	���� �
���� �� 
�� 
���	��$� ��� ��	�������	 ����
���6 2�E 
� ����2�E �
� ���� ���� 2�E 
� �)�6 2�E ��� 
�� �����	� &�
�����
	�����
��
 	
����	 ��� 	
��� �
 $�����		 
� ��
0�� 
��	� �	
���
�	� �	 � ��	��
 ��

�� �$�����
��
 �
� ���� ��0
�� ��
� �
���	�	# 
�� 	�
	�
���
� �� 
�� 2��23�

���	��$� ��	 ��$����� ���� #� � )�(.

�
� 
� #� � ���)

�
� � 2�� ����� ��
�

$�� ���� ���� 
�� ���� 7����� ��	 ��	� �
����	�� ���� � ($�� 
� � �%$))� 2��

���	��$� ��
 
� ��
��
 
�� 2�E ����� ���		��
 ���� 
�� ���� 7����� �
 �%> �

�
 ��	����
��
 $����� �� ���� �	 ���$���� 
� ��%� ��������

2�� 	����		��� �$$����
��
	 �� 
�� �77 ��
�������� ����
	
��
�� �
 
��	 
��	�	
 ��� ����
 �� 
���
 �$ �
 
�� 
��� ��
���# ��� �����C�����
 	������
��
 �
� �
����
�	
���
��
 $��������	 �
� �$$���� 
� 
�� 
� ��
� ��	� ��
���
�� �� 
�� �$������

���	��$� ���� 
�� 
�,
 � ���� �� 	�� 2��	 	����� �
��
�� 
�� 
���	��$� 	�
	�
���
�
� ���
���  ����  ��� �� �
�������� ��� ��
� 
��� ��
�
���
�  �
� 
�� 2��23�

���	��$��

3
 �	  ��
� ����
� � ���	�� ���� �
 	��� �� 
�� 	���

�0� ������	  ���� ��
���
�
��	����
��
	 �
 
�� ���
��2�E �
���� ��
��  �
� � ������
�� �
	
����

 ���� 2���
23�� J�
� ���� ��� �
� 
����� �� ����� 	�����	 �
 
�� 	�� �
� ��
��� ����
�� 0���
�� ��� �� ����
��� �����
� 
���	��$�	 ��	
 �� 
�� 2�E 	�� �����
	 ����
����� �
�
�,$����� �
� �
�� �) K �� 
�� 	�� ��	 ���
 ��	������ 8������
� ��� ����� ���		��

���� ��'���

 
�$�	 �� ���=��	 �
�����
� ���� �
���� $����� 51 1�� ��A��
	 9>51	:#
�

�������
� �
���� $����� 51 1�� ��A��
	 9351	:# �
� /�
 	$��
��� ����� *��	��	
9?8�@	: �	 �
 ��$��
�

 ��	����� 0���  ����  � ��
 ��	� ��

����
� 
� �
���	
�
�

�� ����� ���		��
 ������
���	
��	 �
 ��'���

 
�$�	 �� ���=��	� 2�� ��	
 
�
����
��	����
��
�� ��	��
	 ���� 
�� ���=��	 ���� ���
 �,
������ ��	
 ����� ��$��
��� /�,
�
� 	$��
��� ���������
� �
 ���� 
��� 	����	# �
� � $��
��
��� B����# 2�E ����� /�,
�������
��
� 8
����
� 
�� 
��$���� �������
��
 ��
 ��
 /�, �����
��
	 �
 ��'���


 �����
�
�	 ����
� /���	 ��
 ���$ �
 $������
� ��
	
���

	 �
 
�� ���=�� ���		��

�����	� J���� ���
� �����
�
� �
�����
��
# �
 $��
������ �
 ����� �
� B���� �
�
�����	# ��
 $������ ��
	
���

	 �
 �����
�� �� ����
��
�� ���$�
�

	 ��
 ��
�
 �
�

�-�



��*����	 ��������$�
��

 �		��$
��
	 
� ������ 
�� 
�
��� �� 
�� $���

 $��
����	�
"
� �� 
�� ��A��
���	 �� 
�� 2��23� 
���	��$�  ��� ��	� �� 
� ��
���
 ���$

��	����
��
	 �
 � 	���� 
����� ��  ��� �
� 
 E>+ ���=��	 ���� ������# ���%)�#
>���-O��6# �+8�(%(O-%)# 51 1����
�� �
� �+8 ����O%��� 3
 
��	 ������# �

�	 *��
� ���		���
� 
� 0
� 
��
 
�� �
���� 	$��
��� �� 
�� ������ ���	���� ��

�� 2��23� 
���	��$�# ��� 
�� ��
� ������
�� ��
 ��
 &������� �.# �))% �
� ?��
).#�))-# ��	 ���
 �	��  ���� �

��$��
�
� 
�� ��	��
	 �� 
�� 8 ��
 ��	����
��
	 ���

 ��
 �$��� �))- �
� R��� �))-� 4��
���$�
�
� �
 
����
 �� �$$��
�
�
� ��	����
��
	
�� /���
� ���=��	 �	 �
�
��� ��$��
�

 ����  ���� ��	��
	 ���� 
�� 2��23� 
����
	��$� ��
 ���$ �
 ��
	
���
�
� 
�� ���=�� ���		��
 �����	� ?��
���# 
�� 2�E �
����
	$��
�� �� �,
�������
�� 	�����	 ��	� ����� 
�� ��$��

 �� �,
�������
�� ��	��$
��

�
 
�� ���� �� H������
���	
�� ������
���� ��
�'	I �
 �
�����	 ����� �))��E �
����
��
��� &�
��
�
� 
��	 ��$��

 �� ��	��$
��
 
��	 �	 ��
 �
�
��� 	���

�0� ��A��
���
 ���� ��	��
	 ���� 2��23� 
���	��$� ��
 �� �	���� �� $������
� ���$ ��	����
��
	
�� ���=��	 �
� �� ��
����
�
� 
���� �
���� 	$��
��  �
� ���� ���������

%�� &
��� ��		�� � ��� ���
��
	 �! �//

-�'�� =����  ���	�	� ���� �00

�$��
 ���� 
��	# �
 
�� ����
�
� ����� �
	��� 
����� �)��)K ����� �����	 ��� ��	
�
2�� 
����
��
�� ����
�
� ��
��� �	�� 
� �
���	� �����	 $������� �� �����
���

���	��$�	 	����
	 
��	� $�,��	  ���� ��� ����� 
�� H$��
���I 
���	���� �� ��� ��	���
	��� $�,��	  ���� ���� 	��
�� ����� 
�� �� �� I���
����I 
���	����� � 	��
�0��


*��

�
� �� 
�� 
�
�� 
����� �� 4�2	 
��
 ���� ���� 	��
�� ��� ��A��
�� �� 
��	
��
���� 2�� $����

��� ��
 �� �
����	�� �� �� ���
� 
�� $��
��� �
� ���
����

���	����	� >� ����# 
��	 �
 
��
 ��	� �
����	�	 
�� 
����� �� 
��	� $�,��	 �
����
���
�� 	����
�� �	 	��
�� $�,��	  ���� ����	 ����
�
� �
 �,
������ ��Æ���
 
�	��
J� ��	� $��$�	� 
� �	� �
 �77 ��	�� ������
��  ����  ��� �� 
���
�� 
� 	����


�� $�,��	 ��$�
��
� �
  ��
��� 
��� ��� � $��
 �� 
�� ��
��
� 	��
�� �� 
�
� 2��
��
���  ��� 
�
 �
����� �
� ����� ����
�
� �
 ��� �
� 	���� 
��	 �� �
����

�� ����
$� ���� �
 ����$
�
� ���� ��
��
� 	��
��	�

-�'�� ����� ����	 �
 �00 �� ��� ������

>���
� 	��
 
�� $�
�

��� �� �
 �77 ��	�� ������
�� ��� 	������
�
� 
�� � C�����

	�� ��	#  ���  ��� �� �
���
���
 
� �,
�
� 
��	 	
��� ���
��� 
� ������
� 
�� $�		��
����
� �� �	�
� 
�� �77 ��� 	������
��
 �� � C�����
 �
 
�� ��	�	 �� �� �����
���
�����	� ?�� 
��	 $��$�	�#  � $��
 
� �	� �� 	�����
�� �����	 �	  ���� ���� ���

�������� �� 
�� ��(�$�,�� ������ �� 
�� 2��23� 
���	��$�# �
 ����� �
�����	 ��
��)��. 2�E� 8�����
�� $��
�
 �
�����	  ��� �� 
���
 ��
 ��
 
�� �
���� ��
�� ��
��) ��) 2�E� � 
�
�� ��	� �� � %)#))) �����	 �
� �
� �*��� 	�
 �� $��
�
 �����	  ���

�-%



�� ��
���
��# ����  ���� � ��K �� 
�� ��
�  ��� �� �	�� ��� 
���
�
� 
�� �77 �
�

�� �����
�
� � -.K �� 
�� ��
�  ��� �� �	�� ��� ��� 
�	
�
� �� 
�� 
�
 ���� 2��
�77 ��
0����
��
  ��� ���� ��( �
$�
	 �����	$�
��
� 
� ���� $�,�� ��
$�
 �
� 
��
��
$�
  ��� �� � 
��� ��$�
��
� �
  ��
��� 
�� ���

 �
 *��	
��
 �	 ����� ���� �� �
$��
�
 ���

� 2� ������ 
�� ���$��,�
� �� 
�� $������#  � ��� ��	� �	� 	��� ��
�
���$��		�
� 
���
�*�� ���� 4�� �
�# 	� 
��
 
�� 
����� �� �
$�
	 ��
 �� �������
 �
���
 ���$����	�
� �
 
�� �
�����
��
 ��

��
�� �
 
�� �
$�
	�

%�� /�6 79������

	

-�9�� ��"% ,���� ���

2�� �����

 ��
���
��
 �� �����
� �
��	$����� �����
��� 
���	��$�	 93��2: ��	
�
����	�� 
�� 
����� �� �
� 
 ��EC2�E �	
��$��	���� 	�����	 
� ���� 
��
 �-)�
2�� >������
 ����� ��� "�	����
��� 9>���": �	 
�� �����	
 ��
�
��� ����
�
��	�� ����� ��	����
��� �	�
� 
�� �
��	$����� �����
��� 
���
�*��# ����
�� �

>�
�� 9���6Æ 7N .6�(Æ+N ��)) � �	�: �
 
�� 1����� �����
 �� >�������	# �
 7��
���

3
���� >��� ��
�
��� ����� ��� 9>����: 
���	��$�  ���� �	 �  ������

 	���
$��
� ����� �� 	���
 
���	��$�	 ����  �
� . $�����,����� ���

�� ������	 �� )�(�
�����
��# ��	 ���
 �
 �$���
��
 
���� 	�
�� �))6 �	 
�� 0�	
 $��	� �� 
�� >���"�
2�� ���+ 9��A�� �
��	$����� �����
��� +,$�����

: 
���	��$� F.��%G  ���� �	
�����

�� ���
� 	�
�$ 
����  ��� �,$���� 
�� ����� 	�� �
 �
�����	 �� 
 
� �)��E�
2�� �%% 
�
 ���+ 
���	��$� ����� 	 � 
���� �
�  ���� ��	��
 �
� �	 	�$$��
�� �
 -
 ����	 �� -) �� �����
��  ���� ���� �
 � �.� �����
�� 
����� 2�� ��� �����
��
����
 ������
�� �� 
�� 
���	��$� �	 ���� �$ �� ��
������ ��	�� 	$������� �����
���
������ ����
	 9	�=� %)��� %)��:  ���� ���� ���
 ��
����
����  �
��
 
�� ���

���
2��� ���� ������ ����� ��
�
� ��
 ��
 �%��� �
� �-��� �
� $������ �
 �
��,�	
	$�
 	�=� �� � �%�� �����
��� 2�� �����
� ������ �� 
�� 
���	��$� ���$��	�	
�)66 $�,��	 ������
� � 
�
�� 0���������� �� � ���Æ��$)Æ� 2�� 	��
�� $����		�
� �
�
��
� ��*��	�
��
 ����
��
��	 �	 ���	�� �
 
�� ������ 	���� �
	���� 2�� �����
� ����
��� ����� 	 � ������� ��	��
  �
� �- $�,��	 �����
� � ������ 3

����
�� ������
9�3�: ���$��
�  �
� �
	 	��
�� $����		�
� �
� ����
�=�
��
 ����
��
��	� 2�� ��
�
���� ��� 
�� -6 ������	 ��� �

����
�� �
 � ��
� ��
��

��
�� ������ ���
� 	�

 
�
�������
� �
� ��	$��� 	�	
��	 ����
�� �
 
�� ��

��� ����� 2�� 	
���
���� �����

	
�� 
�� 
���	��$� ��� $��	�

�� ���
� �		������ �
 
�� ��
����
����I	 ������
� �
 >��
�������� 2�� ����� 	�	
�� 
�	
	 ��� ������ 
� �� 	
��
�� 	��
 ��
�� �
	
����
� � �)
������ $�
��	 9� $�
�� ��	 � ������	 
� ���� � ��� ����: �
 
�� 	$��� ����� �� 
��

���	��$�� 2�� ������� ��
� ��*��	�
��
 ���� ��� �
� 	��
 ��� �	 �
 �
 ����
���
	
��� �� $��
�
�$�
�� ��
�� ��
����� 
�	
�
� 
�� 
���	��$� �	 $��

�� 
� �� 	���
�� 
�
>�
�� �� ��� �)�� �
�  � �,$��
 
�� 0�	
 �
��
����
� ��
	 
� �����
�� �
 >�
��
�� ����� �)�%�

�--



?����� .��! 4��	�

 	
�
�	 �� ���+ 
���	��$��

-�9�� "����	#�� ,���� ��� ����
 1",�2

2�� �2� $��A��
 F.��-�.��.G �	 �
 �
�
��
��� 
� ����� 
�� 
�,
 ��
���
��
 ����
��
��	�� ���� ���� �
���� ����� �
	
����

� 3
  ��� 	���� �	 �
 �$�
 ��	����
��� 
� �
 ��� �	
��$��	��	 �����
�
� �
�  ��� $������ � ���$ �
	���
 �

� 
�� 
�
�
������
������
���� �
����	�� 2�� $��$�	�� �2� �	 � ����� ����� �� �����
��� 
���	��$�	
�� ��'���

 	�=�	# ��	�� �
 $����
 
���
����� �
� ��$����� �
 �
 �
$������

��
	����� 3
  ��� ���� 	��
�0��

 �,
�
	��
 �� ��� �����

 �
� ����� �
 ������
���� �	�

��$��	��	� �2� �	 � 
� ������
�#  �
� ��$�����
��	  ��� ����
� 
��	� �� ��
��������
�$�����	 �� �,�	
�
� �
	
����

	 	��� �	 >�+�8�8�# ���3� �� E+�32�8� �2�  ���#
��� 
�� 0�	
 
��� �
 
��	 0���# $������ �$�
 ����		 ��� 
����
�� ��	����
��
 $��$�	�
��	 �
� ��
���
� ����� ����

	 �� $����� ��
�# ����		���� �	�
� E��
��� "�	����
���

���	� �2� ���	 
� $������ �����	�� ��� # ���� � 	��
���
 �
� � 
��
���
 	�
�#
 �
� �
$������

�� 	�
	�
���
�# 	$��
��� ��������# �
����� �
� 
���
� ��	���
��
#
�����
��  �
� � ���� ������ �� /�,�����
� �� �$���
��
� �2�  ��� �� ����
 � ���
��
�� �) ���� 	�
	�
��� 
��
 �
� �,�	
�
� �
	
����

� 3
  ��� 
�������� ��� 
�� 0�	


��� ���� ��
��
��
 �
� �
���$
� 	
��� �� ����� 	��$��	 �� �
� 
 	����� 
�$�	#
 ��� �,$���� �  ��� ��
�� �� ���		�	 �� $�		���� ����� ���

��	 ����
� 
�� 	�
	�
���
�
�� �����

 �
	
����

	# �
�  ��� �� 	�
	�
��� 
� 
� $��
���
�� 3
 �
	 ���� �
����
��
��# ���� ����
 �))��E 
� 	������ 2�E# �2�  ��� ���� ���������� 	�
	�
���
�# �
���
�� �� �))) ���� 
�� 	
��
�
� �� 
�� 	
��
��	
 	
���� 	�����	 �� E>+ �����	#
�
� � ���
�� �� � �)))) ���� 
�� �����	
 /�,�	 ���	���� �
 ���	
	� 2��	 ��
����

�-.



��
��  ��� 
�
 �
�� ���� 	
��� ��  ����� 	�����	 �
� �� 
� 	����� 
�$�	# �
  ���
��	� ������ 
�� 	����
��
 ���	 �
 
�� 
�,�
��� �� �
� 
 
�$�	 �� 	�����	�

?����� .��! ��
��$
��� �����
 �� 
�� �����
��� 
���	��$� ������

%�" /�6 �
	���
	 
� :47 ����� ��	����
��
	

2�E �����	 ���� ���� ��

�� ��
��
	�
� ����
� 
�� �����
�� ��

�� �	 �
 �,��
�
�

� $��	$��
 ��� 2�E ����� �	
��
���� >� ���� �
 �	 
�
 ��	� 
� ��
��
 �,���	�����
� ��
���	��
 
��
 E>+ �����	 ���� �����
�� ��

�� ��� ��� 
� 
�� ���� ��

��
�����
 �
� 
�
 ���� ��
��

��
�� ���		��
 �����
�	�� � $�����		 
� 	��� �,
�


�	 �,$��
�� ���� 
� �� 	
��
�
� $��A��
	 �� ��$$�
� 
�� �����
 �� ���		��
  �
�
���� �
����� ��	���
��
 �
� ��  �
���
� 
�� 
��� ���������
�# ��
 �
 �	 ��$��
�



� ��$���� 
�� 3��2I	 
� ����# �
 $��
������ ��

�� �
���� ��	���
��
�

8�
�� 
�� �����
�� ��

�� �	 ������ 
� ���� � ����� ����������� ����� ��������
�# ��

�� 	�
	�
���
� �� ��
��� �
	
����

	 ��
 �� ��$����� 
� � ����� ��� �)�������	�����


��
 � 
����� �� ��'���

 	�����	 ��
��
� ���� ���� 
����� �����
�� 	��	
���
���
9���������	: 
� 
�� ���	�	
 �����
�� ���	
��	 ��
 �� ��
��
��� ���	� 
� 
�� +��
� �
�
	���# 
���� �	 
�� $�		�����
� 
��
 
�� �����
�� ���� ��	 � 	��
�0��

 	��	
���
��� 
��


�-6



����
 �� ��	�������� "�
	��� �� ��� ����,�# 
����� �� 	������ �����

�		 ����,�
��	 �
� � ��� 	$��������	 	��� �	 ;�	� ��
��# &���� �
� J�����
� ��� $�		����
��	�������	�

2�� �,
�������
�� ��������
� ����
 9+51: ��
	�	
	 �� $��
�
	 ���

�� �� ����,�
��	 ���� 
�� ��	
��� �� 
�� �
����	�� 3

����
��
	 ��
 ��
 +51 $��
�
	 �
� �����	
��
 ��	���� ����� 	�����	# �
� $������ � ��
� ��
 ��
 
�� ��	
��� �� ����,� ������

��
 �
� E>+ ��	����
��
	� &����
 ���	�����

 �� 
�� +51 �	 ��Æ���
# �����	� 
��
+51 �	 $������� ����		 ��	��������� 
��� ���� ��� 
�$�	 �� ����,��	# 	�$��	
���
��
������
� �	 ��*����� 
� �
���	
�
� 
�� ������$ �� 
��	 $��
�
 $�$���
��
� ������
�
� 
�� 	�����	 �� 
�� +51 ��	 ���
 ��
� ��	
�������� �	�
� � �����
� �� 
���
�*��	#
�
�����
� �����
��
 �� ����,� $��$��
��	 
��
 ��� ��
��� �
������ ���� 	��� ��
��
�
  �����
�
� �� �����
�� ��	����� �
 ����,� 	�����	� 4��
�
�$��
�
 �

����
��
	
 �
� 	�Æ���

 �
���� ��
 ����
� ����
��
�$�	�
��
 $���	� ?�� ���
����E �
� 2�E
�����	# �

����
��
	  �
� ;E �
� 3� ��������
� $��
�
	 ��
 ����
� �
 �$
�������

���� ������� 
� $�		��� ���� ��	��������� ��	
�
��	� 2��	 �'��
 ��	 ���
 �	�� ��
��
� ��
���	 �
 ����

 ����	 
� ��
	
���
 
�� +51 �
� ��	����� �� �,����� 	$���0�
�����	�

3
 ����
��
 
� 
�� �����# ��
��� ��
���
��
 ����� 
���	��$�	  ��� ���
�� �� �����


� ��

�� �����		 
�� $��
���� ��������
��
	# 
� �����		 
�� �����
 �� ��	��� ������

��
# 
� ��
��
 
�� �

�����
��
 �
� $�����
��
 �� ���� ��

��# 
� �
���	
�
� 
��
����� ���	
	 �
� 0
���� 
� �
���� 
�� ��	������ �� 
� 
�$�	 �� 	�����	 �
	��
 �

�
���  �����
�
�	� >���
� 	��� 	�# 
�� ��
��� �� E>+ ����� �	
��
��� 
�������� �	
�,
������ $����	�
� �	 
�� ����	 
� �� �����		�� ��� ����
��		�

%�% ��!���
��	

F.��G 2��� J����	 �
 ���# �$�R ��� 9�(6(: �.(�

F.��G �� &��� �
 ���# �	
��$��
� 4��	� 6 9�((.: ��

F.��G ���� >����	# �	
��$��
� 4��	 �� 9�)��: �(�

F.��G R� >�����# �	
��$��
� 4��	� �( 9�)��: -��

F.�%G ?� �����
��
 �
 ���# ��$� 4���� 4��	� .� 9�))6: )(-()��

F.�-G 4��� ���� ��� �
 ���# R�4��	� � ! 7���� 4��
� 4��	� �% 9�))6: )���)� �

F.�.G ?�J� 8
����� �
� "���&� R����# �$�R �.- 9�((.: .���

F.�6G +� & �� �
� ?� <��

����# �$�R -�6 9�))%: -%.�

�-(



F.�(G ?������
��
 �
 ���# 7�
��� ��) 9�(6(: �)�6�

F.��)G ?�<��

���� �
 ���# �$�R# %-) 9�))�: 1�%�

F.���G ?������
��
 �
 ���# �S��# ��. 9�))%: (%�

F.���G 8� "�� �
 ���# �	
��$��
� 4��	� �� 9�))(: �6��

F.���G ��<� ����
� �
 ���# ��
�0���� 7����� 7�
 ���	 �
 8
����� �	
��
��� 9�))�:�

F.���G <� 1�$$�� �
 ���# 1���
� ���	��� �
� 7����� 7�
 ��� �
���	�	# ����� �

�
1�
�� �
� 4��
�
� 8��� ��
��# ��	� ��))G 9�))�:�

F.��%G ?� 5���� �
 ���# ��. 8���� 4��	��	# 9�))�: �)-�

F.��-G 3� 8� E�	����	��� �
 ���# �	
��
������	��� E�	

��# ��- 9�))): ���

F.��.G "� ?��

�	# +,$�����

�� �	
��
���# �� 9�))�: ���

F.��6G �� 2���������� �
 ���# >���������! 8$��
����E�����# �6- 9�))�:�

F.��(G �� 5���	
���� �
 ���# ��B��!)�)6�.��� 9�))�:�

F.��)G ����� 2�
�� �
 ���# ��B��!)�)(��)�� 9�))�:�

F.���G �� ���
����� �
 ���# ��B��!))�)�(��� 9�))):�

F.���G 5��� 8������� �
 ���# ��B��!)�)���6�� 9�))�:�

F.���G ?� 5���
� �
 ���# 8$��
����E�����# �.� 9�(((:�

F.���G &� 8���
��# 4���� �� 
�� ���
�
� �� 
�� �������
 4��	���� 8����
� 9�))�:�

F.��%G �� <��� �
 ���# 4���� ���� 3���# 5��A�
�# ���
�� 9�)��: "� ��%�6)��

F.��-G 2�� �2� ��
	��
���# +,$ �	
��
� �� 9�)��: �(��

F.��.G 5�8� ������� �
 ���# �	
��$��
� 4��	 �� 9�)��: ��

�.)



�		��
�0 �

������
�� 	
�
������
����������

���������	 ��� $������� �
 
�
�
������ $����		�	 ���� �

����
��
	 �� �����
��

 �
� ��

�� 0���	� 8�$��
��� ���
�

	# 
�� �����
	  ���� ������� $��
����	 ���
�� ��������
�� 
� 2�E �
�����	 �
 
�� 	���� ���

	# ��
 $������ 	��� �����	� ��	�

�� ����
�
� �� � 
��
��
 	
��  ���� �	 ������ ���
�
�=��# �� A�
	 �� �
 ��7 ���
$�		���� $�����
��
 	�
�	 �� 
��	� ������
���� �����	� 3
 
�� ����� �
� 	��
��
	# 
��
$�		���� $�����
��
 �����
�	�	 �� ���� �
���� �� ���	 ��� ����/� 	������=���

� ������� ����
	��� 
� ������ ���	��
	 �� ������
	 #����
2�� ������ �� � $��
���� �
 ��	
 $������	 � ������� 0���� J��
 
�� $���

���� ����	# �
	 �����	$�
��
� ����
�����
�
�� 0��� ��	� �����	� �������
�

� ��, ���	 �*��
��
	# ��� ��������
�� ������� $��
����	 ���
 ����
�����
�
��
�����
��
� $��
�
	 ��� ���

�� �� ��������
�� ������� $��
����	#  ���� ���
��

�� �	 ��
	����� �
 
��  ���� $����		�

� �
	������ ���	���
J��
 � 
�
�����
���	
�� ������� $��
���� �

��	 �

� � ���
�
�� 0���# �
 ����
�	
9��
�
�	: 
�
�����
���	
������ ����
� ���
�
�� 0��� ��
�	  �
� �
 �
��� & 9$�
��
�
���: ��
 ��
 
�� $��
����I	 
��A��
��� �
� 
�� �����
��
 �� ���
�
�� 0��� �
�
 �
� � 	$���0� 1����� ���*��
�� ����
 ��!

G� L �+,	� 9���:

 ���� � �
� 	 ��� 
�� ������ �
� 
�� ��		 �� 
�� $��
����# ��	$��
������ + �	

�� ���
�
�� 0��� 	
��
�
� �
� � �	 
�� 	$��� �� ����
� 2�� ����
��
 �����	
�	 ���

��
�� �� 
�� ����
�� ��
 ��
 
�� 1���

= ����� �� 
�� ���
�
�� 0���
�
� 
�� ��

������� ��$��	��
 �� 
�� ����
�
� $��
����� � ��
�
�
� �������
$��
���� ���
	 ����
�����
�
��  ���	� 2��	 
�$� �� �����
��
 �	 ������ �����
��

�����
��
� 3
 �	 ��	� ��	����� 
��
  ���� 
�� ������� $��
���� �	 ����
� �


�.�




�� ���
�
�� 0���# ���������� �� ��
����� $�����=�� ����
�����
�
��  ���	 ���
���

�� ��$�
��
� �
 
�� �����
��
 �� 
�� ��	����� 
� 
�� ���
�
�� 0����

� 6
�	������� ���
��
��
�����
��
 �����
��
 �	 ��$����� �� 
�� 	�
����
��
 �����
��
#  ��
 
�� �������
$��
���� ����	  �
� � 	$��� ���	� 
� 
�� 	$��� �� ����
� 2�� ��
��
 �� 
��
$��
���� �	 �������� �
 
��A��
��� �
� �
����� ����
� 
�� ���
�
�� 0��� ��
�	#
��
 �� 
�� ������
� ���
� 
�� 0��� ��
�	 �	 
�
�=���# 
�� $�
� ������	 ������� �	
	�� 
 �
 ?�� ���� 2��������# 
�� �����
��
 ���

�� �� 
�� ������� $��
����	
�	 ������ �

� � ��
� �� �
��� �L 	��C+� �
 ��	����� ����
�� �
 
�� ����
��
$��
� �� 
�� ����
��
  ��� �
�� 	�� �����
��
  ��
 
�� ��
� �	 $��

�� �
 
��

�����
��
� 3
	
��� �� � 	�
��� ���*��
��# 
�� �����
��
 
� �	 ���

�� �	 �
��

�
��� 	$��
��� ����
 
�� ��#  ���� �	 
�� ���
���� ���*��
�� �
  ����

�� ��,���� $� �� �	 ���

��� �� ��
 ��  ��

�
 �	

G� L
�

�

�
�+

	�

�
W����1 9���:

 ���� 1 �	 
�� $�
�� �
��� ��
 ��
 
�� �����
��
 �� 
�� ���
�
�� 0��� �
� 
��

�� 
�� ����
��
 �
� WL +C� �	 
�� 1���

= ���
�� �� 
�� $��
����  �
� ��		 	
�
� �
���� ��

2�� ��		 �� �
���� �	 ����
 ��

���
�!

L
�

�

��

��
L
�
��	,�	��	

�
W�+���� �	��$ 9���:

 ���� + �	 ���	���� �
 ���		 �
� � �
 ����

2�� $� �� ���

�� �� �
 ��������
�� $��
���� ��	 � ������
���	
�� 
 ������
��	
����
��
 ����
� 
�� �����
��
 �� 
�� ��������
��
� 3
 �	
��$��	���� 	�����	

�� ����
��
 �
�����	 ��� �����
� � $� �����  �
� �
��, " 	� 
��
 79+: �
+��# 
��
 
�� 	�
����
��
 	$��
��� ��	� ����� 	 � $� ����� �� 49G: � G0 #
 ���� 
�� 	$��
��� �
��, �	 - L 9�� ":,��

� ���,����� ���
��
��
3
 � 	
��
� ���
�
�� 0��� 9� �)�� �: �
 ����
��
 ��� �� ��
	
���
�� 
� ����
�� 
�� $�
� �� � ���
�
�� 0��� ��
� ���� ���	���#  �
� $�
�� �
��� 
����� =����
2�� ���
�
�� 0��� ��
�	 ��� ��
������ ������ �
� 
�� ����
��
	 ��� ��������
��

��
	���	��� �
� ����
 
� �����
�� 2��	 �����
��
 �	 ������ �����
��� ������

��
� 2�� ���*��
�� 	$��
��� �� �����
��� �����
��
 �	 ���� 
�� 	$��
��� ��
	�
����
��
 �����
��
! 
�� 	$��
��� ��$�
�	 �
 
�� ���
�
�� 0��� 	
��
�
�#

�� �
���� �� 
�� ����
��
# �
� 
�� �����
��� �� 
�� ���
�
�� 0��� ��
�	� 2��
����
��
 ��
 ��
 
�� $��
���� �
���� 	$��
��� �
��, 9": �
� 
�� �����
��
 	$���

��� �
��, 9-: �	 ����
 �	 " L � � �- ��� 
�� �����
��� �����
��
 �
	
��� ��
" L �� �- ��� 
�� 	�
����
��
 �����
��
� 2��	 
�$� �� $�����
��
 $����		 ���

�� E>+ � ���	 �	 �,$��
�� 
� 
��� $���� �
 $��	��	 �
� 	�$��
��� ���
�

	�

�.�



� 3�������������
��������
��
C�����������
��
 �� ������� $��
����	 �
 ����
��� 0���	 �	 �
�
���
$�����
��
 �����
�	� �� �����	� J��
 �
 ����
��
 $�		�	 �� � $�	�
�����
������� 
�����	# 
�� 
��A��
��� �� 
�� ����
��
 �	 ��
���� �����
� 
� ���		��

�� ����
�����
�
�� �����
��
� 2��	 $����		 �	 �
� 
 �	 ����		
�����
�� 3� 
��
$���

 ����
��
	 ���� �
 �
���� #9��: � ���# 
��
 
�� 
�$���� 	$��
��� ���
����		
�����
� �	 ����
 �	 #9��: � ��0

�  ���� " L -� 2�� ���*��
�� ��
��
�� 
��	 �����
��
 ��$�
�	 �
 �� ���� 
�� ����
��
 
��A��
����	 ��� ��

 ��

�� �

����
��
  �
� 
�� $�	�
��� ��
	 �� 
�����	� 2��	 ��$�
�	 �
 
�� ����
���
������
��	 �� 
�� 
 � �����	#  ���� �
 
��
 ��$�
�	 �
 
�� 
��$���
��� ��

�� ��	� �
 �,��$�� �� ������
���� 
������ ����		
�����
� �	 
�� B����
���		��
 ���� ���

 ����$
���� ����,��	 �
� ��
 �

������	
�� ��	� 2�� �����
�
���� 
������ ����		
�����
� ���	 $��� � ���� ��$��
�

 ���� �
 	
����	 ��
��'�	� �����
�� ���		��
 ��� �
�����	 ��		 
��
 �))��E# ��
 �
 �	 
�
 � $������
2�E ����� $�����
��
 �����
�	� �
 	�$��
��� ���
�

	 �
� $��	��	�

� ��,���� ������� 6	�����
��
3� $��
�
	 �� �� �� �
���� �������  �
� �
����
�� ����
��
	# 
��� ���
 �
����
�
 
�� �����	��
	� 2��	 $����		 �	 �
� 
 �	 
�� �
���	� ���$
�
 93�: $����		#
����	
��
�� �
 ?�� ���� 2�� ���		 	��
��
 �� 3��	��

���
� �	 �$$��,���
��� ���
	������ �� 2���	�
 	��

���
�# �
��  ��
 
�� $��
�
I	 �
���� �
 
�� ����
��

��	
 ����� �	 ��		 
��
 
�� ����
��
 ��		 9�� )) 	��

�:� 3
 �	 ����
 �	 ����� 	

>� L
6'

�
��

� 9���:

 ���� �� L �$6 � �)��� �� �	 
�� ���		���� ����
��
 �����	� >� ����# ����
�
��E �
�����	#  ���� �� � 	��

�# 
�� ���		 	��
��
 �� 
�� �

����
��
 �	 ���
	������ �� 
�� <���
�7�	��
� �������#  ���� �	 �	 ����� 	!

>1� L ��
�'	��

�

��

�

�

�
���

	���
O
�

�

�	
9��%:

3
���	� ���$
�
 	��

���
� �	 ��
	������ ���� ����
���	
�� ����
��
	#  ����
���� � $� ����� ��	
����
��
 �� 
�� ���� #9��: � ���#  �
� � 	��
 $��
�

��
	�
� �� 3��� 2�� ��	��
�
� �� ���	  ��� ���� ������
���	
�� 92���$	�
:
�
�����	 �� W��G �� 9<���
�7�	��
�: �
�����	 �� W�G#  ���� �G �	 
�� �
����
�� 
�� 	��
 $��
�
 �
� W �	 
�� 1���

= ���
��� 2�� 	$��
��� �� 
�� ��	��
�
�
�����	 �	 ����
 �	 #�9�: � �

�����
��
� � 2��	 $����		 �	 ��$��
�

 �
 �����
	

 �
� ���� $��
�
 ��
	�
��	� ?�� �,��$��# �
 ���$��
 ��A��
	 ���� 
��
��

	
��	#  ���� ��
���
� ����	 �� ������� $��
����	 �
 
���� ����
�
��

� ���
�
���
�� 
� 5
���

�.�



2�� ���		 	��
��
 ��� ���� �

�����
��
 �
 �,
���� ����
���	
�� �
�����	 �	 ����

��

>' L
'���
�
F
� 9��:� �G 9��-:

 ���� �9L ��,	��
�: �	 
�� 1���

= ���
�� �� 
�� $�	�
��
	 �
� �� �	 
��

���		���� �����	 �� 
�� ����
��
� 2 � $��
�
 $�����
��
 �	 
�� ����
�


��	��
 �� �

�����
��
 �����
� 
� � ��

�
��� �� $��
�
 �
�����	� �
 ����
$�	�
��
 �
�����	# 
�� $��
�
 ���

�� �
 
�� �,
���� ��� ��� �����
��
 ��	
����	
 ��� 
�� �
���� �� 
�� $�	�
��
  ���� 
�� �
��� $��
�
 ��	 �
 �
���� ��
	��

�,� L )$�%-��� � 2�� ���		 	��
��
 ����
 �� 
�� ����� �*��
��
 �	 *��
�
�� 9>' L -� �)����	� ��� � �)) ��E $�	�
��
:�

 

γe-

p

 

γ
e+

e- γ

Matter-antimatter
  annihilation

 

γ

Energetic Particle
    Collisions   Hot plasma

 

Bremsstrahlung
 

e-
hν

γ

e-

Inverse Compton Synchrotron 

e-
e-

 

 

γ
γ

π+

π-

γ

B

 

p π0

?����� ��� ! 4��
����� ��$��	�

�
��
 �� 
�� ������	 ����� $�����
��
 �����
�	�	�

�  �
� ���
�
���
��
�

�����
��
 ��
 ��
 $��
����	 �
� �

�$��
����	 ��� ��	� $������ �� ���	�
2�� �

�����
��
 $����		 �� �
 ����
��
 �
� $�	�
��
 �	 ��	� 	�� 
 �
 ?�� ����
2�� ���	 ���� $��� �

�����
��
 ��� $������� �
 
�� ����
�
� �� �������
���
����� �����
	# �� �
����
�� �
����
��

	 ��$���� �� $�	�
��
 $�����
��
 ��
�
��� $����		�	� +,��$��	 �� 
�� $��� �

�����
��
 ��
 �� 	��
 �
 
��
��
 	
��	

�.�



�� ����� ����	#  ���� ���� ���� �
���� ��
	�
��	 �
� 	
��
� �����
�
��
�� �
�
���
�
�� 0���	� 3
 � 	������ ��

��# �����
�� �

��$��
����	 ��	� �

�����
�
 �
� 
���� �����	$�
��
� $��
����	� 2��	 ��� ���	� 
�� 	$��
��� ���
���	 �

�����	$�
��
��� ������ �
�����	 �
 
�� ����� 	$��
����

�  
��  ����	�
�� ��� ��	�

4��
 �	 �
 �����

��� $��
����#  ���� �	 ����
�� �
 	
��
� �

����
��
 $���
��		�	# 	��� �	 � �����	��
 �� �
 ��������
�� ��	������� $��
�
  �
� � 
�����	
�
 
�� �����

 ��	 ��  �
� �
�
��� $��
�
 �� ������
���� $��
�
� 3
 	���
�
 �

����
��
 ������� 9'�: �� 
��
��� 9'�: 	���
���� $��
	 ��� ����
��� 2��

��
��� $��
	 
��
 ��$���� ����� �

� 
 � ���	# ���� ��  ���� ��	 �
 �
���� ��
� .) ��E �
 
�� ��	
 ����� �� '�� 2�� ������� $��
	 ����� �

� ���
	 �
�

��
��
�	� 3� 
�� ��	������� ��	 � $� ����� 	$��
���  �
� � 	$��
��� �
��, ��
"# 
��
 ��� ������ �
�����	 
�� ����� 	$��
��� ��	
����
��
 �	 � $� �����  �
�
	$��
��� �
��, - L 9�C�:9" � �C�:� J��
 
�� �
���� ������	�	# 
�� 	$��
���

��
	 ����  �
� � $��� �
 .) ��E� 2��	 $��� �	 
�� ������
���	
�� ���
��� ��

�� $�$ �

����
��
 �
� � 	��
�
��� �� �����
	 �	 $������ ��	��� $��
����	�

�.%



�		��
�0 1

����
������ �! ��
���

2����� � ����� 
����� �� �

����
��
 �����
�	�	 ��� �
� 
 ��� �����	# �
�� 
����
��A�� 
�$�	 $��� �
 ��$��
�

 ���� �
 �����
��
 ���	�����

	 
����� 
�� $��
��
����
��� ��	��$
��
# ���$
�
 	��

���
� �
� $��� $�����
��
�

�  �������	��
	 �.�����
��
3
 
��	 $����		# � $��
�
 �
������	 �

����
��
  �
� �
 ��	����� �
�� �

 ���� 
�� $��
�
 ���$��
��� ��	�$$���	� 3
 �
	 $���� �
 �
����
�� $��
������

��
 �	 �A��
�� �� 
�� �
�� ���� �
� �� �
	 ���
� 	����	� 2�� �

����
��

�	  �
� 
�� �
�� �	 �  ���� �
� ��

�
 
��� $����  �
� ���� ����
��
	� ?��
�����	 �� 	�Æ���

 �
����# 
�� ��	
 $������� �����
 �� $��
�����
��
 �	 
��
��	
 
���
�� ���
� �� H 	���� �� 
�� �
��� 2�� $��
�����
��
 �$$���	  �
�
�
 �
���� ����
 ��

�� L �G � �2 9��.:

 ���� �2 ��$��	�

	 
�� ��
��
� �
���� �� 
�� $��
�����
��
 �
 �
	 �����
��
	����� ?�� ����� �
�����	 �� ���� 
��
 � ��
���� ��E# 
�� $��
�����
��

������	 �' 
�� ��A���
� �� 
�� �����
�� $��
�
 �
����� 3
 ����
��
 
� 
��
$��
�����
��
# 
�� �

����
��
 ��	� ����
�	 �
 ��
�=�� ��	����� �
��  �
� �
����
�� �
 �
� �� �
	 ���
� 	����	� 2��	 ����
�� �	 *������ 0���� 
������
��$
��� �� � ���� ����
��
 ���� 
�� ������ �
� C�� ������
����

 �� ����
��
	
���� �
��� 	����	 �� 
�� �
��� 2��������# �
� �� ���� ������
���	
�� B����
$��
�
	 ��� ��	� �� ��
���
��� ��
����� �
 ��	
 ��	�	 
��	� B����	 ���
����	����� ���	� 
� 
�� �����
�� 	�
� 
������ $��
�����
��� ��	��$
��
 �
�����
�
��		 
���
�� ���
� 	����	# 
���� �����
��
 �
� $�		���� �	��$� ���� ��
��
��	
��
 �
/��
�� 
���� ��	$�
	��

� ������� �	�����
��
2�� �

����
��
 $����		 �� ���$
�
 	��

���
� 
���	 $���� ��
 ��
 
�� �
����


����� $��
�
 �
� �
 ����
��
 �
 
�� ��	����
� ��
������ 3
 �	 ��	
 ��
�
 
��
$������
�

 �

����
��
 �����
�	� ��� ����� �
�����	 
�$���� �� ������	�
�$�
	�����	�

�.-



3
 
��	 
�$� �� 	��

����
�# 
�� �
����
� ����� $��
�
 �	 ��/��
�� 
������ �

�
��� &  �
� ��	$��
 
� 
�� �����
�� �����
��
� 2�� $��
�
 
��
	���	 � $��
��

�� �
	 �
���� 
� 
�� ����
��
 9�		���� 
� �� �
�
����� �
 ��	
:#  ���� �	 
��

�
� 
 �	 ������ ����
��
� 5����	� ��� �
���	 �� 	��

���
� ��� $�		����# 
��
�
���� 
��
	������ 
� 
�� ����
��
 ��
 ���� ���� =��� 
� � ����� ����
��
 �� 
��
����� �
����� 2�� $��
�
 ��
	 	��

����  �
� 
�� �
���� ����
 �	

�G
�

L
�G

� O �*
�
��

9�� ���&: 9��6:

 ���� 	��
� �	 
�� ��	
 ��		 �
���� �� 
�� ����
��
� ?�� 	���� 	��

���
� �
���

&# ���� ��

�� �
���� �	 
��
	������� 8��� �� 
�� �
���� �	 �� ��	 ��
��
�� ��
�
����

 $��
�
# ���
 �
 
�� �,
���� ��	� �� & L '� 2�� $��������
� �� 
��
���$
�
 	��

���
� $�� �
�� �� ��	����� ��$�
�	 �
 
�� 
����� �� ����
��
	
��������� �	 	��

���
� 
����
	 �
� 
��	 �
����	�	 ��
�����  �
� <

�  �
� �����	�
��
3� 
�� ����� �
���� �,����	 
�� ��	
 ��		 �
���� �� 
�� ����
��
# 
�� $����		
�� $��� $�����
��
 �	 �
����
������ $�		����� 2�� $��������
� �� 
��	 �

�����

��
 �����
	 ���� �� �

�� 
�� ����� �
���� �$$������	 	������ ��E �
�

�������� $��� $�����
��
 �	 $������
�

�� ��
0
�� 
� ���� �
���� �����	� 3

	��� �
 �

����
��
#  ���� 
���	 $���� �
 
�� ������� 0��� �� � 
�����	# 
��
����� $��
�
 ��	�$$���	 �
� �	 ��$����� �� �
 ����
��
�$�	�
��
 $���� ��� 
��
�,��		 �
���� ������� �� 
�� $��
�
 ����� ��)� ��E ��*����� 
� ����
� 
��
$��� ���	 �

� ��
�
�� �
���� 	����� �� 
�� $�	�
��
 �
� 
�� ����
��
� 5����	�

�� $�	�
��
  ��� 	��	�*��

�� �

�����
� ��
�� 	�� �
� �� 
 �
 
�� ��	����
�
������# 
 � �

�����
��
 $��
�
	 ��� 
������� $������� �	 	���
���� $����
��
	 �� 
�� �

����
��
� 2����� 
� 	��$�� ���� �,�	
	 ��� 
�� $��������
� ��
$��� $�����
��
 $�� 
�����	# �
	 ���
�
��� �� ���� �����	 �$$��,���
��� �	

�� 	*���� �� 
�� ��	����� �
���� 
������

2�� ����
��� ��$��
�
�� �� 
�� 
���� $����		�	 ��� ��'���

 ��	����� ��
��
����	 �
� ����� �
�����	 �	 ����	
��
�� �
 
�� ?�� 5��� 2�� ����� �
 
�� ���

��$��	�

	 
�� �
����# �
  ���� $��
�����
��� ��	��$
��
 �
� ���$
�
 	��
�

���
� ��� �*����� $������� �	 � ��
�
��
 �� 
�� ��	����� �
���� 
������ 2��
����� �
 
�� ����
 ��$��	�

	 
�� �
���� �
  ���� ���$
�
 	��

���
� �
�
$��� $�����
��
 ��� �*����� $�������� 2���� ����	 ��� 
��	 ��0
�� �
 
��
$��
  �
��
  ���� 
�� $��
�����
��� ��	�$�$
��
# ���$
�
 	��

���
� �
� 
��
$��� $�����
��
 �����
�	�	 ����
�
��

� � � � 
�����	�
��
2��	 $����		 �	 �� �,
���� ��$��
�
�� �
� ��*����	 ���� �
�	��� �����
�
��

�� ���� �
���� $��
�
	 �
� � ���� ��
	�
� �� �� �
���� $��
�
	� �����	 ���

�..



Photon Energy ( MeV)
0.01 0.1 1 10 100

Z
 o

f 
ab

so
rb

er

0

10

20

30

40

50

60

70

80

90

100

110

Compton Effect
   dominant

 Pair Production 
   dominant

Photoelectric effect 
   dominant

Adapted from : R.D.Evans, The Atomic nucleus, McGraw-Hill, New York.,1955
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